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ELEMENTARY ARITHMETIC.

CHAPTER I
ADDITION AND SUBTRACTION.

ADDITION.
1. Oral Problems. )

1. A girl pays four cents for a slate and one cent for a pencil.
How much do both cost ?

2. There are three pears on one plate and two on another.
How many are there on both plates?

3. John had two marbles. How many had he after buying
four more ?

4. Mary is four years old, and Harry is two years older.
How old is Harry ?

5. A boy lost three tops and had three tops left. How many
had he at first ?

6. How many cents will it take to buy a five-cent ball and a
two-cent kite ?

7. Ned has four large fire-crackers and four small ones. How
many fire-crackers has he ?

8. How many wheels has a bicycle? How many has a
tricycle? How many have both together ?
1



2 ARITHMETIC.

9. I paid six cents for Roman candles and three cents for
torpedoes. How many cents did I spend ?

.10. William rode four miles to his uncle’s and four miles
home again. How many miles did he ride?

NOTATION AND NUMERATION.

2. The first nine numbers are written as follows:

One. Two.  Three. Four.  Five. Six. Seven.  Eight. Nine.

i 2 3 4 b5 6 7 8 9
Zero, or nothing, is written O. ~

3. Sight Exercises.
Add:

2 3 5 4 38 4 2 3 2 1 0
4 2 1 5 3 2 5 6 3 38 9
5 7 1 0 6 4 0 2 3 4 6
0 2 5 4 3 4 7 6 5 0 2
0 8 4 9 1 7 2 38 8 1 4
01T 3 0 6 1 0 4 o0 1 1
3 7 6 0 5 38 2 0 6 5 0
1 o 1 6 2 o0 1 8 0 3 1
5 1 0 1 2 1 0 1 2 1 0
4 2 5 8 2 T 38 0 T 4 2

Note.. Brief drills should be given regularly, upon the preceding com-
binations, as well as upon those that follow. It is important, however, not
to waste time by prolonging them too much.
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NOTATION AND NUMERATION.

4, Ten is written 10.

Ten and one are eleven, written 11. Ten and two are
twelve, written 12. Thirteen is written 13. Fourteen, 14. Fif-
teen, 15. Sixteen, 16. Seventeen, 17. Eighteen, 18. Nine-
teen, 19,

Twenty is written 20. Twenty-one, 21. Twenty-two, 22.

Thirty, 30. Forty, 40. Fifty, 50. Sixty, 60. Seventy, 70.
Eighty, 80. Ninety, 90.

5. Write in figures:

Twenty-three. Thirty-one. Forty-two. Fifty-four. Sixty-
five. Seventy-six. Eighty-seven. Ninety-eight.

Twenty-five.  Thirty-six. = Twenty-seven.  Forty-eight.
Twenty-nine. Fifty. Fifteen. Seventeen. Seventy. Ninety-
nine. Eighty-four.

6. Read the following numbers:

11, 34, 45, 13, 10, 95, 16, 46, 19,
25, 94, 78, 90, 44, 60, 55, 21, 56,
83, 17, 54, 36, 50, 40, 38, 63, 72,
49, 74, 62, 47, 32, 11, 28, 52, 93,
75, 64, 48, 68, 18, 69, 12, 23, 7.

The right-hand figure 18 called the units’ figure,

7. 8late Exercises.

If there are 12 boys in the first row and 11 boys in the second
row, how many are there in both rows?

Write the numbers, placing the units' figure of the second 12 5.
under the units’ figure of the first. Add the right-hand column, 17 3.
placing the total, 3, underneath. Then write the total of the —
other column. The answer is 23 boys. Use b. for boys. 23 %.
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13.
19.
25.
31.
37.

43.

9. Slate Problems.

8. Add:
. 22
30

. 13
42

29
40

63
30

71
26

35
50

35
54

26
71

49. How many are 21 cows and 13 cows?

14.
20.
26.
32.
38.

44.

10
45

. 26

30

15
62

36
63

33
33

69
10

18
60

27
61

Write ¢. for cows.

3.

15.

21.

27.

33.

39.

45.

ARITHMETIC.
31 4. 16
14 40

. 15 10. 27
41 12
63 16. 76
15 20
20 22. 46
75 40
44 - 28. 22
44 66
28 34. 45
71 43
43 40. 83
25 6
39 46. 45
60 4

11.

17.

23.

29.

35.

41.

47.

12.

18.

24.

30.

36.

42.

48.

50. 16 apples and 10 apples? 40 roses and 21 roses?
fire-crackers and 50 fire-crackers? 22 cents and 41 cents?

43
34

24
62

30
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51. Mary paid 50 cents for a doll and 15 cents for a rubber
ball. How much did both cost?
Write ¢ for cents.

52. There were 16 horses in the field. A man put in 3 more.
How many horses were then in the field ?

53. Jane is 10 years old; her mother is 20 years older. How
old is her mother?

54. A farmer sold 40 eggs on Monday. On Tuesday he sold
24 eggs. How many did he sell on both days?

55. There are 32 pages in John's book. In William’s book
there are 14 pages more than there are in John's. How many
pages are there in William's book ?

56. How much would you pay for a quart of ice-cream at 40
cents and a quart of strawberries at 15 cents?

57. If there are 50 boys in one class and 40 boys in another
class, how many are there in the two classes?

58. A girl has read 25 pagesin a primer and 40 pages in a
first reader. How many pages has she read in both books ?

59. There are 14 houses on one side of a street and 13 on the
other side. How many houses are there on both sides ?

10. Oral Problems.

1. A wheel-barrow has 1 wheel, a cart has 2 wheels, and a
wagon has 4 wheels. How many wheels are there on all three?

2. A boy has 5 cents in his bank, 3 cents in his desk, and
1 cent in his pocket. How much money has he?

3. How much would I have to pay for a 5-cent ball, a 2-cent
top, and a 1-cent kite?

4. Frank gave 8 cherries to Mary, 8 to Fred, and had 3 for
himself. How many had he at first?
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5. There are 3 pictures on one wall, 2 on another,1 on
another, and 2 on another. How many pictures are there on
the four walls?

6. A girl pays 4 cents for a slate, 3 cents for a blank book,
and 2 cents for a lead pencil. How much does she pay for all
of them ?

7. There are 3 books on the first shelf, 3 on the second shelf,
and 3 on the third shelf. How many are there on the three
shelves?

8. A boy reads 2 pages on Monday, 2 on Tuesday, 2 on
Wednesday, and 2 on Thursday. How many pages does he read
in four days?

9. There are 3 birds on one branch, 2 on another, 1 on
another, 2 on another. How many birds are on the four
branches?

10. William is 5 years old, James is 2 years older than
William, Sarah is 2 years older than James. How old is Sarah?

11. 8ight Exercises.

In adding these and subsequent examples, the pupils should use as few
words as possible. In the first example, six — eight is said ; three —six, in
the second ; five — nine, in the third; etec.

Add:
2 3 4 5 2 4 0 1 4 1
4 2 2 1 2 0 1 2 5 2
2 1 3 2 2 4 3 3 0 4
1 8 9 2 1 3 4 7 6
7 0 0 3 5 3 1 1 2
1 1 0 2 2 3 1 0 1

J DO CO b
| v oo b
o w o
| b0 O -
[ > ©
|o o w
| 1o tO on
low w
looco
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2 1 4 2 4 5 4 3 2

2 2 0 0 2 1 0 1 0

2 3 3 4 0 2 4 1 6

2 2z 1 2 8 1 0 3 1

1 8 0 2 1 3 4 2 1

7 0 9 3 5 8 1 2 1

1 0 0 2 2 3 1 2 1

o 1 o 1 9o 0 38 38 5
12. Slate Exercises.

Add:

1. 22 2. 43 3. 17 4. 6 5. 35 6. 11

12 5 20 21 21 55

5 0x» s 12 o=

7. 10 8. 35 9. 1 10. 95 11. 64 12. 27

14 4 3 2 5 10

L o0 s 1 % el

13. 35 14. 33 15. 1 16. 13 17. 52 18. 17

13 33 16 42 4 60

a 3 x  # 12 1

19. 15 20. 47 21. 22 22. 13 - 23. 15 24. 43

4 20 22 23 3 32

S I T S B

25. 50 26. 4 27. 41 28. 53 29. 25 30. 65

31 60 42 2 10 31

7 5 3 4 8 2

31. 12 32. 23 33. 16 34. 32 35. 4 36. 12

12 23 3 32 12 3

12 23 20 32 60 62

12 80 40 2 i 2
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37. 40 38. 64 39. 25 40. 50 41. 50 42. 72
4 2 10 25 30 4
5 3 2 10 5 2
20 10 1 2 38 1
43. 21 44. 30 45. 35 46. 1 47. 13 48. 47
21 30 13 16 40 20
21 30 41 50 34 10
21 5 10 2 1 2
49. 20 50. 22 51. 13 52. 41 53. 14 54. 21
20 22 4 12 2 32
20 22 20 13. 60 43
20 22 2 20 12 2
55. 14 56. 17 57. 44 58. 30 59. 1 60. 27
3 20 11 3 3 30
1 1 22 6 14 11

81 50 1 40 61 1

— — PE— —

13. Original Problems,

Make problems containing the following numbers :

DD ¥ B
Ir= b0
1o DO W
IO = n
D0 O DO

Thus: a duck has 2 feet, a cat has 4 feet, a hen has 2 feet. How many
feet have they ?

My father gave me 2 cents, my mother gave me 4 cents, uncle John
gave me 2 cents. How many cents had I then?

14. Slate Problems,

1. How much will I have to pay for a pound of 50-cent tea,
a pound of 25-cent coffee, & pound of raisins at 10 cents, and a
8-cent orange?
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2. There are 30 boys in the first class, 42 in the second class,
and 24 in the third class. How many are there in the three
classes?

8. 22 girls had the right answer, and 17 had wrong ones.
How many girls were in the class?

4. Martha has a 25-cent piece, a 10-cent piece, and a 2-cent
piece. How much money has she?

5. I bought a piece of muslin for 24 cents, some ribbon for
20 cents, and a spool of thread for 5 cents. How much did I
pay?

6. There are 24 cherries on one branch, 20 on another, and
40 on another. How many are there on the three branches?

7. A hunter shot at a flock of blackbirds. He killed 16, and
10 flew away. How many were there in the flock ?

8. There are 25 ducks in one pond, and 24 in another pond.
How many are there in both ?

9. Mrs. Jones bought a doll for Mary for 40 cents, and one
for Sarah for 40 cents. How much did she pay for the dolls?

10. A boy paid 20 cents for fire-crackers, 10 cents for torpe-
does, 5 cents for pin-wheels, 4 cents for sky-rockets. How much
money did he spend?

SUBTRACTION.
15. Oral Problems.

1. A boy spent 9 cents for a blank book and a slate. The
blank book cost 5 cents. How much did he pay for the slate?

2. Mary wishes to buy a 5-cent doll. She has 3 cents already.
How many more cents does she need ? A

3. Sarah is 6 years old. In how many years will she be 8?

4. Thomas took out 6 marbles. He brought back 8. How
many did he buy ? '

5. What number must we add to 4 to make T? -
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16. Oral Exeroises.

8 and what are 9?
6 and what are 8?
7 and what are 9?
5 and what are 6?
9 and what are 9°?
5 and what are 77
2 and what are 57
6 and what are 9?
0 and what are 2?
1 and what are 9?
5 and what are 5?

ARITHMETIC.

4 and what are 4?

5 and what are 9?
1 and what are 6°?
1 and what are 8?
0 and what are 6?
5 and what are 5?
3 and what are 4?
3 and what are 3?
4 and what are 97

3 and what are 5?
7 and what are 7?
2 and what are 4°?
1 and what are 4?
7 and what are 8?
3 and what are 3?
3 and what are 6?7
8 and what are 8?
4 and what are 7?
0 and what are 8?
4 and what are 67
2 and what are 67
4 and what are 8?
0 and what are 9?
3 and what are 7°?
4 and what are 5?
2 and what are 7?
2 and what are 97
1 and what are 5?
4 and what are 4?

17. Give the missing numbers:

2 6 0 1 0 5 1

o ? 12

8 6 7 7 2 8 1

? ? ? ? ? ? ?

s 8 1 ¢ 1 2 ¢

8 7 2 9 3 2 1
18. Oral Problems.

1. A girl has 6 cents.
has she left ?

She spends 2 cents. How many o
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2. There were 5 pears on a plate. Some children ate 3.
How many were on the plate then?

3. John had 8 marbles. How many had he after losing 4
marbles ? : :
4. Harry is 6 yearsold. Mary is 2 years younger. How old
is Mary ?
5. A boy had 6 tops. He has 3 now. How many did he
lose?

19. Sight Exercises.

Subtract :

9 5

8 Wae see that 8 and 1 are 9. 3 3 and 2 are 5.

1 The answer is 1. § The answer is 2.
8 7 9 4 6 4 9 8 7 3
6 *» ®* 2 5 1 9 1T 5 0
5 6 9 8 .1 7 9 8 5 6
2 3 6 8 0 ¢ 1 0 5 4
4 6 9 8 0 6 9 8 7 6
4 2 5 4+ 0 1 0 1 3 0
5 5 7 4 9 3 5 9 4 8
¢ 0 2 3 2 3 1 4 0 2
6 7 7 8 1 2 3 8 7 9
6 o 1 5 1 o0 2 3 6 3

20. Original Problems.
Make problems in subtraction containing the following num-
bers:
Thus: there were 9 birds on a tree. 3 flew away. How many were
left? A boy had 7 cents. He spent 4. How many cents had he then?
9 7 8 6 4
8 4 f 2 1

— -— -
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21. Slate Exercises.

A boy has 25 cents. He pays 15 cents for a ball. How much
will he have then?

25¢ Write the larger number above the smaller, the units’ figures in

15¢ @ line. Begin at the units’ column, and find the number which

I6¢ must be added to 5 to make 5. Say 5 and O (writing the 0) are 5.
1 and 1 (writing 1) are 2. The answer is 10 cents.

In adding aloud, the word and should not be used. In subtracting, it
indicates that the number said after and is to be written.

22. Subtract:
1. 64 2. 87 3. 55 4.-28 5. b7 6. 46
22 o 15 6 16 b

7. 79 8. 19 9. 35 10. 36 11. 94 12. 62
18 11 24 22 24 10

13. 70 14. 29 15. 18 16. 59 17. 66 18. 16
B0 18 5 s 3 6
19. 88 20. 75 21. 69 22. 87 23. 99 24. 54
4 32 16 21 98 10

26. 35 26. 63 27. 59 28. 38 29. 96 30. 81
4 34 15 22 30

31. 17 32. 93 33. 8 34. 62 35. 38 36. 69
2 1 41 31 3 23

37. 88 38. 48 39. 75 40. 37 41. 29 42. 25
43 24 50 3 5 10

43.64 44.87  45.28  46. 67 47.55  48. 46
82 46 S 36 2 1
49.79 50.98  51.49  52.66 53.98  54. 45
21 14 11 22 24 11

lo
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5b6. 62 56. 76 57. 29 58. 18 59. 59 60. 88
40 30 - 28 15 34 40

61. From 38 cows take 12 cows.
62. From 84 apples take 40 apples.
63. From 76 roses take 31 roses.
64. From 62 cents take 10 cents.
65. From 93 horses take 23 horses.

ADDITION AND SUBTRACTION.

23. Slate Problems,
66. A boy has 55 cents in his bank; his uncle gives him 10
cents more. How much money has he then? '

67. James goes to the store with 75 cents; he buys 60 cents’
worth of groceries. How much change does he bring home ?

68. There are 32 boys in a class and 20 girls. How many
more boys than girls are in the class?

69. There are 32 boys in a class and 20 girls. How many
pupils are there in the class?

70. I did 60 problems last week ; 40 were right. How many
were wrong ?

71. Sarah had 26 cherries; she ate 6. How many had she
left ?

72. There are 40 apples on one tree and 20 on another. How
many apples are there on both trees?

73. Thomas wishes to buy a ball for 50 cents; he has saved
30 cents already. How many more cents does he need ?

74. How much would a boy have to pay for a 25-cent ball
and a 10-cent bat ?

75. Ann buys a pound of 40-cent tea for her mother, and gets
10 cents change. How much money did she give Yoe groser?



14

24. Bight Exercises.

Add:
9 8
1 2
4 1
8 9
6 3
4 7

25. The sign of addition is +.

| 3 |

)

ARITHMETIC.

7 5 3
3 5 9
3 9 5
8 3 6
5 5 8
7 8 5

o w | e o

| o

| @ | ov=g

| v 00

2+ 3= >51is read, 2 plus 3 equals 5; or, 2 and 3 are 5.

26. Give answers:

746
748
6+5
9417
6+9
74+9

27. Oral Problems.

9+8
945
946
T+ 7
648
8417

9+4
849
549
446
846
749

6+5
848
949
840
0+9
348

1. Susan has 9 splints in one hand and 3 in the other.

many splints has she in both hands?

looo o

Il v @

How

2. A boy buys a ball for 10 cents, and a bat for 5 cents,

How much does he give for both ?

8. There are 7 girls sitting in the first row, and 6 girls in the
second row. How many are there in the two rows?

4. Samuel has 8 cents. How much will he have if his aunt

‘gives him 5 cents?

5. A man pays $10 for a coat, $3 for a vest, and $2 for a hat.
How much does he pay for all of them ?



answer is 35.

30. Slate Exercises.

1

13.

19.

25.

31.

317.

43.

ADDITION AND SUBTRACTION.

ADDITION.

28. Add 28 and 7. — Write the numbers as bafore; add 7 and 8;
the total is 15. Under the first column write the 5, adding the 1
to the 2 tens in the second column, making the total 3 tens.

29. The answer in addition 1s called the sum,

Find sums:

. 16
4

. 78
15

36
25

7
72

24
24
24

45
33
6

27
26
25

35
23
14

2.

14.

20.

26.

32.

38.

44.

28
17

. 84

16

5
23
64

8
27
4

7
5
14

16
8
20

9
17 |
82
64

15.

21.

27.

" 33.

39.

45.

. 39

46

. 28

68

58
15

14
28

16

25

60

15

42

13
46
15

4. 43
37

10. 13
77

16. 5

22. 25

28. 23

34. 54

40. 17

46.

11.

17.

. 65

29

23
57

23

. 35

23.

29.

35.

41.

417.

loB < IRSY [0d & lo&

33
47

20

The

12.

18.

24.

30.

36.

42.

48.

. 57

16

45
54

16
54

16
79

64
32

32
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49.
50.
51.
52.
53.

ARITHMETIC.
1543412+ 36 54. 11+9+4+334+20
20+30+6+29 56. 64+ 25410
844+6+6 66. 504204 10
24424424424 57. 36+52+1
18414412 58. 75424

31. The sign of subtraction is —.
5 — 3 =2 is read, 5 minus 3 equals 2; or, 5 less 3, equals 2.

- 32. Find answers:

59. 35 60. 64 61. 27 62. 36 63. 36 64. 49
—20 —14 —a1 —15 +15 +95
65. 49 66. 75 67. 60 68. 60 69. 75 70. 46
— 9 +20 —60 —40 —50 +53
71.36 72.88 73.64 7484 7. 15  76. 26
—25 +21 +32 —42 — 4 + 26
77. 26 78. 37 79.48  80. 48 81. 72 82. 63
-5 +18 —33 +33 +18 —30
33. 8ight Exercises,
Give missing numbers:
1. 24?2=9 5. 3+?=11 9. ?—2="1T
2. 8—4=" 6. 847=12 10. 8—?=5
3. ?—5=4 7. 9—6="2 1. 943=2
4. 7 —-T7=2 8. ?+56=12 12. ? —8=2
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34. Original Problems.
Make problems containing the following numbers:
1. 15 2.9 3. 12 4. 6 5. 15
+ 3 —4 + -3 + 1
. 8 7. 8 8.9 9. 9 10. 8
+ 5 —4 —4 +5 -5
35. Oral Problems,

1. William has 8 jackstones, and Mary has 5 jackstones.
How many jackstones have both?

2. A grocer has 8 barrels of flour. How many will he have
if he sells 4 barrels?

8. A boy has saved 9 cents. If he spends 4 cents for a blank
book, how much money will he have?

4. What will be the cost of a 9-cent copy book and a 5-cent
bottle of ink ?

5. A man buys a coat for $8. He pays $5 in bills, and the

remainder in silver. How much does he pay in silver?

36. The sign $ stands for “ dollars,” and is written before the
number.
37. Slate Problems.

1. What will be the cost of a horse and a wagon if  $75
the horse costs $ 75, and the wagon $20? +$20

N.B. — Write the proper sign in each case.

2. There are 24 hours in one day. How many hours 24 4.
are there in two days? +24 A,
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3. We have 60 minutes for reading and spelling. If 60 m.
we take 40 minutes for reading, how much time is left — 40 m.
for spelling ?

4. A woman pays 75 cents for tea and coffee. She  75¢
pays 50 cents for the tea. How much does the coffee — 50¢
cost. ?

5. What is the sum of 56 and 34°?

6. A farmer had 37 cows. After he had sold 27 of them,
how many did he have?

7. There are 45 trees in an orchard; 25 are apple trees, the
rest are peach trees. How many peach trees are there?

8. There are 25 apple trees in an orchard, and 20 peach
trees. How many trees are there in the orchard ?

9. William had 26 cherries; he gave 13 to Mabel, and the
remainder to Julia. How many did he give to Julia?

10. There are 50 yards in a piece of ribbon. How many yards
are left after 20 yards are used ?

NOTATION AND NUMERATION.

38. The numbers from 1 to 9 are written with one figure.

How many figures do we use in writing the numbers from 10
to 99°?

Ninety-nine and one make one hundred, written 100.

Two hundred is written 200; three hundred, 300.

39. Write in figures:

1. Four hundred. 4. Seven hundred.
2. Five hundred. 5. Eight hundred.
3. Six hundred. 6. Nine hundred.

40. Count from one hundred one to one hundred nine. One
hundred one is written 101. In writing Aundreds, we always
use three figures.



NOTATION AND

41. Write in figures:

1. One hundred two.
2. One hundred three.
3. One hundred four.
4. One hundred five.

42. Read the following:

1. 110 1120
2. 160 170
3. 300 400
4. 800 900
5. 201 302
6. 06 807
‘7. 343 454
8. 898 909
9. 456 - 567

43. Write in figures:

18.
14.

Al T I

. Two hundred three.
. Six hundred ninety-six.

. Three hundred one.

Eighty-four.

. Four hundred forty.

11. Seven hundred seventy-seven.

130
180
500
111
403
908
565
123
678

© » 2w

10.

NUMERATION.

. One hundred six.

5

6. One hundred seven.
7. One hundred eight.
8

. One hundred nine.

140
190
600
112
504
121
676
334
789

Seven hundred nineteen.

150
200
700
113
605
232
787
345
890

Five hundred sixteen.

One hundred thirty-four.

Six hundred nine.

Nineteen.

12. Eight hundred seventy-sixz.

Eight hundred five.

Five hundred ninety-hine.

15. Nine hundred.
16. Seventy-five.



20

17.
18.
19.
20.
21.
22.

Sixbeen.

Seven hundred.

Sixty-eight.
Seven hundred twenty.

Six hundred eight.

ARITHMETIC.

Seven hundred three.

23.
24.
25.

Nine hundred eighteen.
Six hundred forty-three.

Two hundred sixty-one.

. Four hundred fifty-seven.
. Three hundred eighty-two.
. Nine hundred nine.

44. 1. Write the number that is one less than a hundred.

(LB - B )

. Write the.number that is one more than a hundred.

. Write the number that is one less than two hundred.

. Write the number that is one more than three hundred fifty.
. Write the number that is one less than four hundred twenty.

45. In the number 382, 2 is called the units’ figure, 8 18 called
the tens’ figure, 8 is called the hundreds’ figure.

46. 8late Exercises.
Add:

1.

11.

127
243
85

. 219

62
105

838
123
30

2.

12.

306
75
4

. 126

250
484

331
528
86

8.

13.

288
45
602

. 175

184
600

38
452
38

4. 612 5. 3
196 33

34 333

9. 909 10. 449

44 81
30 314
14. 244 15. 52
42 36
98 35



16. 191

21.

26.

31.

36.

41.

117
40

208
198
30

629

EP

105
610
51
23

523
62

51

707
82
148

50

17.

22.

27.

32.

37.

42.

864
36
25
50

875
104

11

97
406
95
201

162
214
245
104

51

870
15

45
21

209
186

17
310

ADDITION.

18.

28.

28.

33.

38.

43.

499
32
16

200

129
421
48
60

487
110
25
3

310
375
29

40

732
116

64

123
234
45

580

19.

24.

29.

34.

39.

44.

733
94
106

43
56
58
620

141
155
203
237

133
233

33
133
233

521
108

63
250

50
49
51
638
11

20.

25.

30.

36.

21

169
162
208

40

17
130
91

635
298
13
43

429
52
160
41

40. 80

45.

107
35
312
25

300
50
25

106
84



46, 34 47.
605
21
83
112
31
47. Subtract:
1. 876 2.
234
6. 844 7.
23
11. 583 12.
102
16. 577 17.
543
21. 694 22.
42
26. 875 27.
875
31. 598 32.

508

210
35

21

74

978
468

499
479

555
550

667
310

649
304

928
807

ARITHMETIC.

48.

13.

18.

23.

28.

33.

250
300
45
3
27
101

. 350

220

. 999

213

500

548
510

49.

14.

19.

24.

29.

34.

|sEelp, -

858

50.

10.

15.

20.

25.

30.

512
33
240
16
108
30

. 457

230

898

667
43

843
603

790
740

838

111

35.

564
304



ADDITION AND SUBTRACTION.

36. 839 37. 997

600 95

41. 805 42. 889

104 615

46. 477 47. 428

253 308
48. Find sums :

38. 864
41

43. 678
667

48. 893
230

51. 33433433433
52. 22+ 22+ 22+ 22+ 22
53. 8623+ 2

54. 100450+ 25 + 25

55. 2164115

56. 34+26+101+5
57. 45+54+3+16
58. 89+ 25+ 103
59. 75450+ 25
60. 100+50+25+10+5+3+2+1

49. Find answers:

61.
62.
63.
64.
65.

395 — 123
684 — 453
978 — 563
254 — 24
857 — 57

66.
67.
68.
69.
70.

39. 799
25

44. 858
45

49. 856

|

169 — 136
599 — 286
783 — 250
408 — 303
250 — 130

45.

50.
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50. Sight Exercises.

Give answers :

10—9 10—1 11-2 11-9 ~ 10—5
12—3 11-8 12—9 147 10—2
10—8 11-3 12—6 13—9 15—6
16—8 13—8 11—4 10—-3 135
13—4 15—9 14—5 11-5 10—4
10—6 12—-8 116 127 1517
12—5 10-7 124 -7 148
13—7 16—9 13—6 14-—9 15—8
16—7 17—8 18—9 17—9 14—6

Drill upon the foregoing frequently and regularly, but not too long at a
time.
S1. Oral Problems.

1. There are 10 birds on a tree. How many will there be
if 5 more come ?

2. If there are 11 boys belonging to a class, and 9 are pres-
ent, how many are absent?

3. Lucy is 12 years old. How old will she be in 3 years?
4. Matthew is 11 years old. How old was he 4 years ago?

5. Patrick has 9 cents in his bank. How many more cents
must he put into the bank to have 15 cents in it?

6. Andrew has two pockets in his jacket. He has 8 marbles
in each. How many marbles has he?

7. A girl lives 12 houses from the school. After she passes
8 houses, how many more must she pass?

8. At a game of ball there are 9 boys on each side. How
many boys are playing?
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9. Sarah has 15 cents. If she spends 8 cents for worsted,

how much money will she have ?

10. A man buys two suits of clothes for his boy; he gives
9 dollars for each suit. How many dollars does he spend ?

52 Original Probisms,

Give answers. Make problems.

10+5 1-9 1243 12—-4 15—9
8+8 2413 9-—5 13—6 148

1245 94 8 1047 16+1 1443

11-8 10— 17 12-9 9+9 1246
63. Sight Exercises.

Give missing numbers:
4—?=1 6+7=1] 3+7=12 ?—-T=2
?4+5=12 12—-?= 4 14—9= ? 10—-?=5
?—9=5 8+5+42=117
54. Slate Exercises.
Find missing numbers :

1. 29 2. 37 8. 17 4. 86 6. 75 6. 90
+? +? +? +? +1 47
41 50 "2 90 100 100

SUBTRACTION.

55. From 41 take 29.

Writing the larger number above the smaller, we see that the 4]
units’ number 9 of the latter is greater than the other units’ numher 1. _ og
In this caze we say 9 and 2, writing the 2, are 11. Add 1 to 2, —
making it 3. We then say 3 and 1 are 4, writing the 1.
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§6. From 506 take 274.

506

—274

232

4 and 2 are 6, 7 and 3 are 10, (1 + 2) 3 and 2 are 5.

57. The answer in sublraction 1is called the difference, or

remainder.

58. Slate Exercises.

Subtract :

1.

11.

16.

21.

26.

81.

36.

41.

60
59

. 26

18

72
54

72
36

34
7

84
76
63
22

34
17

100
10

2.

12.

17.

22.

27.

82.

387.

42.

71
68

. 57

49

92
46

71
3

58
20

65
50

62
3

73
28

‘110
20

13.

18.

23.

28.

3s8.

88.

43.

. 34

27

. 48

42

62
59

91
12

19
11

71
66

25
18
200
11

14.

19.

24.

29.

34.

89.

44.

10.

15.

20.

25.

30.

35.

40.

45.



46. 400
51. 25

56. 31
19

ADDITION AND SUBTRACTION.

47. 500
150

52. 24
B Y

57. 64
48

859. Find answers:

61. 94
—46
66. 73
—26

71. 423
—201
76. 350
—5

81. 864499

82. 634307+ 7430

62. 48
+ 46

67. 47
+ 26

72. 576
+ 423

77. 214
-7

48. 500
50

53. 32

16 -

58. 81
79

63. 67
—18

68. 26
+ 47

73. 375
—123

78. 321
—17

83. 259+23+4+10441714+2
84. 867 — 352
85. 932 — 1729
86. 543 — 540
87. 360 —245

88. 27+ 105+ 316 + 591
89. 174883 +2542

90. 95—85

27.

49. 500 50. 600
5 300
54. 74 56. 50
18 25
59. 90 60. 46
89 27
64. 49 65. 18
+18 +49
69. "5 70. 100
+ 25 — 25
74. 576 75. 375
—25 +5
79. 551 80. 75
+85 + 252
91. 87 —57
92. 120—90
93. 220 — 190
94. 320 —190
95. 143 — 134
96. 13449
97. 267 — 258
98. 258 +9
99. 267—9
100. 100—97
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60. Slate Problems.

101. A man pays $75 for a sofa and $15 for a chair. How
much does he pay for both ?

102. A boy has 75 pictures; he gives away 15. How many
has he then?

103. Find the difference between 25 and 50.

104. A newsboy pays 24 cents for newspapers; he sells them
for 40 cents. What is his profit?

105. Two girls have 50 cents between them; one has 15
cents. How many cents has the other?

108. A farmer bought a cow and a pig. The pig cost $15.
He paid $35 more for the cow than he did for the pig. What
did he pay for the cow ?

107. A pig and a cow cost $65; the pig cost $15. How
many dollars did the cow cost?

108. Find the sum of 27 cherries and 46 cherries.

109. A boy sold newspapers for 40 cents; he made 16 cents.
What did he pay for the papers?

110. A girl bought a doll for 28 cents ; she received 22 cents
change. How much did she give the storekeeper ?

61 Drills,

1. Add by twos:

, 4, 6, 8, etc., to 40;
5,7, 9, etc., to 39.

0,8, 6 9 12, etc., to 39;
1, 4, 7, 10, 18, etc., to 40; . -
2, 5, 8, 11, 14, etc., to 388.



DRILLS.

8. Add by fours:
0, 4, 8, etc.,, to 40; 1, 5, 9, ete., to 37;
2, 6, 10, etc., t0.38; 3, 7, 11, etc., to 39.

4. Add by fives:
0, 5, 10, etc., to 40; 1, 6, 11, etc., to 36;
2, 7, 12, etc., to 37; 3, 8, 13, etc., to 38;
4, 9, 14, etc., to 39.

5. Add by sixes:
0, 6, ete., to 36; 1, 7, etc., to 37; 2, 8, etec., to 38;
3, 9, etc., to 39 ; 4, 10, etc., to 40; 5, 11, etc., to 35.

8. Add by sevens: _
. 0, 7,14, etc., to 35; 1, 8, 15, etc., to 36;
2, 9, 16, etc., to 37; 3, 10, 17, etc., to 88;
4, 11, etc., t0 39; 5, 12, etc., to 40; 6, 13, etc., to 34.

7. Add by eights:
0, 8, etc.,to40; 1, 9, etc., to 33; 2, 10, etc., to 34;
3, 11, etec., to 35; 4, 12, etc., to 86 ; 5, 13, ete., to 37;
6, 14, 22, etc., to 38; 7, 15, 23, etc., to 89.

8. Add by nines:
0, 9,etc., to 36; 1, 10, ete., to 37; 2, 11, ete., to 88;
3, 12, etc., to 39; 4, 13, etc., to 40; 5, 14, etc., to 82
6, 15, etc., to 33; 7, 16, etc., to 34 8,11, ew., W W,

29
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62. Sight Exercises.

Give sums:

1149
26+ 8
19+5
2646
19+9
14+6
2749
2248
1747
2416
1947
2448
13+9
2947

|ihbl=~ﬂi

| @0

17+6
29+9
19+ 4
15+5
2249
19+6
14+9
16+5
2319
18 +5
2549
14+8
2646
18+8
2416
26+9

| o or o
| oo

| < cown
| o o on

ARITHMETIC.

24 47
16 +6
2848
1846
2545
16+ 17
22+8
18+9
2845
12+9
2+5
17+5
25+ 8
17+ 4
2946
14+7

| » o o
| cven o

] oo
| v 3

| w» o3

| v oo

2945
2149
2745
1943
16+9
18347
1948
2349
16+ 8
2844
1549
28417
1748
2846
1348

| ©oeovo

| to 0 o

1548
18 47
1248
2647
2348
281+ 9
23417
1749
29+ 4
2449
18+ 4
29 4°8
1547
29 +3
1447

2147

| @ tow

| w0 =3

|o=wo-

| — 3 3



63. 8late Exercises.

Subtract :
986 .

1.

11.
16.

21.

26.

31.

36.

41.

46.

407

. 930

617

906
860

753
362

666
71

934
576

500
101

-

876
678

304
152

2.

12.
17.
22.
27.
?2.
87.
?2.

47.

863
446

. 584

435

735
595

484
193

423
59

934
467

487
366

378
89

904
873

456
228

3.

8.

13.

18.

23.

28.

33.

38.

43.

48.

SUBTRACTION.

952
335

653
639

268

4

580
290

96

204
197

900
890

600
250

275
196

987
789

14.

19.

24.

29.

34.

39.

44,

49.

. 824
617

. 724

18

837
40

603
593

275
176

321
123

lg 3
-3

301
299

811
790

300
277

10.

15.

20.

25.

30.

35.

31

. 713

405

40. 484

45.

50.
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64. Add:
51. 389 52. 654 53. 486 54. 289 55. 123
75 179 78 289 456

467 98 256 289 78

56. 243 57. 123 58. 98 69. 309 60. 798

407 234 567 98 60
65 534 43 470 9

199 56 21 66 54

61. 150 82. 333 63. 666 64. 123 85. 257

607 333 66 45 432
23 33 60 678 48
65 33 6 ‘9 109

116 3 6 10 92

66. 369 67. 543 68. 283 69. 394 70. 539

72 324 79 247 40
407 99 164 283 298
80 6 450 65 67
24 27 9 6 5

71. 271 72. 613 78. 355 74. T 75. 93

408 84 40 24 404
63 106 86 485 37
150 53 209 60 252
29 70 132 3 60
5 4 43 86 7

76. 345 77. 296 78. 648 79. 639 80. 733
96 584 275 25 49
479 78 59 287 88



81. 324
7
468
46
86. 728
93
43
119
91. 348
296
84
63
105

96. 246
85

399
178

3

101. 278
63

54

459

46

65. Find remainders:

106. 906
187
111. 789
236

ADDITION AND SUBTRACTION.

82. 649
107

84

99

87. 186
176

166

156

92. 47
368

38

396

50

97. 598
35

164
108

95
102. 135
79

246

80

399

107. 450
97

112. 864
579

88.

93.

98.

103.

108.

118.

568
37
77

166

627
72
67
26

639
82

207
64
55

308

349
97
66
39

70
309

246
87

363
187

748
654

84.

89.

94.

99.

104.

109.

114.

473
65
65

358
99

199

299

402

541
87
48

286
33

247

89
476
68
83

166

166

166

166

166

292
146

789
327

85.

90.

95.

100.

105.

110.

115.

33

209
28
593

821
69
85
19

283
323
82
23

47

428

390
75

95
50
95
163
88

99

975
*«
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116. 898 117. 837 118. 879 119. 688 120. 629
283 : 586 783 377 584

121. 606 122. 750 123. 300 124. 274 125. 666
17 509 11 187 88

66. Oral Problems,

1. A boy caught 22 crabs before dinner and 9 after dinner.
How many did he catch in all?

2. There are 31 apples on a tree. How many will there be
after 28 are picked off?

3. William has paid 5 cents for a ball and has 26 cents left.
How much money had he at first?

4. A newsboy sold 28 morning papers and 7 evening papers.
How many did he sell in all ?

5. A man owes a bill of 15 dollars. How much will he owe
after paying 6 dollars?

6. How much will I have to pay for a reader at 18 cents, a
slate at 6 cents, and a copy book at 8 cents?

7. There are 24 pages in a primer. John has read 15 pages.
How many has he yet to read ?

8. A girl has two 10-cent pieces and two 5-cent pieces. How
much money has she? ‘

9. There are 11 roses on one bush, 7 on another, and 8 on
another: How many are there on the three bushes ?

10. If I spend 5 cents for figs, 5 cents for dates, 5 cents for

candy, 5 cents for cakes, and 5 cents for a ball, how much do I
spend in all?

G7. 8late Problems.

1. A farmer pays 65 dollars for a cart and 15 dollars for a
plow. How many dollars does he pay for both ?
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2. How much more does the cart cost than the plow ?

8. There are 17 boys in the first row, 19 in the second, 13 in
the third, and 16 in the fourth. How many boys are there in
the four rows?

4. A man earns 90 dollars a month ; he spends 73 dollars.
How many dollars does he save?

5. Jane has 27 cents left after spending 23 cents for a
reader. How much money had she at first ?

6. A scholar added two numbers, and his answer was 60.
If one number was 35, what was the other number ?

7. A grocer bought sugar for 50 dollars, and tea for 30 dol-
lars. How many dollars did he pay for both ?

8. When Mary saves 25 cents more, she will have 70 cents.
How much money has she now ?

9. 60 boys are working an example; 43 have the correct
answer. How many are wrong?

10. A farmer raised 84 bushels of wheat. How many bushels
will he have after selling 56 bushels?



CHAPTER II.

MULTIPLICATION AND DIVISION.—UNITED STATES MONEY.
—PINT, QUART, AND GALLON. — FRACTIONAL PARTS.
—ROMAN NOTATION.

MULTIPLICATION BY 2.
68. Oral Exercises.
How much would 2 three-cent oranges cost ?

If 1 orange cost 3 cents, 2 oranges would cost 2 times 3 cents, or 6 cents.

69. What should you pay for 2 postal cards ? 2 two-cent
stamps? 2 three-cent tops? 2 pints of milk at 4 cents a pint?
2 five-cent base-balls? 2 pounds of sugar at 6 cents a pound?
2 seven-cent dolls ? 2 quarts of milk at 8 cents a quart ? 2 yards
of muslin at 9 cents a yard ?

What are two 1's? Two 2's? Two 8's? Two4's? Two 5's?
Two 6'8? Two 7's? Two 88? Two 9's?

70. The sign of multiplication is X.
38X 2=~6 isread, 3 multiplied by 2 equals 6 ; or, 2 times 3 are 6.

71. Bight Exercises.
Give answers:
3x2 4x2 6x2 Tx2 9x2

10x 2 1x2 5x2 2% 2 8x2
36



72. Slate Exercises.

MULTIPLICATION.

What would be paid for 2 first readers at 13 cents each ?

We could find the cost by adding 13 and 13, but the better way
is to do such problems by multiplication.
Placing the 2 under the 13, we say, 2 times 3 are 6, 2 times 1 ——
are 2. The answer is 26 cents. +

73. The answer in multiplication is called the produot.
74. Find products:

1.

13.

19.

25.

31.

87.

10
2

22

| o

2.

14.

20.

26.

32.

38.

11
2

232

e

15.

21.

27.

33.

39.

[N -]

10.

16.

22.

28.

34.

40.

11.

17.

23.

29.

35.

41.

6.

12. .

18.

24.

30.

36.

42.

37

13¢
X2

26¢
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43. 430 44. 242 45. 434 46. 440 47. 324  48. 300
2 2 2 2 2 2
49. 400 50. 404 51. 60 52. 51 53. 52 54. 53
2 2 2 2 2 2
65. 54 b56. 63 b57. 64 58. 72 9. 83 60. 94
2 2 2 2 2 2

DIVISION BY 2.
75. Oral Exercises.

If I pay 6 cents for 2 oranges, what is the price of 1 orange?

If 2 oranges cost 6 cents, 1 orange will cost as many cents as there are
2's in 6, or 3 cents.

76. What is the price of a postal card, if 2 postal cards cost
2 cents? Of one postage stamp, if 2 stamps cost 4 cents? Of
1 top, if 2 tops cost 6 cents? Of 1 pint of milk, if 2 pints
cost 8 cents? Of 1 base-ball, if 2 balls cost 10 cents? Of
1 pound of sugar, if 2 pounds cost 12 cents? Of 1 doll, if 2 dolls
cost 14 cents? Of 1 quart of milk, if 2 quarts cost 16 cents?
Of 1 yard of muslin, if 2 yards cost 18 cents?

How many 2's are there in 2? In4? In6? In8? Inl10?
In12? In14? In16? In18?

T7. The sign of division is +.
6 + 2 =38 is read, 6 divided by 2 equals 3.

78. 8ight Exercises.

Give answers: -

6-+2 8+2 12+2 142 18+-2
20+2 10+ 2 2+2 16+2 42



SHORT DIVISION.

- '79. 8late Exercises.

39

How much will 1 first reader cost, if 2 readers cost 26 cents?

Write 26; at the left of it place 2. Separate by a curved line.

2B§¢ Draw a line underneath. 2 is contained in 2 once. Write 1 under
2 is contained in 6 three times. Write 3 under the 6. The

13¢

the 2.
answer is 13 cents.

80. The answer in division is called the quotient.

8l. Find quotients:

1.

6.

11.

16.

21.

26.

31.

38.

41.

46.

51.

56.

2)20

2)202

2)222

2.

12.

17.

22.

27.

32.

317.

42.

47.

52.

57.

2)22

. 244

13.

18.

23.

28.

33.

38.

43.

48.

53.

58.

2)808
2)108

2)166

14.

19. 2

24.

29.

34.

39.

44.

49.

54.

59.

10.

20.

25.

30.

35.

40.

45.

50.

55.

N.
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82. Sight Exercises.

Give missing numbers:

1. 84+2=7? 5. 5x?=10 9. ?2X2=6
2. 8—2=7 6. 8+-?7=4 10. ? =-2=5
3. 8x2="? 7. 3+ ?=11 11. 6 X ?=12
4. 8+-2=7 8. 9—?=6 12. 2 xX2=8
18. 11 14. ? 15. ? "~ 16. 16
+? —5 X 2 +5
17 8 18 ?
17. 26 18. 11 19. 13 20. 10
+5 X2 -7 x?
K] ? 4 20
21. 2)? 22. 7)10 23. 4)8
4 5 ?

83. Oral Problems.

1. A girl pays 20 cents for a reader, 10 cents for a blank
book, and 5 cents for a slate. How much does she spend ?

2. A man buys a coat for $9 and sells it for $13. What is
his profit?

3. At 4 cents a pint, what will a quart of milk cost?

Nore. Have the pupils learn by experiment that there are 2 pints in
a quart.

4. If I can buy 2 marbles for 1 cent, how much will I pay
for 6 marbles?

5. What will be the cost of two 11-cent bars of soap?

6. Two boys are talking about their ages. The 13-year-old
boy says he is 4 years older than the other. How old is the
other?
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7. What will be the ‘cost of a pint of syrup, if a quart costs
16 cents?

‘8. John has 6 marbles, and his brother has 4. How many
will John have to give his brother so that both may have the
same number ?

9. If there are 12 things in a dozen, how many are there in
half a dozen ?

10. Mary buys a doll for 19 cents and has 6 cents left. How
much money did she have at first ?

Note. Answers to oral problems should be written on slates or paper,
by all pupils, at a given signal.

84. Slate Problems,

1. A boy pays 40 cents for a drum and 2 cents for a kite.
How many cents does he pay for both ?

2. Mr. Jones has $40 in bank. After taking out $2, how
much money has ke in bank?

8. How much did Mrs. Smith pay for 2 dolls that cost 40
cents each ?

4. I paid $40 for 2 cows. How many dollars did each cost ?

5. A man pays 40 cents for a pound of tes, and sells it for
55 cents. What is his profit ?

6. A person uses 60 pints of milk in a month. How many
quarts does he use?

7. John has 40 cherries; he gives one-half of them to James.
How many cherries does he give James?

8. There are 45 roses on one bush, and 85 on another. How
many are there on both ?

9. What will I pay for 2 pounds of butter at 32 cents a
pound ? :

10. What will be the cost of half a pound of 6Q-cent teel
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11. A boy had 66 fire-crackers; he gave one-third of them
to his cougin. How many did he give to his cousin ?

12. How much will I have to pay for 4 straw hats at 22 cents
each ?

13. How many wings have 21 geese?

14. If there are 50 torpedoes in a pack, how many are there
in 4 pack?

NOTATION AND NUMERATION.

85. The largest number we can write with three figures is
999. The next number is one thousand, written 1,000.

Two thousand, 2,000. Three thousand, 3,000.
Four thousand, 4,000. Five thousand, 5,000.
Six thousand, 6,000. Seven thousand, 7,000.
Eight thousand, 8,000. Nine thousand, 9,000.

One thousand one is written 1,001.

86. Write in figures:

1. One thousand two. 6. Five thousand six.

2. Two thousand three. 6. Six thousand eight.
3. Three thousand four. 7. Seven thousand nine.
4. Four thousand five. 8. Eight thousand ten.

87. Read the following:

1,020. 6. 1,100. 11. 1,000. 16. 1,110. 21. 5,555
1,030. 7. 2,8300. 12. 1,001. 17. 1111. 22. 6,666.
2,040. 8. 9900. 13. 1,010. 18. 2,222. 23. 7,777
8,045. 9. 6,700. 14. 1,100. 19. 3,333. 24. 83888
4,050. 10. 8600. 15. 1,101. 20. 4444. 25. 9,999

Lol ol o L



NOTATION AND NUMERATION.

88 Write in figures:

b ek b b ek g b b b
© P oo ® DR O

LA ol o A

Three thousand four hundred fifty-six.
Seven thousand eighty-four.

Six hundred nine.

Two thousand fourteen.

One thousand ninety-nine.

Nine thousand five hundred forty-three.
Sixty-seven.

Four hundred ‘eighty.

Five thousand seven.

Two hundred nineteen.

Eight thousand eighty-eight.

. One thousand eight hundred ninety-two.
. Four thousand seven hundred.

. Three thousand six hundred sixty-three.

. Six thousand sixty.

. Nine thousand eight hundred seventy-six.

Three hundred eleven.

. Seven thousand nine hundred nine.
. Six thousand five hundred forty-three.
20.

Two thousand one hundred two.

89. Read the following:

1,365
2,950
437
2,965

234
3,386
7. 6,676
8. 9,875
9. 4,370

AR & 2 o s

43

10. 1,054 19. 75 28. 2673 387. 508
11. 254 20. 4536 29. 6,758 38. 3,141
12. 4,400 21. 4,347 30. 9,058 39. 7,001
13. 154 22. 7720 81. 154 40. 5191
14. 9000 23. 6525 82. 1,567 41. 3,008
15. 3,108 =24. 627 33. 1864 42. 84
16. 988 25. 6,182 34. 309 43. 600
17. 1,080 26. 2,004 35. 1,892 44. 1,028
18. 7,005 27. 9,760 38. 1805 An. \W\
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90. The right-hand figure is called the wnits figure, the next
s called the ten® figure, the next is called the hundreds’ figure,
the next 15 called the thousands’ figure.

9L A comma is generally placed between the thousands’ figure and the
hundreds’ figare.

92 RKore To secure accuracy and rapidity abstract examples in addi-
tion and in sabtraction should be worked each day.

Find sums:

1. 1,406 + 789 4 3,008 + 57 4 259 + 80

954 4+2,309+ 164756 464 41,891 4+ 5
2,345 4 123 + 67 4 8 4+ 90 + 321 + 5,432
87+ 6 + 4304 29 + 7,856 + 379
473 + 25+ 389 + 4,500 + 98 + 1,267 4 18

LAl o

94. Find remainders:

6. 8,763 — 6,549 11. 7,654 — 987
7. 2,345—568 12. 4,004 —2,345
8. 3,800 —968 13. 3,000 — 2,875
9. 5806 — 1467 14. 6,000 —27
10. 9,000 — 8,999 15. 4,386 — 2,998

95. Find products:

16. 144 x2 21. 2,304 x 2
17. 1,234 % 2 22. 4,321 X 2
18. 613x2 23. 723x 2
19. 304x2 24. 800X 2

20. 4,031 X 2 25. 514x2
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96. Find quotients:

26. 288 +2 81. 8,624+ 2
27. 4,608 + 2 32. 1,600+2
28. 2,468 <2 83. 1,028+ 2
29. 6082 34. 1,226 +2
30. 8,062 + 2 85. 1,446 +2

97. Find products:
1. 12 2. 13 3. 14 4. 15 5. 16 6. 17

2 2 2 2 2 2
98. Find answers:
7. 24 =2 11. 342 15. 52+ 2
8. 26+2 12. 38+2 16. 27X 2
9. 28-+-2 13. 25 X2 17. 28x 2
10. 30+2 14. 502 18. 58 +2

99. Find products:

19. 34 20. 35 21. 36 22. 38 23. 39 24. 45
2 2 :

Do
(3
]
o

25. 47 26. 54 27. 55 28. 63 29. 66 80. 75

2 2 2 2 2 2
100. Find quotients:

31. 2)68 32. 2)70 33. 2)72 34. 2)76

35. 2)78 36. 2)90 37. 2)94 38. 2)108

39. 2)110 40. 2)126 41, 2)132 an. W
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101. Find answers:

43. 2102 47. 206 x 2
4. 105x 2 48. 612 +2
45. 116 x 2 49. 308x Z
46. 252 +2 50. 816 -2

102 Find products:

561. 150 52. 155 53. 166
2 2 2

54. 17 65. 188

56. 199 57. 256 58. 367 59. 478 60. 579
2 2 9 9 2
61. 680 62. 709 63. 888 64. 999 65. 1,025
9 2 9 2 2
66. 2150 67. 3075 8. 3568  69. 1537 70. 4,806
2 2 2 9 2

103. Find quotients: .
71. 300 =2 76. 376 -2  79. 956+2  83. 1,776 -2
72. 310+2  76. 398+2 80. 1,158+2  84. 1,998+2
78. 332+2  77. 512+2 81.1360+2 85. 2,050+2
74. 35422  78. 734+2 82. 1418+2  86. 4300 +2

87. 6,150 =2 88. 9,792+ 2

Multiply :
1. 3 2. 1 3. 3 4. 5. 3
1 3 2 3 L
6. 4 7. 2 8. b 9. 10 10. 2
2 1 2 3 s



MULTIPLICATION.
11. 30 12. 11 13. 12
3 3 3
16. 29 17. 23 18. 31
3 3 3
21. 101 22. 102 23. 103
3 3 3
26. 113 27. 120 28. 121
3 ., 3 3
31. 200 32. 201 33. 202
3 3 3
36. 212 37. 213 38. 220
3 3 3
4. 223 42, 130  43. 131
3 3 3
46. 230 47. 231 48. 233
3 3 3
51. 1,231 52. 2,312 53. 10
3 3 4
6. 21 57. 12 58. 22
4 4 4
é1. 102 62. 200 63. 201
4 4 4
66. 112 ~e7. 210 68. 211
4 4

[

14.

19.

24.

29.

. 34.

39.

44.

49. -

54.

59.

64.

69.

15.

20.

25.

30.

85.

40.

45.

50.

55.

60.

65.

70.



4.

79.

84.

02 ol |8

89. 201
5

94. 1,101

99. 1,001

84 4
48 -4
40+4

4004
484 -4
884 +4
50+5
100+5
105 =5
606
120+ 6
126 + 6

48 ARITHMETIC.
71. 222 72. 1202 73. 2101
4 4 4
76. 20 717. 20 7s. 20
7 8 9
81. 21  s2. 21 83. 21
7 8 9
86. 200 87. 201 s8s8. 101
7 8 9
91. 201 92. 211 93. 111
7 8 9
96. 1,110 97. 1,111 98. 1,101
7 8 9
105. Divide:
101. 3+3 114. 66=3 127.
102. 6+3 115. 96+3 128.
103. 9+3 116. 693 129.
104. 4+4 117. 99+3 130.
105. 8-+4 118. 303-+3 131.
106. 30+-3 119. 309+3 132.
107. 603 120. 336-+3 133.
108. 90+-3 121. 369-+-3 134.
109. 33+3 122. 96338 135.
110. 36 -3 123. 639+3 136.
111. 39+-38 124. 390-+=3 137.
112. 63+-3 125. 3,693 +3 138.
118. 93+3 126. 444 189.

140.
141.
142.
143.
144.
145.
146.
147.
148.
149.
150.
151.
152.

75.

80.

20

6

21

6

85. 101
6

90. 200
6

147 -7
160 =8
180+9
189 +9
1212+ 6
147717
1,680+ 8
1,890 +9
1,005 +5
1,050 5
1,010+5
1,616 -8
1,818+9
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106. Oral Problems.

1. A boy had an apple, and he ate one-quarter of it. How
much had he left ?

2. If one-half pound of raisins costs 8 cents, what is the price
of a pound ? '

8. William had 8 marbles and lost one-fourth of them. How
many did he lose ?

4. A confectioner sold 4 boxes of candy. How many pounds
did he sell if each box held a quarter of & pound ?

5. How much does a half-pound of candy cost, if & quarter-
pound costs 5 cents ?

6. How much must be paid for 9 pounds of meal at 2 cents
a pound ?

7. If oil is 8 cents a gallon, how many gallons can I buy for
16 cents?

8. I paid 7 cents for one cake, and 7 cents for another, and
7 cents for another. How much did I pay for three cakes?

9. How many feet have 10 ducks ?

10. A watch costs 75 dollars, and the chain costs 5 dollars.
What is the cost of both ?

107. Slate Problems.

1. If there are 11 trees in one row, how many trees are there
in 9 rows?

2. When flour is 4 cents a pound, how many pounds can I
buy for 44 cents ?

8. A man earns 22 dollars a week. How much does he earn
in 8 weeks?

4. How many oranges in 4 dozen ?

5. A grocer had 90 eggs. How many would he have after
selling a dozen ?
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6. If tea is worth 30 cents a half-pound, how much is a
pound worth ? .

7. There are 48 boys in the second class; one-quarter of
them have a wrong answer to a problem. How many have a
wrong answer ?

8. Mary has 21 postage stamps. Julia has four times as
many. How many has Julia?

9. A newsboy sold papers for 75 cents and gained 19 cents.
How much did the papers cost?

10. How many- feet have 20 cows ?

MULTIPLICATION BY 3.

108. Oral Exercises.

What is the cost of 3 postal cards? 3 two-cent stamps?
3 three-cent tops? 8 pints of milk at four cents a pint? 3 five-
cent base-balls? 3 pounds of sugar at six cents a pound?
3 seven-cent dolls? 3 quarts of milk at eight cents a quart?
8 yards of muslin at nine cents a yard?

109. Bight Exercises.

Give answers: .
3x4 4x2 X0 6x2 2x8 8x3
2x9 6x3 0x9 3x6 5x1 Ix2

0x3 3x5 1x0 2x 7 3x1 2% 2
2x4 1x9 3x8 2x5 6x0 4x3
1x1 0x5 2% 6 1x8 0x7 8x1
8x2 5x3 T Tx3 3x9 1x6 4x0
ax1 1x2 0x8  9x%0 3x3 0x1
3x2 0x2 1x5 Tx2 1x7 9x3
1x4 5% 2 8x0 0x6 2x0 5x0
3x0 4x1 2x38 = Tx1 6x1 1x3

0x0 Ix1 0x4 3x T
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110. Accuracy and rapidity in subsequent work are largely dependent
upon the thoroughness of drill in the addition, subtraction, multiplication,
and division combinations in the lower grades. To avoid the labor of writ-
ing on the board combinations similar to the foregoing, several devices are
resorted to.

111. Drills.

" Drill upon the following, changing, from time to time, the
numbers in the inmost, circles: '

112. Change, from time to time, the figure in the second line:

5 15 25 35 45 55 65 75 85

+6 (Add 7, 8,9.)

6 16 26 36 46 56 66 76 86
+5 (Add 6,7, 8,9.)

7 17 91 87 47T 5T 67T T 87
+4 (Add 5, 6,7, 8,9.)

8 18 28 38 48 58 68 78 88
+3 (Add 4, 5,6,7,8,9.)

9 19 2 39 49 59 69 79 89
+2 (Add 3,4, 5,6,7,8,9)

113. Nore. Insist upon rapidity in answers. Have short daily drills
if possible. ) :
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114 Worcester Public Schools. — Examination Questions.

1. How many cents are there in a dime? In a half-dime?
In a quarter of a dollar?

2. Count by 2's to 10.

3. Ella has 4 cherries. If she gives half of them to Harry,
how many will he have?

4. On my bushes there are 5 red roees, 4 pink roses, and 3
white roses. How many roses are there in all ?

5. Whatisjof 6? 40f10? }of8? }of9?

6. What are the figures for VI, IX, VII, II, X?

7. If 1 banana cost 2 cents, what will 5 bananas cost ?

8. If an apple cost 2 cents, how many apples can you buy
for 8 cents ?
9. Frank went to the store with a dime. He bought a five-

cent ball and 2 cents’ worth of candy. How much change did
he receive?

10. 4 4 1
+5 +2 +7
+~3 +4 -5
X2 +5 +4
—4 x1 —6

11. Alice earns 2 cents every day, except Sunday, for a week.
She puts 10 cents of it into her bank, and spends the rest. How
much does she spend ?

12. How many pints are there in 3 quarts?

13. Mary has a dime, a two-cent piece, and 3 pennies. How
much money has she?

14. How much more is 4 4+3 —2than 24+8—67?

15. How many inches are there in a foot? How many feet
in a yard? How many inches in a yard?
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115. Drills.
The following 18 a drill in multiplying and adding : 1
+
1 2 3 4 5 6 7 8 9
X2

Write the numbers from 1 to 9 on the board. Underneath, place a mal-
tiplier; above, place a number to be added to the product of the multiplier
and a number in the second line.

Placing the pointer at 6, the pupil says 12, 13. At 9, he says 18, 19.

Change the multiplier to 3.

When the teacher points to 5, the pupil says 15, 16. When she points
to 8, the pupil says 24, 25.

Change the adding figure to 2.

Pointing to 6, the reply is 18, 20; to 7, it is 21, 23; ete.

In multiplying by 3, the adding figure cannot be greater than 2. In
multiplying by 4, the adding figure will be 1, 2, or 3.

Nore. This drill must be rapid to be effective.

116. 8late Exorcises.

Multiply :
1. 63 2. 84 8. 168 4. 126 5. 87
3 3 3 3 3
6. 96 7. 1,057 8. 368 9. 1369  10. 2,090
3 3 3 3 3
11. 324 12. 543  13. 568 14. 230 15. 621
3 3 3 3 2
16. 345 17. ' 232  18. 517 19. 803 20. 182
3 4 3 2 3
21. 246 22. 3831 23. 320 24. 157 25. 628
3 4 4 3 RS
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26. 341 27. 4271 28. 2415 29. 1,230 36. 1,223

3 2 3 4 4
31. 2,627 32. 2514  33. 2,332 34. 1,203  85. 4,583
3 3 4 4 2

36. 1,333 37. 1,201 38. 1,012 39. 1230 40. 1,572
41. 1210 42. 1,203 43, 2233 44. 3,261 45. 1,986

46. 1387 47. 2203 48. 2898 49. 1837  50. 3,586

61. 2879 52. 2887 3. 1,023 54. 2428  55. 2,937

66. 2459 57. 4287 58. 1,606 69. 1,682  60. 2,915

DIVISION BY 3.
117. Slate Exercises.

Divide the following numbers by 2; by 3.
61. 144 67. 408 73. 312 79. 824  85.4]116
62. 432 68. 372 74. 216 80. 156  86. 5,328
63. 300 69. 192 75. 336 81. 384  87.3012
64. 228 70. 348 76. 288 82. 420  88.1,764
65. 276 71. 396 77. 204 83.1,188  89. 7,776
66. 264 72. 168 78. 180 84. 8904  90. 6,552
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118. 8late Exercises. — Review.

Find sums:

91. 4,632+ 936 + 788 + 39 4 888 -+ 6 -+ 25 + 999.

92. 2,004 + 678 + 59 + 384 4 90 4 1,508 + 77.

93. 54 38+ 957+ 1,836 + 2,793 - 858 4 99 + 4.
‘94. 287 41,085 4 329 4 5,908 + 672 4 84 4 93.

95. 64 + 317 4 290 4 4,926 + 3,007 + 215.

119. Find differences :

Nore. The smaller number (the subtrahend) must be taken from the
larger number (the minuend).

96. 9,000 and 8,743. ’ 101. 8,888 and 9,200.
97. 7,327 and 9,004. 102. 1,711 and 1,682.
98. 6,326 and 5,749. 103. 333 and 1,212.
99. 3,520 and 2,780. 104. 27 and 2,700.
100. 383 and 500. 105. 4,837 and 2,958.

120. Oral Problems,

1. There are 8 rows of desks in the school-room, and 9 desks
in each'row. How many desks are there in the room ?

2. If there are 16 ounces in a pound, how many ounces are
there in half a pound ?

3. A storekeeper sold 15 hats Monday, 9 on Tuesday, 7
Wednesday, 10 Thursday. How many did he sell in four days?

4. A woman has 18 yards of silk. She uses 5 yards. How
many yards has she left?

5. At 3 for a cent, how many marbles can be bought for 6
cents?
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6. What will be the cost of a pint of maple syrup if a quart
is worth 22 cents?

7. There are 4 quarts in a gallon. How many pints are
there in a gallon?

8. How many feet have 12 ducks?

9. If a 12cent pie is divided into 3 equal pieces, what is
each piece worth?

10. John is 9 years old, and Mary is 16. What is the differ-
ence between their ages?

121 Slate Problems.

1. Mary weighs 36 pounds, and Sarah weighs 55 pounds.
How much do both weigh?

2. What is the difference between their weights?

8. A confectioner sells ice-cream for 80 cents a half gallon.
What is the price of a quart?

4. At 3 for a cent, what will be the cost of 48 marbles ?
5. How much must I pay for 4 sheep that cost $13 each?

6. I buy 27 cents’ worth of groceries, and give the store-
keeper a 50-cent piece. How much change should I receive ?

7. What will be the cost of a pound of 60-cent tea and 25
cents’ worth of eggs?

8. A bag of flour contains 49 pounds. How many pounds
of flour are there in 2 bags?

9. If meal costs 2 cents a pound, how many pounds can I
buy for 50 cents?

10. If you divide 54 marbles equally among 3 boys, how
many will each receive?



MULTIPLICATION AND DIVISION.

122 §late Exercises.

Multiply :
2. 123 2. 213
_b _6
6. 231 7. 103
_5 _6
11. 111 12. 222
5 _8
18. 233 17. 322
5 _6
123. Divide—
By 5:
21. 660 22. 1,510
By 6:
26. 732 21. 1218
By 7:
31. 2,331  32. 2,324
By 8:
36. 1,704 87. 984
By 9: '
41. 1,188  42. 1,827

3. 312
_T

8. 102
T

18. 333
_T

18. 332
T

23. 1,665
28. 1,926
33. 2,254
38. 1,848
43. 2,997

14.

19.

24.

29.

34

39.

44

®©
w0
| 8 [ &
o ® |+

—
[
13

1,160

1,872

. 1,554

888

. 2,898

MULTIPLICATION BY 4.
124. Oral Exorcises.

What will 4 pints of milk cost at 4 cents a pint? 4 five-cent
base-balls? 4 pounds of sugar at 6 cents a pound ? 4 seven-cent
dolls? 4 quarts of milk at 8 cents a quart? 4 yards of wuslin
ot 9 cents a yard ?

57

5. 132

10. 302

15. 133

20. 232

26

30.

35.

40

456

. 1,115

612

721

. 1,864

. 2,097
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125. 8ight Exercises.

Give answers:

4x9
2X9
3x5
5x4

4x6
2x8
3x6
6x4

126. Slate Exercises,

Multiply :
1. 873 2. 456
4 4
6. 754 7. 234
3 9
1. 324  12. 1,369
5 4
16. 1,989  17. 1,563
4 4
21. 2,084  22. 2,167
4 4
26. 2,359  27. 2,287
4 4
31. 25679  32. 4,987
3 2
36. 3,287  87. 1,340
3 6

ARITHMETIC.

4x8
2xT
3xT7
7x4

13. 2,468
18. 1,670
28. 2,299
28. 2,389
83. 3,065

88. 1,044

14.

19.

24.

29.

34.

89.

4x7 4x5
2x 6 2% 5
3x8 3x9
8x4 9x4
175 5. 999

4 2

304 10. 432

7 6
1,876 15. 1,775
4 4
1,078  20. 1,123
4 5
2,308 25. 1,323
4 6
2,167  80. 1,028
4 9
1,888  85. 1,208
4 6
1,248 40. 342



MULTIPLICATION AND DIVISION.

41. 4576 42. 2,985  43. 1,670

2 3

46. 333 47. 444  48.

6 8

DIVISION BY 4.

127. Slate Exercises.

61. 1,876 59. 9,864 67.
52. 2,392 60. 8512 8.
53. 3,572 61. 7,836  69.
54. 4,580 62. 6,788  70.
55. 8,368 63. 5,696  7T1.
56. 5,660 ¢4. 4,372 7T2.
57. 7,704 5. 3504 73.
68. 9,980 66. 2,768 74.
128. Review.

Divide by 2:

91. 9,876  92. 8,954  93.

By 3:

96. 3,897 97. 8,766  98.

By 4:

101. 5488 102. 6,372 103.

"By 5:

106. 2,150 107. 2,020 108.

By 6:

111. 8,466 112. 8,652 118.

59

44. 2,058  45. 2,305
4 4 4
222 49. 333  50. 444
7 6 5
1,732  75. 9,024  83. 1,992
2592  76. 8,352  84. 2,764
3,176 71. 7164  85. 3,408
4232 78. 6,380 86. 4,248
5916 79. 5024  87. 5,760
6,972  80. 4928  88. 6,928
7324  81. 3716 89. 7,004
8948 82. 2,056 90. 8312
7,368  94. 6598  95. 5760
7,353  99. 6,201 100. 5,706
8,680 104. 9,508 .105. 7,716
7,205 109. 6,170 110. 6,710
7218 114. 7,872 115. 8418
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By 7:
116. 9,114 117. 8428 118. 7,168

By 8:
121. 9920 122. 8,824 123. 9,792

By 9:
126. 2,736 127. 8,618 128. 2,826

129. Add:

\

119. 9,338 120. 9,170
124. 9,632 125. 3,544

129. 9,306 130. 9,936

131. 3,478+ 384 - 965 + 29 -+ 450 + 1,873 + 685.
132. 5,883 + 938 + 652 + 36 4 507 -+ 1,003 + 279.
133. 2,476 + 1,259 + 2,647 + 309 + 875 + 33 + 8.
134. 3487 + 844 + 2,036 + 392 + 87 - 64 -+ 386.
135. 589 + 847 + 1,634 + 2,801 + 689 + 2,256.
136. 1,799 + 896 + 327 + 683 -+ 2,549 + 1,286.
137. 632+ 583 + 238 + 289 + 1,586 + 37+ 9.
138. 3,237 4 654 + 538 + 283 + 1,439 -+ 256.

189. 1,438 + 567 + 36 -+ 9 + 57 + 486 + 4,008.
140. 2,376 + 462 + 756 -+ 49 + 385 + 427+ 2,603,

130. Find differences between :

141. 9,000 and 8,790. 146. 4,350 and 2,670.
142. 6,034 and 8,043. 147. 5,432 and 6,021.
143. 8,006 and 7,999. 148. 8,493 and 8,530.
144. 3,264 and 5,310. - 149. 2,777 and 9,843.

145. 6,543 and 9,001. 150. 7,654 and:6,789.
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131. Oral Problems. !

1. How many balls are there in 4 Roman candles, each con-
taining 8 balls ?

2. There are 27 boys in the first division and 10 in the
second division. How many are there in both?

3. A boy works 9 examples a day. How many does he work
in 4 days?

4. What will be paid for one-fourth of a yard of ribbon at
40 cents a yard?

6. A man walks 28 miles in 7 hours. How many miles does
he walk in 1 hour?

6. What will be the cost of 8 yards of cloth at $4 per yard?

7. A boy found 4 marbles and then had 32. How many
had he at first ?

8. John paid 36 cents for a book and 4 cents for a slate.
How many cents did he pay for both ?

9. Mary had 18 jackstones. How many had she after giving
3 to Jane?

10. Harry is 8 years old. In how many years will he be 12?

132, Slate Problems.

1. If 4 marbles are sold for 1 cent, how much will 8 marbles
cost? How much will 88 cost ?

2. A boy bought 8 readers. He paid 15 cents for one, 16
cents for another, 17 cents for the third. How many cents did
he pay for the three?

3. What will 3 readers cost at 16 cents each ?

4. There are 24 hours in a day. How many hours are there
in 4 days?

5. A boy paid 80 cents for 4 pounds of candy. How much
did it cost a pound ?
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6. A farmer has 96 cows in 3 stables, the same number in
each. How many are there in each stable?

7. How much will I have to pay for 2 suits of clothes at
$35 each ?

8. There were 90 sheep in a flock; 14 of them died. How
many were there in the flock then?

9. How many pounds of butter are there in 2 tubs, each
containing 48 pounds?

10. Two boys weigh together 90 pounds. One of them weighs
35 pounds. How much does the other weigh ?

MULTIPLICATION BY 5.

What is the cost of 5 five-cent base-balls? Of 5 pounds of
sugar at six cents a pound? Of 5 seven-cent dolls? 5 quarts of
milk at eight cents a quart? 5 yards of muslin at nine cents a
yard?

134. Slate Exercises.
Multiply by 5:

1. 27  13. 287 25. 1263 37. 1596 49. 1,740
2. 36  14. 309 26. 1315 38. 1582 50. 1,763
3. 44  15. 456 27. 1338 39. 1539 51. 1820
4. 50  16. 578 28. 1,367 40. 1566  52. 1,808
5. 63  17. 699 29. 1395 41. 1698 53. 1,895
6. 72  18. 783 30. 1,384 42. 1605 54. 1,886
7. 8  19. 859 31. 1467 43. 1627  55. 1,830
8. 96  20. 938 32. 1479 44. 1635 56. 1,999
9.105  21. 1,057 33. 1408 45. 1672  57. 1,904
10. 126 22. 1,163 34. 1460 46. 1,776  58. 1,960
11. 148 23. 1285 35. 1483 47. 1709  b59. 1974

=
1]

. 169 24. 1208 36. 1,507 48. 1,785  60. 1,953



Multiply by 2:
62.

61

. 4,875

By3:.

66

. 3,209

By 4:

71

. 2,409

By 5:

76

. 1,954

By 6:

81

. 1,504

By 7:

86

. 1,405

By 8:

91

. 1,206

By 9:

96

. 1,054

MULTIPLICATION AND DIVISION.

67.

72.

7.

82.

87.

92.

91.

3,876

3,165

2,386

1,837

1,423

1,425

1,125

1,082

63.

68.

73.

78.

83.

88.

93.

98.

2,694
3,097
2,095
1,789
1,305
1,054
1,053

1,044

64.
69.
.74.
79.
84.
89.
94.

99.

DIVISION BY b

135. Slate Exercises.

Divide by 5:
101. 600 111.
102. 650 112.
103. 700 113.
104. 750 114.
106. 875 115.
106. 905 11e.
107. 920 117.
108. 1,090 11s.
109. 1,120 119.
110. 1,215 120.

1,360
1,475
1,510
1,635
1,770
1,820
1,945
2,010
2,265
2,350

121.
122.
128.
124.
125.
126.
127.
128.
129.
130.

2,485
2,590
2,600
2,730
2,855
2,905
3,060
3,585
4,070
4,290

131.
132.
133.
134.
135.
136.
137.
138.
139.
140.

3,687

2,986

1,983

1,605

1,250

1,235

1,285

1,105

5,385
5715
6,205
6,790
7,325
7,780
8,750
8,765
8,910
9,015

65.

70.

75.

80.

85.

90.

95.

100.

141.
142.
143.
144.
1456.
146.
147.
148.
149.
150.

63

4,908

2,895

1,878

1,588

1,354

1,043

1,143

1,025

9,120
9,215
9,360
9,425
9,580
9,675
9,780
9,895
9,905
9,995
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By 2:
151. 9,818
By 3:
158. 8,919
By 4:
161. 9,516
By 5:
166. 6,635
By 6:
171. 8,124
By 7:
176. 9,835
.~ By8:
181. 9,000
By 9:
186. 9,225

152.

157.

162.

167.

172.

177.

182.

187

9,504

8,724

5,250

7,500

9,975

8,424

. 9,945

ARITHMETIC.

8,980 153.

158.

163.

168.

173.

178.

183.

188.

136. United States Money.

In writing dollars and cents, the dollar sign, §, is written
first, followed by the number of dollars; then comes a period
(decimal point) and the number of cents.

7,756

8,766

6,432

4,875

7,830

7,378

154. 6,196
159. 9,153
164. 8,756
169. 6,390
174. 8,538
179. 8,645
184. 9,144

189. 9,288

Three dollars and fifty cents is written

Eighteen dollars and sixty-seven cents

Twenty-four dollars
Six dollars and eight cents

Twenty-five cents

Three cents

Twenty-five cents may also be written 25¢ ; three cents may
be written 3¢.
The abbreviations ct. and cts. are sometimes used ; thus, 1 ct.,

9 cts.

155.

160.

165.

170.

176.

180.

185.

190.

$3.50
$18.67
$24.00
$6.08
$.25
$.03

8,016

7,695
9,792
7,206
9,024
7,301
9,640

9,486
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137. Slate Exercises.

Add:
191. $13.57 192. $20.68 193.$3.69 194.$.48 195.$.17
8.69 12.56 41.36 2.15 .28
8l 9.99 3.40 .67 3.49
2.15 83 Y) 10.65 3.8 16.55
30.70 25 6.37 9.87 42.30 470
9.58 e 26.58 .63 6.85 23.69
.39 .25 .50 18.46 .58

Nore. In addidg long columns, the total of each column may be placed

alongside, as in example 191. Such totals are sometimes useful to verify
results.

138. Find differences between :

196. $84.00 and $73.17. 201. $21.52 and $.76.
197. $23.16 and $70.00. 202. $63.24 and $5.48.
198. $69.50 and $90.40. 203. $2.79 and $27.90.
199. $45.75 and $39.69. 204.  $.16 and $16.00.
200. $24.00 and $8.63. 205. $8.38 and $91.11.

139. Oral Problems.

1. There are 5 rows of trees, 9 trees in each row. How many
trees are there in all?

2. How many ounces of candy are there in 8 boxes, each
containing 4 ounces ?

3. There are 50 pages in a book. Sarah has read all but 5
pages. How many pages has she read ?

4. Mr. Smith is 40 years old; his wife is 5 years younger.
How old is Mrs. Smith ?

5. William is 8 years old; his brother Stephen is 16 years
older. How old is Stephen ?
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6. A woman paid 48 cents for 4 pounds of cheese. How
much did one pound cost ?

7. There are 45 gallons of oil in a barrel. How many
gallons will there be in it after 10 are sold ?

8. A girl wrote 50 words. She spelled 5 incorrectly. How
many did she spell correctly ?
9. How much will a dozen five-cent oranges cost ?
10. A train goes a mile in 2 minutes. How many miles will
it go in 26 minutes ?

140. Slate Problems.
1. There are 5 houses in a row, and each house has 16
windows. How many windows are there in all ?
2. A man buys a cow for $90. How many $5 bills will he
have to give to pay for the cow ?
8. Harry has 18 five-cent pieces in his bank. How much
money has he?

4. If a girl went to school 21 days each month for 4 months,
how many days would she attend school ?

5. 90 boys belong to a certain school; 15 are absent. How
many are present ?

6. At 2 for a cent, how much will 48 peaches cost?

7. Henry, Jane, and Thomas had 25 marbles each. How
many marbles did the three children have ?

8. A man divided 60 cherries equally among 4 boys. How
many did each receive ?

9. If we spell 15 minutes a day, how many minutes will we
spell in a week of 5 days?

10. A woman bought a $5 shawl, and gave the store-keeper
a $100 bill. How much change did she receive ?
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FRACTIONAL PARTS.

141. Preliminary Exercises.
What is one-half of 2? Of 4? Of 8?7 Of 18? Of 20?
Of 24°?

142. One-half is written §.

143. Slate Exercises.
1. } of 36="? 8. 3of 50=2?
2. Jof 12="? 4. }of 100="

5. If a dollar contains 100 cents, how many cents are there in
one-fourth of a dollar?

144. One-fourth is written }. One-third, }. One-fifth, }.
8. What is } of 80? Find } of 60.

145. Oral Exercises,

Whatis § of 82 Of6? Of12? Of18? Of21? Of27?
0f30? Of 36?2 :

Find}of4. Of8. Of16. Of 24. Of 28.  Of 36.
0f 40. Of 48.

What is } of 10? '} of 187 } of 33?

146. Blate Exercises.
Find } of each of the following. Find §. Find {.

1. 96 6. 192 11. 348 16. 912
2. 84 7. 144 12. 624 17. 756
3. 72 8. 576 13. 360 18. 864
4. 48 9. 252 14. 432 19. 960
5. 60 10. 156 15. 276 20. 720
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ROMAN NOTATION.

147. In the Roman Notation, letters are used.
I=1 V=5 X=10

148. The numbers from 1 to 10 are written as follows:
1 2 3 4 5 -6 7 8 9 10
I II III 1Iv Vv VI VII VII IX X

Placing. X in succession before each of the foregoing gives the

numbers from 11 to 20.

149. Write in Roman Numerals:
11 12 18 14 15 16 17 18 19 2

150. Read the following:
XXI XXIII XXV XXVII XXIX
XXII  XXIV XXVI  XXVIII XXX

151. Write in Roman numerals:
31 382 383 34 3, 86 37 88 39
L stands for 50 XL =40

152. Read the following:
XLI XLIII XLV XLVII XLIX
XLII XLIV XLVI XLVIII

153. Write in Roman numerals:
51 52 58 54 55 56 BT 58 B9
60 = LX 70="? 80="?

154. Read: ‘
LXI LXXIV LXXXIX LV XXXIX XXIV LIII LIX
100=0 90 =XG
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155. Read:
XCI XCIX XCII XCIII XCVI
XCIV - XCVIII XCV XCVII

156. Write in Roman numerals:
25 48 63 52 74 98 37 29 14 89 34 47 99

157. Liquid Measure,
2 pints =1 quart.
4 quarts =1 gallon.
Pints are written pt. Quarts are written qt. Gallons are
written gal.

The measures themselves should be brought into the class-room, and
should be handled by the children. As many as possible of the pupils
should verify the table by filling the gallon measure with water, using the
quart, etc.

158. Oral Problems.
1. How many weeks are there in 35 days?

2. A man had 25 pounds of raisins. How many pounds had
he after selling one-half pound ?

3. A family uses a gallon of milk a day. How many quarts
does the family use in 7 days?

4. When milk is 8 cents a quart, what is the price of a
gallon ?

5. When oil is 8 cents a gallon, how much does a quart cost?

6. A boy had 2 pies, which he cut into fourths. How many
pieces did he make ?

7. How many quarter-dollars are there in 5 dollars ?

8. John's father gave him a half-pound box of candy, and his
aunt gave him a quarter-pound. How much candy did he have
then ?
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9. If 9 fire-crackers are sold for 1 cent, how many can a boy
get for 5 cents?

10. A storekeeper receives 45 cents for 9 balls.. What does he
charge apiece for them ?

11. Louis has 9 pigeons; Henry has four times as many. How
many has Henry ?

12. How many marbles will Mr. Smith have to buy, to give
11 to each of his 4 boys?

18. A mechanic earns $ 24 per week of 6 days. What wages
does he receive for a day's work ?

14. A farmer has 4 horses, 27 cows, and 10 pigs. How many
animals does he own ?

15. A girl spent 9 cents for ribbon. If she had 80 cents at
first, how much money had she left ?

159. Slate Problems.

1. A farmer paid 15 dollars for a sheep, and paid for a cow
20 dollars more than he paid for the sheep. How many dollars
did he pay for both?

2. Mr. Jones raised 90 tons of hay. He sold 65 tons, and
his horses ate 10 tons. How many tons had he left?

8. William sold 8 dozen eggs. How many eggs did he sell?

4. Ellen has 5 cents left after spending 50 cents for a doll
and 20 cents for a work-box. How much money had she at first?

5. A grocer charged 16 cents for a half-pound of butter.
What was the cost of a pound ?

6. If it takes 4 horses to draw 1 cannon, how many horses
will be needed to draw 24 cannons?

7. A street-car conductor collected 85 cents in one trip.
How many people were in the car, if each paid 5 cents?

8. Find the cost of 74 pounds of currants at 10 cents a pound.
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9. When tea is 80 cents a pound, how much will I have to
pay for a half-pound and a quarter of a pound?

10. Sarah buys a reader for 25 cents, a slate for 12 cents, and
a copy book for 10 cents. How much change does she get out of
& half-dollar ?

11. How many 7-dollar suits can be bought for 84 dollars ?

12. Mrs. Brown buys a sideboard for $25, a table for $ 15,
and 6 chairs at $2 each. How much money does she spend ?

13. A farmer has in his orchard 8 rows of peach trees, 2 rows
of cherry trees, and 4 rows of apple trees. How many trees has
he in the orchard, if there are 11 trees in each row ?

14. There are 24 boys in a class. How many boys are there
in 3 classes ?

15. I spent 68 cents for dry goods, and have 22 cents left.
How much money had I at first ?

16. There are 90 eggs in a box. How many will be left after
5 dozen are sold ?

17. Our reader has 87 pages. We read 45 pages last month,
and 80 pages so far this month. How many pages have we yet
to read ?

18. James has 10 marbles, Thomas has 5 more than James,
Edward has 5 more than Thomas. How many marbles have the
three boys?

19. A fruit-dealer has 8 dozen oranges. How many oranges
will he have after he sells 8 dozen ? :

20. How many days are there in April, May, and June?



CHAPTER III

MULTIPLICATION AND DIVISION. —OUNCE AND POUND,—
TWO0 OPERATIONS. — HALVES, THIRDS, FOURTHS, —
MULTIPLICATION BY A MIXED NUMBER.

MULTIPLICATION BY 6.
160. Oral Exercises.

What is the cost of 6 poundsof sugar at six cents a pound?
Of 6 seven-cent dolls? Of 6 quarts of milk at eight cents a
quart? Of 6 yards of muslin at nine cents a yard.

161. Learn the following tables:

2timeslare2 3timeslare3 4timeslare4 5timeslare5 6timeslare6

2 “" 2 “ 4 3 “ 2 ‘“ 6 4 «“ 2 “ 8 5 “ 2 " 10 6 “ 2 “ 12
2 " 3 “ 6 3 " 3 [0 9 4 " 3 [ 12 5 “" 3 [ 15 6 [ 3 (l18
2 “ 4 “ 8 3 “ 4 “ 12 4 “ 4 ‘“ 16 5 “ 4 1120 6 [ 4 1124
2 “, 5 “ 10 3 “" 5 “ 15 4 [ 5 4!20 5 “ 5 1125 6 “ 5 (130
2 ¢ 6123 “ 618 4 “ 624 5 “ 630 6 * 636
2 ¢ 7“14 3 ¢ T2l 4 % T2 5 735 6 ¢ 742
2 " 8 " 16 3 “ 8 u24 4 " 8 x|32 5 ““ 8 4140 6 " 8 4(48
2 “ 9 4(18 3 ‘“ 9 “27 4 “ 9.1136 5 “ 9 1145 6 [ 9 4154
2 1042 3 “ 1030 4 “ 1040 5 “ 10 “50 6 * 10 “60
2 “11%22 3 “ 1133 4 * 11“44 5 “ 11“55 6 “ 11 “66
2 12424 3 « 12936 4 “ 1248 5 “ 1260 8 “ 12 “72

162. Bight Exercises.

Give answers:

3x5b 11x3 5x12 11 x5 Ix4
5x6 6x9 11x 2 4x4 3x1
4x5 11x6 10x 6 3x9 3x6
7x6 5x5 6x11 6x4 10x5

72



8%
4 x
5 X
12 x
9 X
TX
2 X
12 x

5
6
11
5

3
4
8
3
1

MULTIPLICATION AND. DIVISION.

6xX 6
4x 7
2x12
3x 8
4x
4x
9 X
5%
11 x

> © O 00 W

163. Slate Exercises,
Multiply by 6:

1.1,

2.

e o

.1,
.1,

643
264
807
360
605
199
358
647

9. 280
10. 344
11. 1,123
12. 676
13. 1,308
14. 444
15. 1,660
16. 555

164. 8ight Exercises.
Give quotients :

545

11)22

742
3)33
9)36
9)9

3)21
721

648
12)36
6)54
o
10)40
848
o
8)32

T 38
2x11
8x 3
10x 38
5x 8
4x12
5x 7
10x 4
6x12

17.
18.
19.
20.
21.
22.
23.
24.

714
11)44
5)55
5)40
11)33
7)35
3)21
9)54

728
1,628

764
1,448
1,566
1,056
1,358
1,374

8)24
10)30
4)32
6)72
12)48
6)66
448
10)50

Ix 2
8x 6
4x 9
5x10
9%x 5
6x 10

12x 4

6x 7

12x 2

25.
26.
27.
28.
29.
30.
31.

1,632
1,570

998
1,168
1,268
1,232
1,612

32. 1,536

9)45
9)18
3)36
728

11)55
5)60
540

111

73

6x 8
4x10
6 x
10x
12 x
7%
3 X
2 X
8 X

B O WOt DO

83. 1,095

34. 1,665

35. 1,049

-36. 990

37. 1,630
38. 1504
39. 1,320
40. 1,409

1060
8)16
2)18
8)40

10)20
4)44
8)36

12)24
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165. Worocester Publio Schools. — Examination Questions.
1. How many days are there in 3 weeks?
2. How many 2-cent stamps can I buy for 18 cents?

3. 184+7=24 27—?7=18 1447 =22
43-7=35 31—7=24

4. }of18=? Jof24 =2 }of30="?
}of40="? Jof48="?

5. If 1 of a yard of ribbon costs 8 cents, what is the price of
a yard ?

6. At 3 cents a pint, how much will 5 quarts of milk cost?
7. How many thirds are there in 1 apple? In 3 apples?
8.

o
W o weo
R TS
s on & =1 =3
|0\$-2¢Doo

9. A boy earned a dime every day for 5 days. How much
money did he earn? He spent 30 cents for a cap, and a dime
for a blank book. How much money had he left ?

10. 56 54 78 91 47
61 31 24 76 61

82 70 91 52 20

11. Four boys bought a pound of candy. What part of the
pound will each boy have, if it be divided equally among them?

12. Count by 3's to 48. Count by 2's to 50.
13. (28+4)+(6x6)—(17—8)="?
14. Harold has 6 marbles, and Henry has seven times as
many. How many has Henry ?
16. 58 -6—4—-8—-2—9—-7—8—-1—-5=7¢
8+4+6+84+10+94+74+5+3+1="?
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DIVISION BY 6.
166. Slate Exercises.
Divide by 6:

1. 1,728 11. 3,006 21. 5016
2. 1,056 12. 3966 22. 5238
3. 1,314 13. 3348 23. 5910
4. 1566 14. 8582 24. 5652
5. 1926 15. 8726 25. 5814
6. 2484 16. 4284 26. 6,810
7. 2790 17. 4536 27. 6,936
8. 2160 18. 4,068 28. 6,426
9. 2574 19. 4,644 29. 6,234
10. 2,664 20. 4410 30. 6,048

167. 8ight Exercises.

Give missing numbers:

9x?=>54 ?x 5=40
?—6=19 ?4+7=25
24 —-?2=15 12x8="?

168. Original Problems,

Make problems containing the following numbers :

20484745 19—-4
28 -4 5% 6

169. Review. Slate Exercises,
Add:

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

1. 1,792; 816; 54; 937; 208; 4,007; 19.
2. 3857; 20; 9; 64; 583; 6,086; 444 ; 37.

75

7,002 41. 9,240
7,838  42. 9,360
7512  43. 9,426
7,734 a4. 9,540
7,956  45. 9,636
8,436  46. 8,904
8,574 47. 7,500
8664 48. 5,040
8,790 49. 6,336
8,832 50. 4,824
16 +-?=8
?+3=
82+4="?
12%x5
20+2
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3. 2095; 5; 678; 23; 418; 96; 177; 3,456.
4. 1,876; 783; 275; 954; 783; 666; 2,854; 1,009.
5. 8; 75; 466; 4,308; 275; 54; 9; 83; 507.

170. Find differences between :

- 6.
7.

8.

9.
10.
11.
12.
13.

684 and 1,079.
9,101 and 2,345.
7,311 and 5,198.
1,876 and 938.
4,000 and 2,500.
9,000 and 8,970.
6,473 and 5,876.
4,321 and 5,000.

171. Multiply by 2:

21. 4978  22. 3,708
By 3:

26. 1978  27. 3,284
By 4:

31. 2467 32. 2,315

- By 5:

36. 1,800 37. 1,257
By 6: .
41. 1659 42. 1,538
By 7:

46. 1,426  47. 1,364
By 8:

51. 1,234  52. 1,065
By 9:

56. 1,032 57. 1,062

23. 4,837
28. 3,306
33. 2,475
38. 1,683
43, 1,476
48. 1,251

53. 1,143

58. 1,068

14.
15.
16.
17.
18.
19.
20.

24

29.

34.

39.

44.

49.

54.

59.

2,763 and 4,087.
9,002 and 4,932.

9 and 9,000.
7,800 and 6,969.
3,000 and  13.
2,470 and 2,560.
8,000 and 7,999.

. 3,916

2,765

1,899

1,594

1,375

1,403

1,203

1,106

25.

30.

35.

40.

45.

50.

55.

60.

2,185
1,89
1,978
1,738
1,248
1,265
1,152

1,086




By 10:
61. 456
By 11:
66. 612
By 12:
71. 232

MULTIPLICATION AND DIVISION.

62. 354

87. 505

72.

304

172. Divide by 2:

76. 9,876
By 3:
81. 8,988
By 4:
86. 9,788
By 5:
91. 7,895
By 6:
96. 9,840
By 7:
101. 8,022
By 8:
106. 9,968
By 9:
111. 9,504
By 10:
116. 6,460
By 11:
121. 4,422
By 12:
126. 1,212

1.

82.

87.

92.

97.

102.

107.

112.

117.

122.

127.

8,954

7,698

9,964
8705
8,922
8,652
8,504
9,954
5,230
5,533

2,436

63.

68.

T 78,

78.

83.

88.

93.

98.

103.

108.

113.

118.

123.

128.

260

624

215

7,976

9,864

9,856

9,610

9,900

9,555

9,248

9,144

4,120

6,094

1,344

64.

69.

74.

79.

84.

89.

94.

99.

104.

109.

114.

119.

124.

129.

364

530

521

6,958

8,727

8,992

6,835

8,814

9,912

8,620

9,558

3,340

3,443

2,656

65.

70.

75.

80.

85.

90.

95.

100.

106.

110.

115.

120.

125.

130.

7

625

456

605

5974

7,908

8,708

7,990

7,830

7,392

8,480

9,576

2,530

2,365

1,500
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173. Oral Problems.

1. Spent 75 cents for a book, and 10 cents for a slate. How
much was paid for both ?

2. Ifa girl pays one cent for 5 jackstones, how many cents
would she have to pay for 25 jackstones?

3. A pound of butter costs 24 cents. How much will }
pound cost ?

4. If } pound of sugar costs 3 cents, what is the price of &
pound ?

6. At $5 per ton, how many dollars will I have to pay for
6 tons of coal?

6. How many feet have 12 cows ?

7. If 24 children, at a party, eat 4 pint of ice-cream each,
how many pints will they all eat?

8. How many oranges are there in a box containing 5 dozen?

9. A woman pays $18 for material for a dress, and $6 for
making it. How much does the dress cost?

10. I pay 10 cents for } pound of candy. How much would
I have to pay for 4 pound? '

174. Blate Problems.
1. Find the cost of 6 coats at $15 each.

2. If 6 marbles are sold for one cent, how much will a boy
have to pay for 84 marbles?

3. What is the price of a half-yard of lace when a yard
costs 90 cents?

4. At 6 cents a pound, how many pounds of sugar can you
buy for 96 cents?

5. What will be the cost of 3 base-balls at 25 cents each ?

6. A storekeeper sells marbles at 13 for a cent. How many
marbles can be bought for 5 cents?
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7. At 3 for a cent, how many cents would I have to pay
for 99 slate pencils?

8. If there are 24 hours in'a day, how many hours are there
in 3 days?

9. John has 136 postage stamps, and William has 4. How
many have they together ?

10. By selling a ball for 75 cents, I lost 5 cents. What did
it cost me?

11. What will be the cost of 6 cans of corn at 13 cents a can?

12. How many pounds of 4-cent flour can be bought for 64
cents? ‘

13. Harry learns to spell 14 words a day. How many does
he learn in 5 days?

14. How many quarts are there in 18 gallons ?
15. How many quarts are there in 64 pints?

16. A girl goes to school 5 hours a day. How many minutes
does she attend school if there are 60 minutes in an hour?

17. There are 4 classes in a school, and 24 pupils in each
class. How many pupils are there?

18. What will be the cost of 2 dolls at 49 cents each?

19. Paid 48 cents for 3 yards of cambric. What was the
price of 1 yard ?

20. A boy sold some newspapers for 50 cents; he made 25
cents profit. What did the papers cost him ?

21. A Noah’s ark contains 15 animals. How many animals
in 6 Noah's arks?

22. A train went 96 miles in 3 hours. How many miles did
it go in one hour?

23. Fifty pupils belong to a certain class; 13 are absent.
How many are present ?

24. On Friday there were 68 pupils present in school, and 12
abgsent. How many pupils belong to the school?
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25. Eighty children attend a strawberry festival; each one
eats one-half pint of ice-cream. How many pints are eaten?

26. How many quarts are there in 90 pints?

27. What would be the cost of 6 velocipedes at $ 13 each?

28. A circus owner paid $92 for 4 monkeys. How much
apiece did they cost?

29. The fare on a certain railroad is 8 cents a mile. How
many miles can I ride for 96 cents?

30. A street-car conductor receives 5 cents fare from each
passenger. How many passengers has he, if he receives 75 cents
for fares?

QUOTIENTS AND REMAINDERS.

175. Divide 13 by 2.

The dividend 13 contains the divisor 2, 6 times with 1 remainder. 2213
The remainder is written over the divisor. The answer is read six 6}
and one-half.

Divide 27 by 4.

The quotient is 6, and the remainder is 3. The answer is 6}, read six
and three-fourths.

In like manner 42 +5=8%; 67 +6=11}.

176. Blate Exercises.

Find answers:

© 0O -3 O O

1. 87+2 11. 370+ 3 21.1200+9 31. 6,833+

2. 195+4 12. 289+ 6 22. 1,001+8 32. 9,545+

3. 415+6 13. 359+ 7 23. 1416+7 33. 4,238+

4. 230+3 14. 421+ 8 24. 2593+6 34. 4,005+

5. 954+5 15. 370+ 9 25. 4976+5 85. 4,555+

6. 1607+2 16. 453+10 26. 7,577+4 36. 234910

7. 295+3 17. 567+11 27. 6872+3 37. 3,367+11

8. 163+4 18. 60712 28. 9,503+2 38. 4877~+12

9. 809+6 19. 1354+11 29. 8761+3 39. 5611+11
10. 756+5 20. 1,247+10 30. 7,699+4 40. 3,803+ 9
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MULTIPLICATION BY A MIXED NUMBER.

177. Bight Exercises.
Give answers:

}of 24 $of24  }of24 3 of 24
4of 24 4 of 24 }of 24 4 of 24
$ of 24 4of 24 $of 24 4 of 24
§of 24 §of 24 24 x 1} 24 x 1}

24 x 13 24 x 13 12x13  12x1}
12 x 2} 12 x 2} 12 x 2} 12 x 2%

178. 8late Exercises.
Find answers:

1. 26x 1} 11. }of 96 - 21. 120 x 9}
2. 39x1} 12. § of 96 22. 126 x 14
3. 60x 1} 13. 120 x 1} 23. 126 x 1}
4. §of39 14. 120x 2} 24. 126 x 1}
6. § of 56 15. 120 x 3} 26. 124 x 2}
8. $of 75 16. 120 x 4} 26. 240 x 1}
7. 48 x 1} 17. 120 x 5} 27. 760 x 1}
8. 56 x 1} 18. 120 x 6} 28. 840 x 3}
9. 15x 1} 19. 120 x 7} 29. 960 x 4}
10. % of 120 20. 120 x 84 30. 380 X 4}

179. Oral Problems.

1. I bought 6 pounds of 4-cent sugar and gave the store-
keeper 25 cents. How much change should I receive?

2. How much must be paid for a 10-cent doll, and § yard of
damask at 40 cents a yard ?

3. If two oranges cost 6 cents, how many cents will 5 cost ?

4. What will I pay for a gallon of milk at the rate of 3 cents
a pint ?
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5. Find the cost of three-fourths of a yard of 8-cent muslin.

6. A boy had 25 cents. He spent 10 cents for a base-ball
How many 5-cent bats can he buy with the rest of his money?

7. What will 8} pounds of 6-cent sugar cost?

8. Sarah buys two 12-cent goblets and a yard of 9-cent rib-
bon. How much money does she pay for all ?

9. If there are 16 ounces in a pound, how many ounces are
there in three-fourths of a pound ?

10. When butter is 24 cents a pound, what part of a pound can
be bought for 6 cents?

180. Slate Problems.

1. Bought 4 yards of cambric at 13 cents a yard. How
much change do I receive if I give the clerk 75 cents ?

2. What would be the cost of 4 pound of 70-cent tea and 25
cents’ worth of eggs?

3. If 2 sheep cost $26, how many dollars would I have to
pay for 5 sheep ?

4. What would be the price of a gallon of ice-cream at the
rate of 12 cents a pint?

6. Find the cost of § of a pound of 60-cent tea.

6. A man has §90. He buys a cow for $45. How many
‘sheep at $5 each can he buy for the remainder of his money ?

7. What will 8} yards of lace cost at 24 cents a yard ?

8. Mary buys 6 goblets at 13 cents each and a yard of silesia
for 15 cents. How much money does she pay for all ?

181. There are 16 ounces in a pound. Write ounce, oz.; pound, Ib.

9. How many ounces are there in 2} pounds?




182. Write one thousand in figures.
thousand.

NUMBERS OF FIVE FIGURES. 83

NOTATION AND NUMERATION.

Nine thousand. Ten
Eleven thousand. Twelve thousand. Thirteen thou-

sand. Twenty thousand. Thirty thousand. Forty-one thousand.
Fifty-two thousand. Sixty-three thousand. Seventy-four thou-
sand. Eighty-five thousand. Ninety-six thousand.

183. Read the following:

97,000 56,789 60,706 11,010‘ 10,100
50,800 90,001 23,456 33,333 11,100
10,000 84,000 67,890 70,007 10,111
11,000 40,900 89,998 34,567 44,444
11,101 10,001 78,000 78,900 80,080
11,111 10,011 30,600 70,503 45,678
56,789 11,110 10,010 65,000 89,000
12,345 22,222 10,101 20,100 67,008
A84. Write:

Forty-seven thousand eight hundred sixteen.
Eleven thousand eleven.

Four thousand four.

Ninety thousand nine.

Sixty-two thousand sixty-two,

Forty-five thousand eight hundred ten.
Ninety-nine thousand nine hundred ninety-nine.
Four hundred seven.

Eighty-three thousand six hundred eighty.
Fifty thousand five hundred five.
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185. Read the following:

4,263 24,734 6,412 82,487 61,005
77,481 4,084 36,073 8,000 26,789
91,733 1,875 87,091 707 15,897
49,137 18,765 50,008 6,040 5,678

7,009 79 19,109 89,364 3,709
54,020 95,687 45,606 90,500 40,002

2,244 45,000 80,020 8,964 71,435
20,000 25,045 68,817 72,000 5,031
30,087 62,990 17,717 25,020 80,200
78,003 88,502 15,480 17,901 40,898

OLXXVI X0IX XLVIII XXXIV LXXXVII

186. Add across. Add down.
1+ 34+ T4 84 44 2=7
20+ 40+ 70+ 90 + 304 50=2
3004+ 5004 8004+ 2004 6004+ 400="?
4,000 + 6,000+ 5,0004 7,0004 8,0004 1,000=7?
10,000 + 10,000 4 10,000 + 10,000 4 10,000 + 10,000 =?
? 4+ ?2 4+ ?2 4+ ?2 4+ ? 4+ ? =?

Add down. Subtract across.

9— 6=7? 7— 4=7
70— 80=1? 80— 20=7?
800— 200="? 900 — 300="?
9,000 — 1,000=7? 6,000 — 2,000="7?
40,000 — 10,000 ="? 50,000 — 40,000 =?

? - 7 =2 P - ? =?



MULTIPLICATION AND DIVISION.

MULTIPLICATION BY 1.

187. Make table of 7's.

188. Sight Exercises.

Give products :
3x 1T
1x7

11x7

189. 8late Exercises.
Multiply by 7:

[
e

A N R

14
15
17
22
24
103

. 2056

307
409
510

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

190. Slate Exercises.

61.
52.
63.
b4.
55.

Divide by 7:
91 6.
112 57
147 58
161 59
175 60

’

85

6x7
5x 7
Tx7

41. 11,076
42. 12,085
43. 13,960
44. 14,081
45. 10,628
46. 12,598
47. 11,675
48. 10,989
49. 10,999
50. 11,999

71. 651
72. 184
73. 8,556
74. 2,212

Learn it.

2%x17 4x7

8x 17 10x17

Ix7 12x 17
26 21. 95 81.1016
33 22. 121  32. 2,320
35 23. 608 33. 3,006
42 24. 315 34. 4,027
45 25. 422 '85. 5,309
53 26. 706 36. 6,028
54 27. 625 37. 7,123
66 28. 813 38. 8,650
70 29. 276 39. 9,321
82 80. 365 40. 9,876

DIVISION BY 1.

714 61. 189 66. 378 -

. 1,428 62. 238 67. 392
. 2,142 63. 252 68. 469
. 2,849 64. 301 69. 560
. 8,563 65. 322 70. 588

75. 2,975
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76.
7.
78.
79.
80.

4,249
4,382
5,698
1,960
2,562

81.
82.
83.
84.
86.

191. Review.

Find answers:
101.
102.
103.
104.
106.

7)849
6)849
5)849
4)849
3)849

ARITHMETIC.

7,098 8e.
16,247 87.
21,049 ss.
28,196 89.
37,156  90.

108.
107.
108.
109.
110.

i B -

192. Multiply by 8:

121.

2,460

By 9:

125.

1,507

By 10:

129.

3,571

By 11:

133.

1,304

By 12:

137.

2,030

122.

126.

130.

134.

138.

193. Divide by 8:

141.

24,327

By 9:

145.

32,140

142.

146.

3,571

2,306

1,346

2,460

3,151

50,005

12,119

42,140
50,491
59,920
63,861
72,982

111.
112.
113.
114.
115.

91.
92.
93.
94.
95.

79,569
87,556
95,263
96,439
48,048

600+ 7
509+ 6
609 +5
607+ 4
307 +3

123. 6,052

127

131.

136.

139.

. 8,754

2,456

3,507

4,263

143. 30,063

147. 22,102 -

96
97
98
99
100

1186.
117.
118.
119.
120.

. 59,059
. 62,062
. 75,075
. 88,088
. 99,099

4 of 273
}of 432
4 of 865
§ of 728
4 of 861

124. 3565

128. 4,69

132. 2,301

136. 4,321

140. 5,174

144.

148.

.

28,569

20,710



By 10:
149. 24,327
By 11:
153. 28,347
By 12:
157. 24,361

194. Add:

161. 4,263

17,481 -

1,738
9,137
7,009
34,020
2,244
987
63

165. $610.05
67.89

8.97

6.78

37.09

14.85

50.31

2.00

.93

REVIEW.
150. 30,063 151. 26,579
164. 25,345 165. '26,800
158. 48,731 169. 37,812
162. 24,734 163. 685
4,389 7,412
1,875 36,073
679 8,791
84 5,008
376 19,109
5,007 5,678
34,060 895
9,988 84
166. $24.60 167. $487.31
150.78 78.12
35.71 » 51.57
413.04 4.36
31.51 67
4963 25.34
5.74 106.83
85.69 57.50
7 3.87

87

152. 37,543

156. 38,577

160. 51,157

164. 9
88

7

6,666

55,555

4,444

333

22

168. $164.75
23.46

35.07

121.19

300.63

65.79

74.35

8.04

10.60

169. 347 8,865+ 24,795+ 9,876 + 4,050 + 16,984 + 6,395 4
10,034 + 1,776 +- 235.

170. 13,275 4 9,083 + 22,659 4 3,876 + 248 4- 1,207 4- 14,307

4+ 2,369.
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195. Find differences between:

171. 90,876 and 89,967, 179. 17,246 and 83,111.
172. 10,000 and 9,090. 180. 60,301 and 54,287.
173. 84,378 and 90,000. 181. $900.00 and 30 cents.
174. 50,101 and 51,010. 182. $742.65 and $8.37.
175. 36,599 and 36,700. 183. $9.16 and $916.00.
176. 43,285 and 37,967. 184. $3.40 and $543.21.
177. 54,283 and 25,179. 185. $1,234.50 and $3.75.
178. 38,000 and 43,584. 186. $98.75 and $1,000.00.

196. Oral Problems.

1. What will be the cost of a 10-cent piece of soap, and 7
pounds of cheese at 11 cents a pound ?

2. Forty-eight quarts are how many gallons ?

3. How much will be paid for 12 yards of gingham at 7 cents
a yard ?

4. If 2spools of thread cost 10 cents, what will 10 spools cost ?
6. What must I pay for 1} yards of 24-cent ribbon ?

6. There are 12 months in a year. How many months are
there in 3} years?

7. How many ounces are there in 1 pound 9 ounces?

8. At 48 cents a gallon, what will be the cost of a pint of
molasses ?

9. A farmer’s wife had 60 eggs. How many dozen did she
have?

10. What is the cost of § of a yard of serge at 40 cents a
yard ?
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197. 8late Problems.

1. What will 7 bushels of wheat weigh, if there are 60 pounds
in 1 bushel ?

2. Find the weight of 8 bushels of corn, if a bushel of corn
weighs 56 pounds.

3. $750 are paid for 5 horses. How much does 1 horse cost?

4. A man buys a box containing 30 dozen oranges. How
many oranges are there in the box ?

6. A box contains 60 lemons. If one-fourth of them are bad,
how many good ones are there in the box ?

6. What will be the cost of 5} yards of gingham at 18 cents
a yard?

7. 280 pupils attend a certain school. If one-seventh of them
are absent, how many pupils are present?

8. How many gallons are there in 320 pints?

9. How many ounces are there in 8 pounds 4 ounces?

198. Bight Exercises,
Give products :

8x3 Tx 4 5% 9 6x T 8xX 5
2x8 3x 9 4x7 T 9 12x 6
5x 17 12x 4 10x5 8x 6 Ix 7
11x6 5x b 7% 8 12x 7 5x12
8x17 6x 8 9% 6 5x 8 4x 9
6x9 7x12 2x8 6x 10 7x 8
12x 5 4x 8 Tx7 12x 8 11x 7
199. Give quotients:
24 +3 54+ 6 60-+5 24+ 8 27+ 9
16 -8 48 = 4 2545 48+ 8 84+ 7

35+ 17 32+ 8 45+9 28+ 4 50+ 5



66 +6 56+ 8
56+ 7 42+ T
40+ 8 60 + 10
63+ 7 60 + 12

ARITHMETIC.

54+ 6
63 -9
36+3
36-+9

16+ 8
48+ 6
40+5
56 — 8

MULTIPLICATION BY 8.

200. Make table of 8's.

201. Blate Exercises.

Multiply by 8:

21.
22.
23.
24.
25.
26.
27.

Learn it.

38
47
56
65
74
83
92

24 18. 80 28. 101
25 19. 91 29. 203
31 20. 29 30. 305

1. 13 11. 33
2. 14 12. 35
3. 15 13. 41
4. 20 14. 43
5. 21 16. 52
6. 22 16. 61
7. 23 17. 73
8.

9.

-
i

31.
32.
33.
34.
36.
36.

37
38
39
40

407
509
613
717
821
935
. 1,050
. 2,185
. 3,456
. 4,083

DIVISION BY 8.

202. Sight Exercises.

Give answers :

2 35 63
8 T ]
40+ 8 63 17 81+9
6)44 9)27 8)56
9)45 2)25 8)32
6)37 753 8)59

72

6
72+ 8
B4
45
9)50

41.
42.
43.
44.
45.
46.
47.
48.
49.
60.

49+17
8417
726
71

5,167
6,234
7,568
8,290
9,067
9,408
10,234
12,046
11,507
10,345

77

7

64 -8

5)60
5)44
9)10
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203. Slate Exeroises.

Divide by 8:

1. 104 7. 184 13. 376 19. 808 25. 5,736
112 8. 192 14. 448  20. 1,624 26. 6,568
120 9. 200 16. 520 - 21. 2440 27. 7,480
160 10. 248 16. 592 22. 3,256  28. 8,400
168 11, 232 17. 664 23. 4,072  29. 17,080
176 12. 304 18. 736 24. 4904  30. 27,648

L

204. Oral Problems.

1. If 2 oranges cost 6 cents, what will I have to pay for 8
oranges ? » )
2. What will 8 pairs of shoes cost at $4 per pair?

8. A farmer had 39 sheep in one flock, 8 in another, and 10
in another. How many sheep had he in all?

4. Ellen gathered 11 quarts of berries, Mary gathered 2
quarts less than Ellen. How many did both gather?

5. Frank's aunt gave him 50 cents. He gave 10 cents for a
slate, and spent the rest for lead-pencils at 5 cents each. How
many pencils did he buy ?

6. What will be the fare for 11 boys at 8 cents each ?

7. There are 46 maple trees in a park, 10 pine trees, and 9
oaks. How many trees are there in the park?

8. A man bought a wagon for $35. He spent $10 fixing it.
‘What would he gain by selling it for $50?

. 9. A grocer bought 36 eggs at  of a cent apiece. How
many cents did the eggs cost him ?

10. Jane had 48 cents; her mother gave her 10 cents, and
she spent 50 cents. How much money had she left ?
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11. How many dollars will I have to pay for 2 barrels of
flour, at' $5% a barrel ?

12. A dealer bought coal for $4.50 per ton, and sold it for $5.
How much did he gain?

13. There are two stables with 14 horses in each. How many
horses are there in both ?

14. If § a pound of sugar costs 3 cents, what will be the cost
of 5 pounds?

15. If 96 marbles are divided equally among 8 boys, how
many will each receive?

205. Slate Problems.

1. If 2 pounds of raisins cost 26 cents, what will be the cost
of 7 pounds? B

2. What will 8 overcoats cost at $15 each?

8. A drover bought 39 oxen from one man, 48 from a second,
and 59 from a third. How many oxen did he buy ?

4. Mr. Lane sold 45 bushels of apples; his neighbor sold 10
bushels less. How many bushels did both sell ?

6. A boy went to the store with 90 cents. He boughts
pound of lard for 22 cents, and spent the rest for flour at 4 cents
a pound. How many pounds of flour did he buy ?

8. What will be the fare for 34 boys at 3 cents each?

7. There are 24 maple trees in a park, and 26 more chestnut
trees than maples. How many are there of both kinds?

8. A man bought an ox for $37. After spending $23 in
feeding it, he sold the ox for $78. What was his profit ?

9. Find the cost of 4} pounds of coffee at 24 cents a pound.

10. A merchant had 48} yards of calico. He sold 35§ yards,
and bought 52 yards. How many yards had he then?
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11. What will 2 yards of ribbon cost at 16} cents a yard ?

12. How much profit is made on an article that costs $3.75
and is sold for $5°? .

13. How many pints are there in 42 quarts 1 pint?

14. A store-keeper received $1.40 for 4 pounds of butter.
What was the price per pound ?

15. How many ounces are there in 5} pounds?

16. How many ounces are there in 5 pounds 4 ounces?

17. When tea sells for 5 cents an ounce, how much does one-
fourth of a pound cost ?

18. A dealer bought 20 quarts of milk at 16 cents a gallon.
How much did he pay for it ?

19. What will 3 dozen lemons cost at 2 cents each ?

20. If 8 pounds of sugar cost 48 cents, what will be the price
of a half pound ?

21. A farmer has 92 acres in 4 ﬁelds of equal size. How
many acres are there in 3 fields?

22. A store-keeper had 24 hammers. He sold one-fourth of
them at 15 cents each. What did he receive for them ?

23. Mr. Day had 84 sheep. He kept 70 of them, and sold
the remainder at $7 apiece. How much did he get for the ones
he sold ?

24. How many quarts in a barrel of oil that holds 45 gallons?

26. There are 24 hours in a day. How many hours are there
in a week?

26. A farmer has 16 cows in one stable and three times as
many in another stable. How many cows has he in both
stables ?

27. How many boxes holding 8 ounces each will 5 pounds of
candy fill ?
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MULTIPLICATION BY 9.

206. Make table of 9's. Learn it.

207. 8late Exercises,

Multiply by 9:

13 11. 34 21. 39 31.
14 12. 36 22. 46 32.
15 13. 41 23. 55 33.
20 14. 43 24. 64 34.
21 15. 54 26. 73 35.
22 16. 62 26. 81 36.
23 17. 75 27. 92 37.
24 18. 82 28. 102 38.
25 19. 93 29. 204 39.
32 20. 28 30. 728 40.

® ® X e ok ®W N

[y
i

DIVISION BY 9.
208. Slate Exercises.

Divide by 9:

51. 117  89. 225 87. 657 76.
52. 126  60. 279 68. 720 76.
53. 135  61. 297 69. 819 77.
54. 180  62. 315 70. 261 78.
55. 189 3. 369 71. 387 . 79.
56. 198  64. 387 72. 423 80.
57. 207  66. 414 73. 504 81.
58. 216  68. 549 74. 585 82.

832

946
1,051
2,143
3,465
4,093
4216
4,436
5,025
5,173

666
747
828
909

1,827

2,745

3,663

4,581

41.
42.
43.

45.
46.
47.
48.
49.
50.

83.

85.
86.
87.

88
89
90

6,018
6,342
7,685
8,370
9,067
10,345
11,067
10,489
10,523
10,658

5,511
6,453
7,389
8,415
9,450
. 19,12
. 45819
. 65,214
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209. Divide by 8. By 9.

91. 140 94. 482 97. 804 100. 627
92. 217 96. 675 98. 902 101, 914
93. 361 96. 777 99. 405 102. 375

210. Oral Problems.

1. William has 10 marbles; Edward has 5 more than Wil-
liam. How many marbles have both boys?

2. James spent 50 cents for a ball, and 80 cents for bats.
How much did he spend ?

8. If candy is 40 cents a pound, what will § pound cost?

4. If  pound tea costs 20 cents, how much will I have to
pay for § pound?

5. If 3 peaches cost 9 cents, how many peaches can I buy for
15 cents?

6. Three-quarters of a pound of butter costs 24 cents; how
many cents does one-quarter of a pound cost ?

7. A boy has in his bank a quarter, a dime, a half-dime, a
3-cent piece, a 2-cent piece, and a cent. How much money
has he?

8. What part of a pie will be left after three children have
each received one-fourth of it ?

9. What will be the cost of 1 quart 1 pint of ice-cream, at 20
cents a pint? ‘
10. How many cents will 1 ounce of cloves cost at 40 cents
for } pound ?

11. A farmer has two cows and a calf. One cow gives 20
quarts of milk a day, the other gives 25 quarts; but the calf
drinks 15. How many quarts a day has the farmer to sell ?

12. How many half-pints in a quart of ice-cream ?
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13. A boy takes 75 cents to the store to get 25 cents’ worth of |
eggs, and the remainder in 5-cent sugar.  How many pounds of
sugar does he get?

14. A farmer brings to the store 4 dozen eggs worth 20 cents
a dozen. How many yards of 8-cent muslin can he buy for the
money ?

156. What will be the cost of 3} pounds of flour at 4 cents a
pound, and 4 pound of butter at 20 cents a pound ?

211. 8late Problems.

1. How many tons of coal at $5 a ton can be bought for
$200?

2. A milkman sells 8 cans of milk a day, each can holding 10
gallons. How many quarts does he sell ?

3. A merchant takes in $18 on Monday; on Tuesday, $3
less; on Wednesday, as much as on Monday and Tuesday
together. How many dollars does he take in on the three days?

4. A man buys horses at $100 each, and sells them at $120
each. "What is his profit on 4 horses?

6. There are 2 floors in a school building, and 4 rooms on
each floor. How many pupils are in the school if there are 40
in each room ?

6. How much will 4 dozen eggs cost at 2 cents for each egg?

7. There are 24 hours in one day. How many hours are
there in 9 days?

8. A newsboy sold 23 papers at 3 cents each, and 30 at !
cent each. How much money did he get for them ?

9. There are 16 ounces in 1 pound. How many ounces are
there in 9 pounds?

10. A man earns $ 100 per month and spends §$ 75 per month.
How much money will he save in 3 months?
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11. Find the sum of 36 and 45; subtract from it 65; multiply
the remainder by 6; divide the product by 8. What is the
quotient ?

12. What will be the cost of 2} yards dress goods at 32 cents
per yard ?

13. How many dollars will a woman pay for 6 pairs of shoes
at $ 3 per pair, and an overcoat at $12?

14. A man sells 7 sofas at $14 each. If they cost him $ 75,
what is his profit?

16. A man has 90 cents in silver. He gives } of it to his
wife. The remainder he divides equally among 4 children.
How many cents does each child receive ?

212. Review.
Add:

1. 34216 2. 84657 8. 378 4. 64,027 . 9
1,579 2,070 4154 3,589 81
381 3,889 1,765 4706 630
4006 573 28,309 520 1,284
25,718 28 6,524 1,879 15,408
6,285 6 893 20,006 6,275
946 57 25,065 3,845 497
57 1,085 84 217 62

’
213. Find answers:

6. 80,000 7. — 13,398 8. 75191 9. — 89,688
— 57,059 27,684 — 74,909 90,235

214. Oral Exercises.

1. 30f14 6. §0f 77 9. 30f55 13. §of 24 17. § of 45
2. 30f21 6. 30f40 10. §of 72 14. 7 of 32 18. § of 36
3. 40f28 7. 30f60 11. 3of 80 15. § of 63 19.  of 27
4. 50f35 8. 40f60 12. §0of16 16. §of 54 20. § of 18
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215. Slate Exercises.
1. 2 0of 98 6. 28x 14 11. 28x6} 16. 600 x 7}
2. § of 105 7. 28x 2} 12. 24x9%F  17. 276 x 2}
3. $of 112 8. 28 x 3} 13. 36x8}  18. 888x3}
4. $of 119 9. 28 x 44 14. 84x3F 19. 999x 4
5. $0f126  10. 28 x 5} 16. 100 x4}  20. 555 x 2}

MULTIPLICATION BY 10.

10x6="? 10x7="? 10x9="?

216. What is the last figure of each product? If we multiply
8 by 10, what figure do we join to the 3?7 When 5 is multiplied
by 10, what figure is joined to the 5? .

217. Sight Exercises.

10x 10 11 x 10 12x 10 13x10
14x 10 15x 10 17x 10 20x 10
25 x 10 37x 10 49 x 10 55 x 10
63 x 10 72x 10 8110 99 x 10

DIVISION BY 10.

218. When we divide 90 by 10, what is the quotient ? What
figure of the dividend is dropped in the answer?

’

219. Sight Exercises.

80-+10 100 =10 120 =10 160--10
190 =10 240 +— 10 300+ 10 36010
400 =10 450 = 10 510+ 10 620 =10

790+ 10 870+ 10 960 = 10 1,000 + 10
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) SPECIAL DRILLS.

220. Give sums:
50430 20460 50440 40 4 50 30 + 60
70 + 20 30 + 30 30 + 20 60 + 20 40 + 20
20 + 40 20 470 20 4 50 404 40 50 4 20
40 430 60 + 80 30 + 40 30+50 20430

221. Give remainders:
90—50  50—20 80 —40 50 — 30 90— 70
80—30 80— 60 70—-30 90 — 40 80 — 50
40— 20 70 — 20 60 — 40 60 — 20 70— 40
60—80  90—-30 - - 90—60 70—50 90 — 20

222 Give products: : _
20x 2 3x 30 20x 4 +x90 20x 3

2 x 30 20x 3  }x60 - 80x } 3% 40
30x 3 2x 40 80x } 8 20 2x 20
4% 20 30x 2 40x 2. 3 x 80 90x }
223. Give results: _
40+ 2 90 + 80 80+ 4 3 0f 60 40 + 20
60 + 30 60+ 3 }of60 60 + 20 }of 90
90+ 3 80 +- 40 80+ 2 3 of40 30f40
80+ 20 60+ 2 3080 $0f30 $of 80

"224. Give results:

P++ 01—} 4x} 1+3 1+1
13+43 2—1% }x10 . 2+% }+1
2+ 5—4 20X % 5+4% 2+1
5} +1 10—} 3 x40 10+ } 8+1
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225, Oral Problems.
1. What will be the cost of 3 pounds coffee at 30f per
pound ?

2. There are 100 cents in a dollar. How many cents in }
dollar?

3. What will I have to pay for 4 readers at 20 cents each?

4. A boy pays 50 cents for a pair of skates and 20 cents for
a pound of candy. How much money does he spend ?

5. What will be the price of } pound of 80-cent tea ?
6. Find the cost of } yard of silk at 60f per yard.
7. A store-keeper sells 80 marbles for 20 cents. How many
does he sell for 1 cent?
8. There are seats for 40 pupils in 1 class-room. For how
many pupils are there seats in 2 rooms ?
9. A man bought 3 pounds of 20-cent coffee. How much
did he pay for it?
10. How many ounces in 10 pounds?
11. How many quarts in 80 gallons?
12. The pupils of a certain class solve 20 problems each day.
How many do they solve in 5 days?
13. A farmer had 90 sheep. How many did he have after
gelling 50 sheep ?

14. A family uses 3 quarts of milk a day. How many quarts
are used in a month of 30 days?

DIVISION BY 10.
226. 19+10=14 27+10=? 33+10="?

Notice the remainder.
101+10=? 1183+10=? 127+-10="
What figure of the dividend is the same as the remainder ?
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227. Sight Exercises.

87+10 1038 + 10 127 +10 © 161+10
192+ 10 . 24910 30110 363 = 10
40210 49010 515+ 10 626 + 10
697 + 10 718+-10 823 =10 998 + 10
228. Slate Exercises. Review.
Add: )
1. $186.54 2. $493.05 3. $936.84 4. $1,925.84
43.79 27.56 27.00 600.03
287.60 8.32 18.95 285.92
.65 .95 38 . 67.15
9.83 04 6.22 496.88
354.00 ) 1.18 25.80 37.23
2.93 23.59 47.11 4,286.84 -

12.08 186.18 164.08 99

6. Two hundred eighty-seven dollars and sixteen cents;
ninety-four dollars and ten cents; four thousand two hundred
seventy-eight dollars and five cents% seventy-three thousand six
hundred twenty-nine dollars; eight thousand eight dollars and
eight cents; ninety-nine cents; twenty-five dollars eleven cents;
four cents.

229. Subtract:

6. $198.50 7. $200.00 8. $600.00 9. $361.82 10. $983.27
29.86 83.07 .07 279.93 486.00

11. From nine hundred sixty-two dollars and eighty-four
cents take five hundred seventy-six dollars and seventy-six
cents. '

12. Find the difference between eight hundred four dollars
and ninety-three cents and nine hundred dollars.

13. From ninety-nine dollars take ninety-nine cents.
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14. I paid eighty-four dollars and twenty cents for some tea
and sold it for one hundred five dollars and fifteen cents. What
was my profit ?

16. Find the difference between six hundred seventy-five dol-
lars and eighty-nine cents and four hundred eighteen dollars and
ninety-eight cents.’ :

230. Multiply :
16. $1.65 17. $22.75 18. $101.50 19. $83.75 20.- $29.63

8 6 4 5 7

231. Divide:
21. 3)$29.70 23. 52$191.75 25. 7_@130.13
22. 4)$86.00 24. 6)$240.78 26. 8)$902.00

232. Oral Problems.

1. What will a boy have to pay for a 60-cent pair of skates
and a 30-cent pair of gloves?

2. Henrietta bought 3 yards of dress goods at 30 cents per
yard. What was the amount of her bill ?

3. A girl has 20 cents in her bank. How many more cents
must she get to have half a dollar?

4. What will be the cost of a 50-cent ball and three 10-cent
bats ?

5. How many packs of fire-crackers at 4 cents each can be
bought for 80 cents ?

6. John received 30 cents from his father and 20 cents from
his mother. How many baseballs at 10 cents each can he buy
with the money ?

7. Mary has 60 cents. Jane has 20 cents less. How many
cents has Jane?

8. If 3 pounds of coffee cost 90 cents, what will be the cost
of 1 pound ?
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9. How many pounds of tea at 40 cents a pound can a per-
son buy for 80 cents?

10. How much cloth worth a dollar a yard can be bought for
25 cents?

233. Slate Problems,

1. Find the cost of 4 barrels of flour at $5.50 per barrel.

2. If 3 yards of silk cost $7.50, what is the price of a yard ?

3. Divide $18.60 among 12 persons, giving each the same
amount.

4. A man gave 6 boys 10 cents each and had 25 cents
remaining. What had he at first?

6. How much change from a dollar bill will a person receive
who buys 5 yards of lace at 17 per yard?

6. If I pay 90 cents for 8 yards of linen, what would I have
to pay for 1% yards? .

7. A man had 96 chestnuts. He divided one-half of them
equally among his three children. How many did each receive ?

8. If 6 dozen eggs cost $1.44, what is the price of 1 dozen?
Of 1 egg?

9. A man earns $2.50 per day, and spends $2.10. How
much will he save in 2 days?

10. What will be the cost of 1§ yards of ribbon at 40 cents
per yard?

234. flate Exercises.

Multiply :
1. 84x4F 6.119x9} 11. 576 x 74 16. 180x 12}
2. 63x8fF 7.240x84; 12. 177 x 5%  17. 336 x 10}
3. 96x5} 8. 522x4} 13.252x3} 18. 480x 11}
4. 84x T} 9. 344x9F 14. 315x8} 19. 432x 12}
5. 120x 6% 10. 576 x 2, 16. 125X 6}  20. 121 x 114
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235. FPhiladelphia Public Schools. — Oral Work.

1. Place before the pupil the following expressions. Require
him to perform with splints or pencils the operations indicated : —

15+5 3 of12

2. 9484 6 11. 25 is how much more than 16?

3. 15—-9+412 12. 26 is how much less than 35?

4. 2845— 6 13. 32 and 10 are how many ?

5. 32—6+ 8 14. In 45 are how many tens and ones?
6. 8times5 15. How many 8's are in 48?

7. 4 times 9 16. How many 12's are in 36 ?

8. 7times6 17. In 54 are how many 9's?

9. 12x5 18. Five times 8 are how many 10's?

10. }of20x9 19. 9 X 8-+12=what number?

20. Ask the pupils to look at the teacher’s desk. Ask them
to tell how high it is, and how long it is.

21. If 3 pounds of coffee cost 6O cents, what is the cost of one
pound ?

236. Written Work.
1. To 43 add 17. Take 25 from the sum.
2. From 75 yards take 28 yards.
3. Multiply 18 by 5.
4. Divide 76 by 9.
5. Mary is 31 years old and Fanny is 15 years younger.
What is Fanny's age?
6. If 3 bushels of apples are in one barrel, how many barrels
will 84 bushels fill ?
7. John earned 25 cents one day, 18 cents another day, and
35 cents another day. How much more must he earn to have a
dollar ?
8. Draw an oblong. Place a dot on each corner. Place two
other dots near the middle of each side.
Do an example to show how many dots are on five such oblongs.
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. HALVES.
237. 8ight Exerocises.

Add:
1 half pie+1 half pie  $1+$1% 1} pt. 44 pt. GD
31b.4+31b.+%1b. 2} o0z. 440z 2byd.+1yd

2} feet 2% qt. 21 gal. 33 5}
2 feet 1} qt. 2} gal. 24 13
13 1} 24 3% 4
3 4 % 4 3
238. 8late Exercises.
Add:
1. 183+ 44 6. 25 +25}+25
2. 21} +15 7. 12} +12}
3. 363+ 8} 8. 213+32}+3
4. 234+424+ 6 9. 243 +244
5. 1T3+29 + 44 10. 13} +926 447

239. Find missing numbers:
11. 25} 12. 34 18, 9} 14. 8} 15 27}

+ + -+ + +
491 68} 10 10 30
240. Subtract: ]
16. 493 17. 68}  18. 10 19. 10 20. 30
25} 34 9} 27}

3 i &
21. 10 22. 25 23. 32 24. 54 26. 75
54 64 184 504
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FOURTHS.
241. Oral Exercises,

C]D How many fourths in a pie? How many quarters
in a dollar? How many fourths in half a pie? $=
QD 1 what?

} pie+1 pie=what? $1+$}+$}=nhow many fourths?
$1b.4 % 1b. = what? ‘

242. Sight Exeroises.
2} pint+1 Pint 1§ yard + } yard $1+91+91+81

2% 2% 41 6% 3 7% 6}
+2 414 +2F +9 45} +8 +6

BB -

243. Blate Exercises.

Add: o
26. 1} 27. 2% 28. 2} 29. 1} 30. 4
2 3 124 2 5
& i 1 2 3 4
s1. 3  s2. 1% 83.'273  34. 843  35. 67}
4 T T
'244. Find missing numbers: . |
36. 13} 37. 15 38. 18} 39. 243 40. 8
+ + + + +
26} 301 19 25 10
41. 6} 42. 7% 43. 5} 44. 23} 45. 28}
+ + + T+ +

- 6} % 7 25} 30




245. Subtract :

46. 464 47.
231

51. 94 52.
6%

40}
20

173
154

246. Oral Exercises.

what is each part called? Draw a square and

When a thing is divided into three equal parts,
divide it into thirds. How many thirds in 2 pies?

In 3 pies?

§ foot + } foot =7
% year + } year =?
247. Bight Exercises.

2%
+3

3%

6
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48.20.  49. 30 50. 25§
10} 154 15}
53. 84§  54. 483  55. 46
60 193 173
THIRDS.

}yard +} yard+ } yard=?
4 month + § month =?

4 5¢ 73
+1} +1§

) + Ly

248. 8late Exercises.

Add:

56. 43}
3%

61. 27}

5§
3

67.

62.

503
104

6%
3%
5

+4
=+? $ =7

58. 633 59. 48 60.
43 15

63. 18} 64. % 65.

4 4}
7 11

g ® |28
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249. Find missing numbers :
66. 8% 67. 5} .68. 63 69. 7} 70. 4

+ + + + +
104 10} 10 103 10
250. Subtract : »
71. 25% 72. 26 73. 26} 74. 26 75. 26}
163 163 16 16} 16}
76. 84% 77. 50 78. 63 79. 473 80. 39
58} 493 504 16} 3

251. Oral Problems.

.+ 1. A boy has 5 packs of fire-crackers. After shooting off a
pack and a half, how many will he have?

2. A farmer cut 2} tons of hay on one piece of land and 9
tons on another. How many tons of hay did he cut?

8. If it takes 2} yards for a jacket, and 3} yards for a coat,
how many yards will be needed for both ?

4. 2} yards of ribbon are cut from a 10-yard roll. How
many yards remain ?

5. From a tub containing 25% pounds of butter there are sold
5} pounds. How many pounds are left?

6. A quarter of a pound of tea is taken from a 2-pound pack-
age. How much tea is there left in the package?

7. A real estate agent sold 2% acres from a 10-acre plot.
How much land is there still to sell ?

8. Mr. Jones brought to market 12} bushels of potatoes.
He sold 104 bushels. How many bushels did he bring home ?

9. A store-keeper sold 2 pieces of silk, 2§ yards in each
piece. How many yards did he sell ?
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10. How many pounds of coffee are there in 2 packages weigh-
ing 1% pounds each ?

© 252, Slate Problems,

1. Find the weight of 4 tubs of lard containing 24}, 26, 254,
and 27} pounds, respectively.

2. A barrel of sugar weighs, including the barrel, 310
pounds. The barrel weighs 20} pounds. How much does the
sugar weigh ?

3. A merchant sold 2} yards of cloth to one customer, 31

yards to another, 4} yards to a third, and 5% yards to a fourth.
How many yards did he sell in all?

. 4. A gzlocer bought 18} dozen eggs from one dealer, and
47% from another. How many dozen did he buy?

6. If 16} yards of gilk are cut from a piece containing 30
yards, how many yards are left ?

6. I own 20 acres of land. I keep 18} acres, and sell the
rest at 40 dollars per acre. How much do I receive for it ?

7. There are 10 dozen oranges in a box. 3} dozen are
spoiled. How many good oranges are there?

8. If 2 gallons and 1 quart of milk are sold from a 10-gallon
can, how much milk remains?

9. School is in session 5 hours a day. How much time is a
boy in school on Monday, if he comes 1} hours late in the morn-
ing and 4 hour late in the afternoon ?

10. A girl spends } of the day in school, preparing her les-
sons, and doing other work ; she spends } of the day at her meals
and play; she sleeps the remainder of the time. How many
hours does she sleep?



CHAPTER IV.

MULTIPLIERS AND DIVISORS OF TWO OB MORE FIGURES
— MULTIPLIERS OONTAINING FRAOTIONS. — ADDITION
AND SUBTRACTION OF EASY MIXED NUMBERS. — INCH,
FOOT, AND YARD.

HALVES AND FOURTHS.

Draw a circle to represent-a pie. Divide it into two equal
parts. What is each part called? Divide it into four equal
parts. What is each part called ?

How many fourths in 1?
How many fourths in half a pie? How many fourths in ?

How many fourths in 2? Eight fourths are how many ?

254. Oral Problems.

1. A boy spends $ } for a knife and $ 4 for a ball. How many
quarter dollars does he pay for both?

2. A girl buys § pound of candy at one store and } pound at
another. How much candy does she buy at both stores ?

3. If it takes 34 yards of cloth for a coat and 1} yards fora
vest, how many yards will it take for both ?

4. If a geography costs $§, a reader $4, and a grammar $4,
what will be paid for the three books?

5. The school is § of a mile from Henry's house. How far
does he walk going and coming?
110
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255. 8late Exercises. .
Add:

1. 36} 2. 563 3. 83} 4. 63} 5. 27%
8 3 61 6} 63}
ot e i 2 9

6. 3}+6+87} 9. 62} + 73+ 16}
7. 75} +6}+3} 10. 3}+32%+ 7%
8. 36} +27+6} 11. 14} + 3} + 604

256. Oral Problems.

1. A boy has $2}. How much will he have after he spends
$4?

2. A woman has 15 yards of muslin. How much will she
have after she uses 14§ yards?

3. A milk can holds 5 gallons, when full. If there are 4}
gallons in it, how much more milk will it hold ?

4. To 3 gallons 8 quarts add 1 gallon 1 quart.

6. A girl wishes to buy a doll that costs $11. If she has $§,
how much more does she need ?

257. Slate Exercises.

Find missing numbers :

1. 653 2. $10} 3. 633gal. 4. 35}1b. 5. 30%

+ + + + +
70} $12% 723 gal. 36 1b. 35
258. Subtract:
6. $653 7. 633yd. 8. 792}Ib. 9. 40ft. 10. 50 pt.
$51 193 yd. 264 1b. 3 ft. }pt.

11. 40 12. 40}  13. 40} 14. 275}  15. 275%
i 3 2% 884 _8t
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259. 8late Problems.
1. A sailor has 10 yards of cloth. He uses 34 yards fora
coat and 1} yards for a vest. How many yards has he left?

2. I buy 1} pounds of tea at 60 cents per pound. How much
change from a dollar should I receive?

8. John buys 9 pounds of starch and has it put up into
four packages. If the starch costs 8 cents per pound, whatis
each package worth ?

4. A box of eggs contains 30 dozen. How many eggs will
be left after 34 dozen are sold ?

6. A woman has 15 yards 2 feet of ribbon. How much
ribbon has she after using 6 yards 1 foot ?

6. A grocer has 55 pounds of tea. How many pounds has
he after selling 25§ pounds and buying 10} pounds?

7. What will 1§ pounds of allspice cost at 4 cents per ounce?

8. Sold 3% pounds of butter to one customer, and 2} pounds
to another. How much was received at 28 cents per pound?

9. A man works 300 days in a year, receiving $3} per day.
How much does he earn in a year?

10. I have 14} pounds of candy. How many pounds will I
have after selling nine }-pound boxes of candy ?

11. A grocer sells 47§ pounds of flour from a barrel contain-
ing 196 pounds. How many pounds are left ?

12. How many yards of ribbon are there in three rolls con-
taining 244 yards each?

18. There are 494 pounds of butter in a tub. The tub itself
weighs 104 pounds. How many pounds do both weigh together?
14. How many inches of cord are there in a piece 1} yards
long? ’

15. A boy is 12 years 7 months old; his sister is 9 years
3 months old. How many months older is the boy ?



260. Make tables of 11's and 12's.

MULTIPLICATION.

MULTIPLICATION BY 11 AND 12.

261. Sight Exercises.

Give products:

10x 8
8x 8
9x10
11x10
4x11
7Tx12

11x 9

Ix 7
11x 6

262. Slate Exercises.
Multiply by 11.

13
14
15
16
17
21
22
23
24
25

® ® ek ® D
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11x 6

12x 6

12x 12

12x 2

12x 9

10x 12

8x11

X 9

11x 4

By 12.

11. 31 21.
12. 32 22.
13. 33 23.
14. 34 24.
15. 41 25.
16. 42 26.
17. 43 21.
18. 50 28.
19. 51 29.
20. 52 30.

3x12
5x11

10x11

12x 4
11x12
8x 9
12x 8
9x12
11x 3

61
62
73
84
93
111
218
324
456
507

Learn them.

31.
32.
33.
34.
36.
36.
37.
38.
39.
40.

11x11
6x12
11x 7
12x 3
12x 10
11x 8
Tx 7
12x 7
11x 38

615

720
816
924
1,062
2,345
3,124
4516
5,729
6,384

113

9% 9

10x 10

9Ix11
8x12

12x11

5x12

10x 9
12x 5

41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

I9x 6

7,908
8,270
8,085
7,888
7,467
6,320
5,908
4567
3,095
2,999
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DIVISION BY 11 AND 12
263. 8late Exercises.
Divide by 11. By 12.

51. 132 63. 2,772 76. 8,926 87. 14,988
52. 264 64. 3,960 76. 9,431 88. 16,700
53. 396 65. 5,412 77. 10,296 89. 18,008
4. 528 66. 7,392 78. 12,220 90. 21,012
66. 660 67. 9,108 79. 14,124 91. 24,680
56. 792 68. 1,876 80. 17,160 92. 27,721
57. 924 69. 2,345 81. 36,300 93. 30,605
58. 1,056 70. 3,670 82. 46,992 94. 36,318
59. 1,188 71. 4,281 83. 78,276 95. 49,999
60. 1,320 72. 5,302 84. 93,324 96. 53,827
61. 1,584 73. 6,749 85. 10,796 97. 62,986
62. 1,848 74. 7,835 86. 12,209 98. 70,304

264. Review. Slate Exercises.

99. 35}+18} 109. 186X %
100. 174+ 233 110. 248X }
101. 27}+39% 111. 324X }
102. 6434164 112. 645Xx }
103. 49} +25} 113. 360 1}
104. 45} + 26} 114. 729X 1}
106. 13+ 13+13 115. 488X
106. 23+ 23+42% 116. 309 x 1}
107. 13+ 24+3} 117. 420% 13

108. 13+ 23+434+4}  118. 420x %



119.
120.
121.
122.
123.
124.
126.
126.
127.
128.

REVIEW.

324 x 1%
408x §
968 x 13
924 x 1}
20 x 1}
20 % 2%
20 x 3%
20 X 4}
20 x 1}
20x 1%

265. Find missing numbers:

140.
141.
142.
143.

139. 54} —293= ?
? +494=50
401+ ? =42
? +38;="T04
793 — 30} = ?
Problems.

266. Oral

144.
145.
146.
147.
148.

115

129. 30x 1}

" 130. 30x 13

131. 30x 2%
132. 20x 2%
133. 20x 1%
134. 20x 2§
135. 20x 3%
136. 30X 1§
137. 30x 3§
138. 70x 8%

373—18}= ?
? + 3= 59
60} + ?= 80
754+ ?=100
? + 6§= 59

1. If 8 ounces of tea cost 40 cents, what will be the price of 5

ounces ?

2. How much will have to be paid for 3 quarts and a pint of
milk at 3 cents per pint?

3. What will 3 pounds of sugar cost if 5 pounds cost 30

cents ?

4. If ice-cream is worth 40 cents per quart, how much will
pint be worth ?

5. If oil costs 8 cents per gallon, how much can be bought

for 1 cent?
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6. What will 8 yards of muslin cost at 12 cents per yard?
7. At $11 each, how many calves can be bought for $132?
8. How much does a man earn in a week if he earns $6 Mon-

day, $7 Tuesday, $8 Wednesday, $9 Thursday, $7 Friday, and
$6 Saturday?

9. Mr. Arch moves info a house Jan. 15. How many days
will he have been in the house on Jan, 23?7

10. How many 9-cent books can be bought for 75 cents, and
how much money will be left ?

267. 8late Problems.

1. A man spends $90. He pays $18 for a coat and the
remainder for 12 barrels of flour. How much does each barrel
of flour cost ?

2. At 3 cénts an ounce, find the cost of 2 pounds of pepper.

3. A yard of cloth is worth 96 cents. What is the value of
three-fourths of a yard ? .

4. How many ounces in 12 pounds?

5. How many gallons in 96 pints ?

6. What will be the cost of 2 dozen oranges at 4 cents for
each orange ?

7. There are 95 men in a company and 10 companies in a
regiment. How many men are there in a regiment?

8. A grocer had on hand Monday morning 99 eggs. During
the day he sold 57 eggs and bought 32 eggs. How many had he
on hand Monday night?

9. A merchant had 90 barrels of flour. He sold 28 barrels to
one man and 34 to another. How many barrels had he left?

10. A farmer has 42 pigs. He keeps 29 pigs and sells the
others at $5 each. How much does he receive for the pigs he
sells ?
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11. What are 12 horses worth at $120 each ?

12. $240 are paid for 8 overcoats. What is the price of one
overcoat ?

13. If there are 12 inches in a foot, how many feet are there
in 600 inches ?

14. There are 3 feet in a yard. How many inches are there
in 10 yards?

15. What will be the cost of 1 gallon, 1 quart, 1 pint of milk,
at 3 cents a pint ?

268. 8ight Exercises.
Give answers:
30+ 60— 40 9. $0of(90—80) 17. (90+10)+38
20 + 30 4 40 10. (80—60)x 4 18. 80+ (4% 2)
(20+10)x 3 11. (2x20)+50 - 19. 1 of (80+ 10)
(504+-80)+4 12. 2x20%x2 20. (90-+30)—2
$of (80+50) 13. (4x20)—50  21. (} of 90)+ 60
80 — 40450 14. (20x4)+40  22. (% of 60) — 20
90 — 30— 40 15. } of (20 4) 28. (80+4)%x3
(90 —20)+ 7 16. (80+20)+9 . 24. (30f60)+3

® 2 ek w M

269. Give missing numbers :

30440 — ? =20 6. 3 x ) +10=170
Fof (50 + ?)=20 7. 2 x10 x ?=60
20+ ? 4 40="0 8. 80+ ?) + 2= 2
. (50— ?x 4=40 9. (?7+40) x 5=10
. (80+40)+ ?= 5 "10. (} of 80) + ?= 2

L
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MULTIPLIERS ENDING IN 0.
270. Oral Exercises.

6x4=?? 4X6=? 20x4=? 4x20="?

12x20="?

Multiplying by 20 is the same as multiplying by 2 and affixing
« cipher to the product.

4x30=? 9x30="

13x30=? 14x30="?

271. 8late Exercises.

Find products:

1. 15 x 30 7.
2. 16 x 40 8.
8. 17 x 50 9.
4. 18 x 60 10.
5. 19x 70 11.
6. 20x 80 12.

21x 90
22 % 100
23 x 110
24 x 120
128 x 20
234 x 30

DIVISORS ENDING IN O.

272. 8late Exercises.

Find quotients:
25. 8020
26. 160+ 20
27. 240+ 20
28. 280+ 20
29. 36030
30. 420+ 30
31. 480+40
32. 550+ 50

13.
14.
15.
16.
17.
18.

345 x 40
456 x 50
567 x 60
678 X 70
789 x 80
890 x 90

.33. 600+ 60
34. 980+ 70
35. 1,200+~ 80
36. 1,350~ 90
37. 1,680+ 120
38. 1,760 = 110
39. 2,340+ 90
40. 4,640+ 80

19.
20.
21.
22.
23.
24,

41.
42.
43.
44,
45.
46.
47.
48.

12x80=? 13x20=? 14x20=?

987 x 100
876 x 110
765 x 120
1,654 x 60
1,983 x 50
2,476 x 40

10,010 + 70
14,160 + 60
23,450 + 50
36,960 - 60
40,040 -+ 70
54,360 + 60
65,350 -+ 50
76,920 - 40



DIVISORS ENDING IN 0.

273. Divide
49. 81-+10 57. 565 = 80 65.
50. 81-+20 58. 729+ 20 66.
51. 81+40  59. 843+30 67.
52. 121 =60 60. 5,281 =40 68.
53. 203 =50 61. 6,352+ 50 69.
54. 189 =+ 30 62. 7,565 60 70.
55. 286+ 70 63. 9,034+170 71.
56. 367 =90 64. 11,367 + 80 72.
274. Divide:
78. 91-+20 88. 567 =90 108.
74. T1-+-30 89. 4,341+ 80 104.
75. 91 -=-40 ©90. 8,764 =170 105.
76. 121 =60 91. 10,123 = 60 106.
77. 53-+20 92. 23,478 <+ 50 107.
78. 72—+ 20 93. 34,679 =40 108.
79. 92-+40 94. 46,258 = 30 109.
80. 17250 95. 52,814 + 20 110.
81. 133+ 30 96. 72,681 =+ 30 111.
8. 14330 97. 94,835 + 40 112.
83. 153 + 40 98. 16,807 = 50 113.
84. 145+ 50 99. 33,336 = 60 114.
85. 176 + 60 100. 1,478 =170 115.
86. 247 =0 101. 23,005 = 80 116.

87. 459 + 80 102. 9,876 - 90 117.

119

13,415+ 90
17,643 + 100
20,241 + 110
23,887 + 120
39,169 + 110
48,062 + 90
62,883 + 80
79,941 + 70
69,365+~ 90
72,468 + 80
43210+ 170
34,280 + 60
54,210 + 50

3,280 + 40

4320+ 30

6,790 ~ 20

6,584 -+ 110

7,230 + 120
17,285 + 110
18,695 < 120
93,246 + 90
81,188~ 80
12,345+ 70
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275. Mixed Numbers. Review.

Add:

1. 183 2. 243 3. 683 4. 15} 5. 65}
9} 19 5% 9} 9%
& 4 _% 63k 2

6. 35} 7. 39} 8. 10} 9. 473 10. 46}
3} 5% 6% 9% 8%

T . -

11. 15} 12. 3} 13. 30} 14. 68§ 15. 25}
28 62} 471 4 48

35 183 5% 204 17
16. 3}  17. 36} 18. 60}  19. 40§  20. 64}
64} 42} 141 13} 28
28} 15} 251 27 33

276. Subtract :
21. 30% 22. 43% 23. 90} 24. 86} 25. 80

273 261 853 49 373
26. 85} 27. 32% 28. 78 29. 25 30. 63
33} 25} 19} 17% 19
31. 83 32. 50} 33. 98} 34. T2% 35. 65%
36% 37} 974 57% 29%

36. 48}  87. 573  38. 52§  39. 34§  40. 88}
20} 204 39% 27} 54}
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277. Worcester Public Schools, Examination Questions.
.1. What will 3 gallons of milk cost at 5 cents a quart ?
2. At a cent an inch, what will a yard of cloth cost ?

8. Frank will be 10 years old to-morrow. In what year was
he born?

4. 8x9=7? 12x6=? Tx8=? 6x11=? 9x12="?

5. At 5 cents a ride, how many horse-car rides can you take
for 75 cents ?

6. How much will 72 eggs cost at 20 cents a dozen?

7. 8769 - 9875
— 2424 — 6340
8. 11 20
X 12 + 30
—-12 + 25
+12 + 75
X 7 — 50
+ 2 _ —20
= 9 + 60
+ 3 —40

9. How many feet is it around a square floor that is 12 feet
on a side?

10. A newsboy sold enough 2-cent papers to amount to 48
cents. How many dozen papers did he sell ?

11. How many tops worth 6 cents each should a boy give for
9 marbles worth 2 cents each ?

12. A day is what part of a week ?
13. 26 quarts are how much more than 5 gallons?

4. fof 27=7 }of45=? 4of18=? §of28=2
Fof18=2

15. (8X7)+(12x9)+(8x8)=?
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278. Long Measure,

12 inches = 1 foot.
3 feet =1 yard.

Inches are written ¢n. Feet are written 7 Yards are
written yd.

279. Oral Problems.
1. How many feet are there in 20 yards?

2. At the rate of 30 cents per yard, what will be the cost of
2 feet of ribbon ?

3. How many inches are there in 1} ft.?

Change 120 inches to feet.

How many feet in 3 yards? How many inches?
‘What part of a foot is 9 inches ?

Add 1 foot 6 inches to 1 foot 6 inches,

10 yd. 2 ft. are equal to how many feet?

® e o op

MULTIPLIERS OF TWO DIGITS.

280. Multiply 13 by 13: 13
Place the numbers as here shown. Multiply first by the units’ 13
figure. Then multiply by the tens’ figure, placing the first figure of 39
this product under the tens’ figure of the multiplier. Then draw a 13
line and add the products.

169
123 234 406 1234 1456
13 14 21 31 45
369 936 . 408 1234 7280
123 234 812 3702 5824

1,599 3,276 8,626 38,254 65,520
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MULTIPLICATION.

281. Slate Exercises,

Multiply :
. 14x13
. 23%x13
. 61x13
. 55x13
14 x 14
23 x 14
61.x 14
55 x 14
15 x 21
24 x 21
. 62x21
. 55 x 21
. 27T x 32
. 36 x 41
. 43 x 51
. 54 x15
. 65 x 61
1217
. 81x171
. 52 x 18
. 54x 14
. 56 x15
. 57Tx 16
. 54 x 17
. 44 x 22

26.
21.
28.
29.

" 30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.

49,
50.

32x23
24 x 24
33 x 26
32 % 32
45 x 33
44 x 34
45 x 35
43 x 42
56 x 43
65 x 44
78 x 45
81 x 52
86 x 53
82 x 54
66 x 55
72 X 62
88 x 63
104 x 64
102 x 65
114 x 72
134 x 78
130 x 74
125 x 75
116 x 82
108 x 83

51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
85.
86.
67.
68.
69.
70.
71.
72.
73.
74.
75.

123 x 84
132 x 85
109 x 92
111 x 93
104 x 94
105 x 95
215 x 18
230 x 19
308 x 27
407 x 28
523 x 29
614 x 36
309 x 37
410 x 38
531 x 39
630 x 46
234 x 47
345 x 48
450 x 49
560 x 56
102 x 57
206 x 58
312 x 59
416 x 66
523 x 67

76.
1.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.

89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

123

634 x 68

808 x 69

910 x 76
1,025 x 77
1,204 x 78
1,210 x 79
1,050 x 86
1,108 x 87
1,042 x 88
1,045 x 89
1,038 x 96
1,025 x 97
1,011 x 98
1,009 x 99
5,360 x 18
6,090 x 15
4,718 x 19
1,987 x 49
3,456 x 28
2,069 x 35
4,567 x 19
3,999 x 25
3,845 x 26
3,673 x 27

100. 2,974 x 32
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LONG DIVISION.

282. Divide 156 by 13:

In long division, the quotient is placed over the 12 quotient,
dividend. The divisor, 13, is contained in the first 1rp

two figures of the dividend 1 time. We write 1 in the 13)156
quotient, and multiply the divisor by it. The product, 13_
13, is placed under the first two figures of the dividend. 26
A line is drawn, 13 is subtracted from 15, and the . 926

remainder is written. The next figure, 6, of the divi-

dend is brought down. 13 is contained in 26 2 times. The 2 is written
in the quotient. Multiplying, we place the product, 26, under the partial
dividend, 26. There being no remainder, the answer is 12.

_21 1 22 203
14)294 15)165 22)484 35)7105 ¢
2 15 44 70
14 15 44 105
14 15 44 105

Be careful to place each quotient figure over the proper figure of the
dividend.

283. Slate Fxercises.

Divide:
1. 169 =+ 13 15. 180+ 15 29. 4,642 + 22
2. 213+13 16. 815+15 30. 2,684 + 22
3. 9286-+13 17. 1,815+ 15 31. 9,641 = 31
4. 29913 18. 1,830+ 15 32. 6,603 « 31
5. 1456 + 13 19. 3,015 =+ 15 33. 9,952 + 32
6. 2743+ 13 20. 3,330 + 15 34. 7,392 + 32
7. 1,599 + 13 21. 231+ 21 35. 1,089 = 33
8. 2,886 =13 22. 9252+ 21 36. 8,729 =33
9. 15414 28. 273+ 21 37. 943 +41
10. 168 = 14 24. 483 + 21 38. 1,394 =41
11. 294+ 14 25. 851 +21 - 39. 1,302+ 42
12. 308 + 14 26. 2,352 + 21 40. 1,428 + 42
13. 1554 + 14 27. 4473 = 21 41. 1,338 -+ 43

-
»

. 2,068 + 14 28. 6,573 + 21 42. 1,376 + 43
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284. Oral Problems,
1. If three dolls cost 90 cents, what will two dolls cost?
2. Find the cost of 2} 1b. tea at 40 cents per pound.

3. A grocer sold 3} lb. 6-cent sugar and spent the money
for 7 oranges. What did the oranges cost apiece ?

4. A store-keeper sold 4 of a pound of candy to one customer,
and a quarter of a pound to another. How much did he receive
from both, if the candy was worth 40 cents per pound ?

5. A man has 3 piles of bricks, each containing 300. How
many bricks has he?

6. How many feet have 22 cows?

7. If 20 pounds of meal cost 60 cents, how many pounds can
be bought for 36 cents?

8. A farmer sells 43 cows, which are one-half his herd.
How many did he have at first?

9. When maple syrup costs 10 cents a half-pint, how much
can be bought for 80 cents?

10. At $2 per day, how much will a man earn in 7 weeks of
6 days each ?

11. Find the cost of 12 tons of coal at $44 per ton.

"12. A man owned } of a canal boat. How much did he own
after selling % of his share ?

13. I bought 12 pounds of sugar. How many pounds will I
have after using 2} pounds?

14. Philadelphia is 90 miles from New York. After traveling
from New York % of the distance, how many more miles has a boy
to travel to reach Philadelphia?

15. A lot is 100 feet square. How many feet of fence will be
needed to enclose it?



126 ARITHMETIC.

285. Slate Problems.

1. Draw a rectangle to represent a piece of ground 65 feet
long, 85 feet wide. How many feet of fence will be required to
enclose it ?

2. What will be the cost of 11} yards of cloth at $1.80 per
yard ?

8. When sheep cost $15 each, how many can be bought for
$165?

4. How many inches are there in 25 yards?

5. How many ounces in 30 pounds ?

6. Find the total cost of 2} yards of lace at 16 cents a yard,
and 7 yards of ribbon at 8 cents a yard.

7. There are 100 pages in a book. If Lucy reads 14 pages a
day, how many pages will there be left for her to read after 6
days?

8. A grocer puts up 48 pounds of tea into § pound packages.
How many packages are there?

9. How many gallons of oil are there in two cans each contain-
ing 12 gallons 2 quarts?

10. Three and one-half pounds of candy are divided among 8
boys. How many ounces does each boy receive ?

11. A woman spends $183 Monday, $12% Tuesday, and $18%
Wednesday. How much money does she spend in the three
days?

12. A farmer had 12 pigs. He sold } of them at $9 each, }
of them at $8 each, and } of them at $7 each. How much did
he receive ?

13. Mr. Jones spent 4 of his money for a horse which cost him
$175. How much money did he have left?

14. New York is 90 miles from Philadelphia. After traveling
§ of the distance, how many miles has a girl still to go?



286. Give sums:
13413 14415
18411 19+ 30
33416 27482
29 4 60 67422

REVIEW.

SPECIAL DRILLS.

16412
65+ 14
43 4 46
63 + 36

287. Give differences:

25—13 31 —-20
29 —11 49 —30
49 —33 98 — 73
89 — 60 89 — 46

65 —11
79— 14
78 —-31
. 88—51

288. Give products:

13 x 2 14 x 2
31 x2 32x2
44 x 2 13x 38
33x3 31x3

21 x 2
33 x 2
23 x 3
32x3

289. Give quotients:

88+ 4 39+13
64 + 32 62+ 2
28+~ 2 66 <33
44 =22 82+ 2

290. Give results:

13+ 4 14+ %
13+1% 3%+1%
1} 42} 2t +3%
A+ 34 +3%

26+ 2
96 =32
48+~ 2
90 + 30

3+ 4
413
3% +5¢
5 + 5%

20+15
17450
51487
26 + 72

87—-175
59 — 27
67 — 50
89 —44

22x 2
34x2
21 x 3
42x 2

63 =21
42 2
46 - 23
84+ 2

H+ 4
9% +1%
44+ 6}
H+9%

127

22+ 23
28 + 21
44 4 45
78+25

46 — 26
99 — 63
35—15
99 — 62

23 x 2
41 x 2
22 x 3
21 x4

86—+ 2
68+ 34
66+~ 2
93 +- 31

2%+ 1
8 +1%
1+9%
9%+ 9%
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291. Oral Problems.

1. A boy paid $ 1} for a hat and $} for collars. How much
did he spend ? :

2. Mrs. Smith is 37 years old; her brother is 22 years older.
What is his age ?

3. If it takes 10} yards for the skirt of a dress and 3} yards
for the waist, how many yards are needed for the whole dress?

4. There are 800 pounds of sugar in a barrel. After § pound
is taken out, how many pounds will be left in the barrel ?

5. A boy has 65 marbles; he loses 21. How many has he
remaining?

6. What will be the total cost of 10 pounds of 6-cent sugar
and a pound of 22-cent butter ?

7. A woman buys 5 yards of 12-cent muslin and receives
40 cents change. How much did she give the clerk?

8. A man sells a pound of tea for 60 cents and loses 15 cents
on it. How much did it cost him?

9. Bought two bars of 20-cent soap and 25 cents’ worth of
eggs. How much was the bill ?

10. If tea costs 80 cents a pound, Lhow much will a pound and
three-quarters cost ? ‘

11, Paid 10 cents for 4 pound of candy. What would be the
cost of 21b.?

12. How much would Jane have to pay for 2 dozen oranges
at 1} cents for each orange?

18. A grocer mixed 3 pounds of coffee at 20 cents a pound
and 1 pound of coffee at 28 cents. How much were the 4 pounds
worth ?

14. A girl worked out 93 problems in 3 weeks. How many
did she work in one week ?
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15. A farmer bought 2 cows at $40 each, and paid for them
with $20 bills. How many bills did he give?

16. A family uses a quart and a pint of milk a day. How
many quarts are used in 6 days?

17. A tea-dealer sold 24 pounds of tea to one customer and
4] to another. How much did he sell to both ?

18. Paid 66 cents for 3 pounds of candy. What was the price
per pound ?

19. Bought 4} yards of linen one day and } of a yard the
next day. What was the cost of all at 20 ocents per yard ?

20. What will be the total cost of 12 oranges at 2 cents each,
and 20 pears at 3 cents each?

HALVES, FOURTHS, AND EIGHTHS.

292, Oral Exercises.

When a thing is divided into ¢wo equal parts, each part is
called a Zalf, }.

3 1

-

t
S~ R el

ERAN

2%

When a thing is divided into four equal parts, each part is
called a fourth, }. »

When a thing is divided into eight equal parts, each part is
called an eighth, }.
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How many halves in a pie? How many fourths in a pie?
How many eighths in a pie?

J— J— —_—
1=3 =z =%

How many fourths in half a pie? How many eighths in half
a pie? How many eighths in one-fourth of a pie?

=1 =% =%
One-half + one-fourth = how many fourths?
One-half + one-eighth = how many eighths?
One-fourth + one-eigi:th = how many eighths?
One-fourth + three-eighths = how many eighths?
One-half 4+ three-eighths = how many eighths?
One-fourth + five-eighths = how many eighths?

293. Sight Exercises.

1+ 1 ¥+ 3 1+ 1
B+ 1 2%+ % S+ %
2} + 1% 3t +1} 4+14
i+ ¢ P+ & 1+ ¢
4+ ¢ 5t + ¢ 61+ %
5t +1% 6%+ 1% 3+ 1%
294. Slate Exercises.
Add:
1. 16} 2. 19} 3. 27} 4. 50} 5. 194
25} 43} 30} 163 623
6. 81 7. 78} 8. 14} 9. 561 10. 264

90§ £8}; 85% ﬂ 264
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1. 17§ 12. 37§ 13. 62} 14. 40} 15. 12}
24 o 154 5 6

16. 22§ 17. 42} 18. 65§ 19. 774 . 20. 52}
L T Bl

295, Find missing numbers:
21. 36} 22. 27} 23. 55} 24. 48§ 25. 73§

+? +°? +7? +? +?
40 30 56 49 74
26. ? 27. ? 28. ? 29. ? 30. ?
+15% + 273 + 504 +10} + 19}
16 308 683 45§ 72§
31. 6} 32. 80} 33. 18} 34. 213 35. 19}
42 +? +? +? +?
943 873 55§ 36§ "403
296. Subtract:
36. 33} 87. 40§ 38. 657 39. 16} 40. 59]
63 153 293 88 204
41. 46§ a2. 54§ 43. 697 a4. 80} 45. 663
29 17 54 35 193
48. 21 47. 17 48. 44 49. 91 50. 35

20} 163 43¢ 903 304
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297. Review.
Add:
51. $143.37} 52. $84.00 53. $386.75 4. $729.84
6.45 5.95 23.89 67.33
.84 .87} 8.86 9.094
27.19 164.12} 47 864.
.09 3.86 66.184 36.57}
707.621 27.95 234.93 687.19
3.11 483.20 65.00 1,000.05
25.50 67 989.37 37.28
243 8.28 5.08 192}
298. Subtract:
55. $100.00 57. $684.45 59. $81.62}
23.89 26.79 5.124
56. $1,000.00 58. $94.16 60. $1.00
.01 89.99 123
299. Multiply :
61. $4.85 63. $36.21 65. $20.14
12 DA 36
62. $57.14 64. $45.89 66. $2.50
8 21 12}
300. Divide:
67. 3)$1.86 8. 8)$864.48 69. 2)§74.25 70. 13)$4.42

301. Oral Problems.

1. What will be the cost of 4 pairs of shoes at $3.50 per

pair?

2. How much change will a person receive who buys 9
pounds of lard at 11 cents per pound, and gives a $2 bill in pay-

ment ?



REVIEW. 133

8. A boy buys 2 collars at 12} cents each, a base-ball for 25
cente, and a 10-cent bat. How much money does he spend ?

4. A farmer sells 48 eggs at 25 cents per dozen. How much
does he get for them?

5. What is the cost of a 300-pound barrel of sugar, at 4 cents
per pound ?

6. How many ounces are there in 2 pounds 8 ounces?

7. A grocer sold 3 chests of tea, each weighing 60 lb., at
$3 per Ib. How much did he receive?

8. A steak weighs 21b. 7 0z. What is its cost at 16 £ per 1b.?
9. At 2 oranges for 5 cents, what would be the cost of 2 dozen
oranges ? -

10. How many desks are there in 4 class-rooms, if there are
20 desks in each of 2 of the rooms, and 30 desks in each of the
others?

11. Add 5 feet 6 inches and 3 feet 6 inches.

12. How many yards and feet in 40 feet?

13. One-half a yard of serge costs 40 cents. How much must
be paid for a yard and an eighth ?

14. Find the cost of 8} 1b. coffee, at the rate of 4 pounds for
80 cents.

15. How many ounces are there in 10 pounds?

16. How many 6-cent spools of thread can be bought for
$1.80?

17. A grocer sells 8} Ib. of sugar to one customer, 14 1b. to
another, and 6} lb. to a third. How many pounds does he sell
inall?

18, What is the cost of 6 pounds of tea, at 40 cents a pound ?

19. A dealer mixes a pound of green tea, costing 50 cents a
pound, with a pound of black tea, costing 80 cents a pound.
How much does each pound of the mixed tea cost him?
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20. A farmer receives $800 for 4 hordes. For how much
apiece does he sell them ?

21. A man earns $150 a month. He saves $25 a month.
How much does he spend in a month?

302. Slate Problems.
1. I bought 18 pounds of meat at 23 cents a pound. What
is the amount of my bill ?
2. Find the cost of 6 chairs at $3.75 each.

3. A farmer has 14 apple trees, each yielding 2 bushels of
fruit, which he sells for 50 cents a bushel. How much money
does he receive for his apples?

4. What profit is made on a pound of nutmegs bought for 75
cents and sold at 6 cents an ounce ?

6. A man earns $100 a month, and spends $'i9 a month.
How much does he save in a year?
6. If 2 horses cost $300, what will be the cost of 5 horses?

7. A girl paid 50 cents for 2 yards of ribbon. How many
yards could she get for $1.25?

8. How many half-pint jars can be filled from a 6-gallon tub
of jelly ?
9. How many gallons in 4 dozen bottles each containings
pint and a half?
10. Find the cost of 30 lemons at 30 cents a dozen.
11. What will be paid for 36 cows at $45 each ?

12. A man has 13 five-dollar bills, and 15 two-dollar bills.
How much money has he?

13. Mr. Hart, with his wife and two children, spends four
weeks in the country. He pays six dollars a week for his own
board, the same for his wife’s board, and $4 a week for the board
of each child. How much does he pay in all?
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14. If a horse eats one-fourth of a bushel of oats per day, how
long will 17 bushels last ?

16. When peaches are worth a half-dollar per bushel, how
many bushels can be bought for $18?

16. Find the cost, at 16 cents a pound, of two hams, one weigh-
ing 8 1b. 8 oz., the other weighing 7 1b. 8 oz.

17. A house is rented for $360 per year. How much rent
does the owner receive in 8 months ?

18. How many feet have 20 cows, 30 ducks, and 20 flies?

19. If a train goes 7} miles in a quarter of an hour, how far
will it go in 2 hours ?

20. If 6 men can do a piece of work in 25 days, how long will
it take one man to do it ?

303. 8late Exercises.

Divide:

1. 434 by 14 9. 698 by 33 17. 575 by 25
2. 403 by 18 10. 735 by 35 18. 775 by 25
3. 360 by 15 11. 396 by 36 19. 2331 by 21
4. 465 by 15 12. 756 by 36 20. 2775 by 25
5. 630 by 15 13. 451 by 41 21. 4173 by 18
6. 345 by 15 14. 861 by 41 22. 4830 by 15
7. 861 by 21 15. 992 by 32 23. 4500 by 15
8. 352 by 82 16. 656 by 16 24. 4531 by 15
207 806 20043 30334

18)3726 19)5815 27)5411 29)8811

36 57 5t 87 _

126 115 11 111

126 4 87

1 24
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26. 487+24 34. 3,045+ 15 43. 9,069 +41
26. 856+21 35. 4,560 15 44, 6,273 +51
27. 1,559 =31 36. 4,204 + 21 45. 8,125 25
28. 5,075+ 25 37. 4,256 + 14 46. 7,393 + 32
29. 2,828 + 14 38. 9,462 + 22 47. 5,255 =+ 52
30. 2,830+ 14 39. 6,293 =+ 31 48. 2,416 +1T1
31. 2,833 +14 40. 9,060 + 21 49. 9,898 +81
32. 1,56156+-15 41. 8,484 +42 50. 9,373 + 91
33. 1,520+15" 42. 7,378 + 61 51. 1,866+ 93

304. Oral Problems.

1. If sugar costs 4 cents a pound, what will be the price of
21 pounds?

2. How much change will I receive if I buy 30 pounds of
flour at 3 # per lb., and give the grocer a $1 bill ?

3. Paid 96 cents for 3 pounds of butter. What is the price
per pound ?

4. If cider is 40 cents per gallon, how many qu;,rts can I get
for 30 cents ?

5. What will be the cost of 10 yards of carpet at 85 cents per
yard? 4 .

6. Paid $2.40 for 20 yards of gingham. What was the price
per yard ?

7. How many ounces are there in ten pounds and a half?

8. If a man receives $3 per day, how much will he earnina
year, working 300 days?

9. How many lots at six hundred dollars each can be bought
for thirty-six hundred dollars?

10. I sold a lot for $600 and lost on it $200. What did it
cost me? .
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305. Blackboard Exerocises.

Pupils should be taught to find products without always placing the mul-
tiplier under the multiplicand. The following examples in multiplication
and division should be worked by writing the answers on the slates &irectly
from the blackboard or the book without writing the other numbers.

MULTIPLICATION.

306. Find the cost of:

1.

LA ol o

D W DO DD W WD ks bt pd b ek e b ek ped e
O @D H O ® O E WD =O

196 1b. flour at 4 cents per 1b.

3 gal. alcohol at $2.75 per gal.

144 hats at $3 each.

325 1b. sugar at 5 cents per 1b.

12 sofas at $45 each.

165 bbl. cement at $2 per bbl.

24 thousand bricks at $6 per thousand.
87 spools thread at 5 cents each.

3 houses, each costing $5,700.

120 bushels wheat at 96 cents per bushel.

. 11 tierces lard at $6.50 per tierce.

. 6 hundredweight of straw at 72 cents per hundredweight.
. 900 bushels oats at 36 cents per bushel.

. 80 lots at $800 each.

150 yards oilcloth at 30 cents per yard.

. 20 horses at $175 each.

. An ox, weighing 1,152 1b., at 4 £ per Ib.
. 87 sheep at $4 each.

. 250 acres land at $40 per acre.

. 48 yards carpet at $1.20 per yard.

. 187 packs fire-crackers at 5 ¢ per pack.
. 39 Roman candles at 20 cents each.

. 60 overcoats at $37 each.

. 5 wagons at $175 each.

. 12 tons hay at $18.75 per ton.
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DIVISION.
307, Find the cost of 1 pound, 1 gallon, 1 barrel, 1 spool
1 thousand, etec. :
26. 96 1b. flour, $2.88.
27. 4 gal. alcohol, $10.40.
28. 72 hate, $144.
29. 31 lb. sugar, $1.24.
30. 16 sofas, $800.
31. 20 bbl. cement, $42.
82. 24 thousand bricks, $120.
33. 48 spools of thread, $1.92.
34. 4 houses, $26,000.
86. 25 bushels of wheat, $25.75.
86. 40 tierces of lard, $250.
87. 11 hundredweight of straw, $ 7.04.
88. 90 bushels of oats, $33.30.
39. 22 lots, $15,400.
40. 26 yards of oilcloth, $10.40.
41. 25 yards of oilcloth, $10.25.
42. 24 horses, $4,800.
43. 39 sheep, $195.
44. 72 acres of land, $2,160.
45. 75 yards of carpet, $82.50.
v 46. 36 packs of fire-crackers, $1.44.
47. 25 Roman candles, $5.

48. 30 overcoats, $1,050.
49. 14 wagons, $1,680.
60. 25 tons of hay, $300.
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. 308. Oral Problems.

1. Henry had 40 cents, James had 30 cents, William had 20
cents. How much money in all had the three boys?

2. Mary sold some vegetables for 30 cents and some flowers
for 60 cents. If she spent 40 cents for groceries, how much
money had she left?

3. If a boy makes 20 cents a day selling morning papers and
10 cents a day selling evening papers, how much does he make
in 3 days?

4. A manhought a pound of 50-cent tea, and 2 dozen eggs at
20 cents a dozen. How many dimes will it take to pay for them ?

5. A furniture dealer sold a set of parlor furniture for $ 50
and a bed-room set for $30. If } of the cost of both is paid in
cash, how much cash does the dealer receive?

8. Francis had 80 cents. After spending 60 cents and earn-
ing 50 cents, how much had he?

7. A grocer had 90 pounds of sugar. He sold 50 pounds
and used in his family 20 pounds. How much had he then?

8. A girl had 80 cents. She bought a doll for 40 cents and
spent the rest for candy at 20 cents per pound. How many
pounds did she buy?

9. A farmer has 90 acres of land. Thirty acres are planted
in corn. One-third of the remainder is in wheat. How many
acres of wheat has he?

10. A coal-dealer had 50 tons of coal. He burned 30 tons
and sold the remainder at $4 per ton.: How much money did he
receive ?

. 11. What will I have to.pay for 8 pounds of 5-cent sugar and
50 cents’ worth of eggs?

12. What will be the cost of 2 bags of meal, 100 ponnds in
each bag, at 2 cents per pound ?
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13. A woman buys 3 pounds of butter at 30 cents a pound.
She gives the grocer a 50-cent piece. How much more must she

pay?

14. A man sells 4 acres of land at $20 per acre, taking in
payment cows worth $40 each. How many cows does he get?

15. What will be the cost of 4 pieces of silk, 20 yardsinsa
piece, at $3 per yard?

16. How much will I pay for 40 marbles, at 8 for 1 cent, and
a 25-cent ball?

17. Half a dollar is divided among 5 boys. How many 5-cent
pieces does each receive ?

18. How many 4-pound packages of sugar at 5 cents a pound
can I get for 80 cents?

19. A woman pays 80 cents for gingham at 20 cents per yard.
She buys one-fourth as many yards of ribbon. How many yards
of ribbon does she buy?

~ 20. A man worked 20 days for $80. If he spent $3 per day
how much a day did he save ?

- 21. What will T have to pay for } 1b. of 80-cent tea ands
pound of 30-cent coffee ?

' 22. A man owns 4 of a farm of 80 acres. How much has he
left after selling 40 acres?

23. If 2 pigs are worth $40, how much are 3 worth ?

24. A man had $60. He spent one-half of it for sheep at $3
each. How many sheep did he buy?
25. Two boys divided 50 marbles equally. One of them gave
1 of his share to his sister. How many did she receive ?
. 26. A train goes 40 miles per hour. How long will it take to
go 480 miles ?

. 27. How many hours are there from half-past 8 in the fore-
noon to half-past 1 in the afternoon ?
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309. Oral Exercises.

EASY FRACTIONS.

13.

18.

23.

28.

38.

3 =2 $="?
§ =2? =?
=7 2=7
P+t %
$+% t+i
310. Slate Exercises.
Add:
1. 193 2. 183
o e
8. 343 7. 274
o
1. 13 12. 5}
2} 6}
3 i
16. 123 17. 23}
5} 6}
8% A
311. Subtract:
21. 103 22. 203
8 i
26. 60} 27. 60}
L S
31. 98% 32. 80% .
o o)
36. 56% 37. 74}
254 Lk

e o oy e ook

33.

+ + 1
oor opa O 0 9

303
93

604
503

653
245

813
623

3
3
14
3
1

14.

19.

24.

29.

34.

39.

Il

I

+ +

e en D D

404
103

603
505

373
191

593

oke o of o en
++ 00

10.

15.

.20.

25.

30.

35.

40.

b odfen O N9 O

141

. 56}

243
1§

46}

503
113

603
503

42§
163

283
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312 Review. 8late Exercises.

ARITHMETIC.

Note. — First perform the indicated operations on the quantities between
tne marks of parenthesis,

41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
56.

43 + 74 4 68
(85+39) — 76
(254 33) x 3}
(49+84)+ 17

$ of (684 52)
(40} — 25) + 13}
156 — (68} + 174)
(384 — 96) + 72
# of (783 —248)
(789 — 65) x 24
(65 x 13) + 155
(14 x 16) x 25
14 x (16 x 25)
(18 x 13) — 156
(42x63) <21

313. Slate Problems.
1. A man bought } of a flock of 120 sheep for $150. How

much did each sheep cost him ?

2. John had 250 postage stamps.

lost 36. How many had he left?

8. A farmer had 72 cows.
five had died, and he had bought 15?

4. If 72 hats cost $288, how much will 4 hats cost ?
5. A grocer sold 15 1b. 8 oz. of tea to one customer and 12

1b. 8 oz. to another.

. 42x (84 +21)

. Bx24)x §

. (3x8)x24

. 8x(3x24)

. (144+24) 478

. (8,820 +42) =21
. 8,820 + (42 + 21)
. }of (840 = 14)

. (} of 840) + 14

. (992+32)—-18

. (§of 84) 4144

. (§ of 168) —99

. (876 +94) x 15

. ($-of 640) + 16

. % of (3 of 360)

He gave away 64 and

How many had he after twenty-

How much tea did he sell to both ?
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6. A boy had a piece of wire 4 yards long. He cut it up
into pieces 1 inch long. How many pieces were there ?

7. How much will a druggist receive for 2 gallons of cologne
at 80 cents a pint?

8. How many boxes, each containing 8 ounces, will it take to
hold 20 pounds of candy ?

9. How many inches in 1 yard, 1 foot, 1 inch?

10. A boy had 20 dozen eggs to sell. If he broke 4 dozen on
the way to market, how many whole eggs would he have to sell?

11. A dealer bought 10 cows for $500. How much apiece
would he have to charge for them to gain $ 10 on each cow ?

12. A girl paid 90 cents for 6 packages of sugar, each contain-
ing 3 pounds: How many cents per pound did the sugar cost ?

13. At 80 cents a pound, what will 3 ounces of tea cost?

14. A barrel of flour weighs 196 pounds. Find the cost of
one-half of it at 3 cents a pound.

15. A newsboy sold 54 papers at 3 cents each. If the papers
cost 95 cents, what is his profit?

16. How many 7-pound packages can be made from } of a
barrel of flour, if there are 196 pounds of flour in a barrel ?

17. What will be the total cost of } bbl. of flour at $6 per bbl.
and 2 pounds of tea at 75 £ per 1b.

18. A ton of hay weighs 2,000 pounds. If a man buys } ton,
how many pounds will he have left after using 250 pounds?

19. Five dozen collars are sold for $9.00. What is the price
of one collar ?

20. At 32 cents per pound, how much will be paid for 1
pound 7 ounces of butter ?

21. What will } of a yard of silk cost at the rate of $25.60 for
16 yards ?
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22. A bag of coffee weighing 80 pounds is put into 20 packages.
If it is sold for $1.20 per package, what is the price per pound?

23. Four pieces of calico, each containing 80 yards, are used in
making 24 waists" How many yards does it take to make a

waist ?

24. There are 24 pounds 8 ounces in a bag of flour. How

many pounds in 8 bags?

26. 3 yards 1 foot of wire are cut up into 6-inch pieces. How

many pieces are there ?

MULTIPLIERS ENDING WITH CIPHERS.
314. Oral Exercises.
100 x 3="? 100 x 6 ="? 100 x 10 ="?
100 x 7=2? 100x 9="? 100x 11 =?

315. Sight Exercises.

Give answers:

15 x 100 27 x 100 35x 100 43 x 100
56 x 100 69 x 100 74 x 100 87x 100
99 x 100 100 x 100 101 x 100 109 x 100
234 x 100 345 x 100 456 x 100 567 x 100
678 x 100 789 x 100 890 x 100 901 x 100
16 x 1,000 29 x 1,000 33 x 1,000 45 x 1,000
92 x 1,000 68 x 1,000 76 x 1,000 84 x 1,000
14 x 200 23 x 200 13 x 300 21 x 400
42 x 200 33 x 300 22 x 400 44 x 200
316. Blate Exercises.
1. 236 x 300 4. 69 x 700 7. 76 x 1,300
2. 178 x 400 5. 87 x 900 8. 65 x 1,400

3. 134 x 500 6. 82x 1,200 9. 24 x 3,000
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10. 45 x 2,000 15. 38 x 2,500 20. 42 x 1,600
1. 387 x 2400 16. 43 x 1,800 21. 187 x 510
12. 187 x 450 17. 27 x 3,100 22. 158 X 630
13. 98 x 1,000 18. 33 X 2,700 23. 97 x 840
14. 4 x 20,000 19. 62 x 1,500 24. 112 x 790

HALVES, THIRDS, AND SIXTHS.
317. Oral Exercises.

When a thing is divided into two equal parts, what is each
part called ?
What is each part called when a thing is divided into siz equal
parts?
] 1t

L L ¥ ¥ L 1
/ k% i W
N L

Which is greater, one-half or one-sixth? How many sixths of
a pie are there in half a pie?

One-sixth of a foot is how many inches? One-half of a foot is
how many inches? How many sixths of a foot are there in one-
half of a foot? f=g?

One-half 4 one-sixth =how many sixths?
One-half + two-sixths = how many sixths?
One-half 4 three-sixths = how many sixths?
One-half 4 four-sixths = how man); gixths ?
One-half + five-sixths = how many sixths?
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One-third = how many sixths? '
Two-thirds = how many sixths?
One-half = how many sixths?
Two-sixths = how many thirds?
Three-sixths = what? Four-sixths = what ?

¥ ¥ ¥ ¥ ¥ ¥

N ¥ A N A N

L] ] 3

One-half 4 one-sixth = how many thirds?
One-half -+ one-third = how many sixths?
One-third 4 one-sixth = what ?

D @ &

318. Bight Exercises,

* Give answers:

3 43 3 5% $ 44
Sk U o S o S o S o S o
3 43 3 5% $ 44
A S S S S
3% 6% $ 8§ % 14
t+ -+ +F -+ +3 -t
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319. Blate Exercises.

Add:
1. 4 2. 5% 3. 6} 4. 10§ 5. 12§
3 4 % e G
6. 13} 7. 18§ 8. 30} 9. 20} 10. 29%
S5t 2% _6% 2 164
1. 633  12. 18§ 13. 6} 14. 2 15. 413
204 0% 5% 19 6
6. 1} 17. 5} 18. 4} 19. 10} 20. 20}
2} 73 6} 10§ 3
3 9 8t 104 124
1. 18} 22. 15} 23. 5% 24. 2} 25. 90§
9% 104 4 1 3%
& _3 8% 1 2%
6. 10}  27. 23}  28. 8  29. 6}  30. 49}
5% 17§ 10 154 22§
_t 50% 12 21% 16%
320. Subtract:
1. 14} 32. 24} 33. 163 84. 28§ 35. 12§
St St 5 & 1
6. 15} 37. 2 38. 31§ 39. 42§ 40. 57§
4 s om o om
1. 20 42. 30 43. 40 44. 50 45. 60}
_1 13 & 2 1%
8. 27 47. 38 48. 49 49. 5 50. 87

A
18} 9% 213y | 46} 86}
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LONG DIVISION DRILLS.

321. Give quotients at sight. Omit remainders when there

are any.

160 + 20
240 + 30
280 + 40
450 + 50

16019
240+ 29
280 =+ 39
45049

16021
240 + 31
280 + 41
450 = 51

449+ 90
641 -+ 80
559 + 70
359 = 60

301+ 43
231 -+ 33
184 + 23
120+13

360 + 60
490 + 70

. 720+ 80

360 =90

360 + 59
490 + 69

720 +-79

360 + 89

360 =+ 61
490+ 71
720 -+ 81
36091

251 + 49
242+ 39
271 + 29
143 +19

19224
270 + 84
351 +44
432 + 54

450 + 90
560 + 80
350+ 70
540 =+ 60

450 <89
560 + 79
350 =+ 69
540 + 59

450 +91
560 + 81
350+ 71
540+ 61

149 +-21
269 = 31
364 +-41
368 + 51

585 + 65
748 + 15
757 + 85
628 + 95

300 + 50
360 +-40
210 + 30
180 + 20

300 + 49
360 -+ 39
210 + 29
180+ 19

300+ 51

360 +41 .

210 + 31
180 =21

324 = 62
583 + 72
672+ 82
846 + 92

819 + 86
325 + 76
396 - 66
392 + 56

270 + 30
200 +40
350 =+ 50
420-- 60

270+ 29
200 + 39
350 +49
420+ 59

270+ 31
200 =41
850 + 51
420 -+ 61

546 + 88
721 + 78
351 + 68
482 + 58

493 - 47
296 + 37
248 = 27

13017
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322. Blate Exercises.
Divide :
756 =+ 14
81015
864 + 16
918 17
968 + 22
736 + 23
576 =24
858 = 26
1,024 =+ 32
1,485 =33
1,536 + 34
. 1575+35
. 1,806 =42
. 2,408 +43
. 2,860 44
3,510 =45
. 421252
4558 + 53
. 4428 + 54
. 8,630+55
. 4,464 +62
. 5,544 + 63
. 7872+64
. 897065
. 5544+ 72
. 9,709 =173
2,738 = T4
5775 =75
. 9,430-+82
8,051 =83
. 721284
. 8,262-=85
. 8,464+ 92

LONG DIVISION.

34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
417.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.

6,055 + 93
6,392 + 94
9,025 + 95
2,717+ 19
9738+ 18
8,856 + 27
6,048 - 28
8,816 + 29
9,756 -+ 36
2738 = 87
5434 - 38
8,034 = 39
8,464 + 46
6,392 + 47
5,184 = 48
9996 — 49
9,072 + 56
8,151 + 57
8,816 = 58
4,956 + 59
9,450 - 66
8241 = 67
9216 = 68
6,624 = 69
9,234 + 76
9702 =77
8,034 + 78
8,611 + 79
9,632 + 86
9,309 =+ 87
8,580 = 88
7.941 = 89
5,184 + 96

67.
68.
69.
70.
71.
72.
73.
4.
75.
76.
1.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

149

9,409 + 97
9,996 - 98
9,108 -+ 99
9,450 = 27
8,356 =+ 86
4,880+ 45
9,428 + 54
8,763 + 63
9,804 — 72
9,716 =81
8,429 + 64
4 832 - 56
5,784 = 48
6,609 -+ 32
8,515 = 28
7,218 = 35
9,843 - 42
8,764 =49
7,349 =63
6,528 + 54
9,609 = 24
8,785+ 16
9,999 - 18
8,875+ 25
5,005 + 55
9,230 + 65
8475175
9,600 -+ 85
8,325+ 95
4,984 - 96
9,518 + 92
9,030 + 88
8,000 + 77
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DIVISORS ENDING WITH CIPHERS.
323. Oral Exercises.

Divide :
900 by 100 1,000 by 10 1,100 by 100 1,200 by 100
16 x100=? 1,600=-100=? 25x100=? 2,500--100=?

How do we multiply a number by 100? How can we divide
by 100 a number that ends with two ciphers?

324. Sight Exercises.

Give answers:

7,200 -+ 100

2,800 =+ 100 9,000 -+ 100 12,900 +- 100
3,600+ 100 5,900 + 100 8,700 + 100 18,700 + 100
4,500 + 100 6,100 + 100 13,500 + 100 20,000 + 100
2,800 + 200 1,200 + 600 66,000 - 11,000
3,600 =+ 300 2,100 =+ 700 39,000 - 13,000
3,200 = 400 4,000 + 800 48,000 -+ 12,000
2,500 + 500 6,300 + 900 28,000 —+ 14,000

325. Slate Exercises.
Divide 87,600 by 600.

6%% Strike out the same number of ciphers in
146 quotient. divisor and dividend.

1. 40,800+ 300 5. 78,300+ 900 9. 60,000+ 2,400

2. 12,800 + 400 6. 90,000+ 1,200 10. 98,000+ 2,000

3. 17,000 + 500 7. 72,000 =+ 3,000 11. 87,000 - 1,000

4. 85,400 + 700 8. 91,000+ 1,400 12. 80,000 + 20,000



EXAMINATION QUESTIONS.

326. 8ight Exercises.

Give answers :

151

1. 806+ 100 6. 2,856 + 700 11. 2,817 -+-1,400
2. 806+ 200 7. 3,025+ 500 12. 7,709 +1,100
3. 806-+400 8. 4,050+ 800 13. 4,235+ 2,100
4. 2,036 + 400 9. 3,675 + 600 14. 6,005+ 1,200
5. 1,896 -+ 300 10. 2,719 + 900 15. 9,393 + 3,100
327. 9,687+ 300 19,575+ 1,600
3/00) 96|37 12885
3281 16|00) 195|75
16
8,975 =+ 200 35
2/00) 89|75 32
44335 3
328. Slate Exercises.
1. 40,890 = 300 6. 72,194+ 800
2. 37,295-+400 7. 83,416 —~ 900
3. 59,532 + 500 8. 88,635+ 1,100
4. 64,380 + 600 9. 98,320 + 1,200
5. 62,700 -+ 700 10. 11,002+ 1,300
329. Philadelphia Public 8chools. — Oral Work.
1. 64+7+9+8+415 3. 499+7—9
2. 24—94+8+4+12—20 4. (3 0of30)+16
5. 12 times 7 9. How many 8'sin 72?
6. 7 times9 10. In 56 are how many 9's?
7. 3 times 25 11. How many 12's in 77?
8. Tx?=63 (48 + 12) x 20

12.
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13. How many quarts are in 2 bushels ?
1 bushel = 32 quarts.
14. In 16 pints are how many gallons?
16. 4 pecks and 2 quarts= quarts?
1 peck = 8 quarts.
16. } of a yard = inches?
17. 72 buttons = dozen?
18. 3 pounds= ounces?
19. Show the pupils a bucket and ask them to tell (approxi-
mately) how many gallons it could hold.
20. If 3 pounds of soap cost 30 cents, how much do 8 pounds
cost ?

330. Written Work.

1. Write in figures—nine hundred eighteen, six thousand
twelve, seven hundred six, eight thousand fifty.

2. From 4,132 take 349.

3. Add 48; 765; 56; 3,067 84;.4,567.

4. Multiply 96 by 78.

5. Divide 8,020 by 9.

6. A lot of ground cost $750, and the house built on it cost
three times as much. What did both cost ?

7. If a drover pays $3,675 for forty-nine horses, how much
would fifty horses cost at the same rate ?

8. A boy skated in a circle that was 20 feet across, and about
three times as far around. About how many feet would he skate
in going twice around the circle and twice across it? Drawa
diagram to explain your work.

331 Massachusetts Oivil Service Examination, — Draw-Tender of
Bridges. '

1. Write in figures the following number:

One thousand five hundred sixty-three dollars and fourteen
cents.
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2. Write in words the number expressed by the following
figures : 14,368.

8. Add the following column of figures:
) 792
8,467
1,828
119
427
2,336
4. From 21,315 take 19,678.
6. Divide 4,968 by 23.
6. Multiply 726 by 54.

332. Prison Service.
1. Write in figures the following numbers :
Two thousand seven hundred forty-two.
Six hundred seventy dollars and three cents.
2. Write in words the numbers expressed by the following
figures: ' 3742
$693.51

3. Add the following column of figures :
375
2,146
1,989
2,432
867
1,233
From 27,321 subtract 18,465.
Divide 1,554 by 42.
Multiply 305 by 46.

7. If a man works twenty-six days at two dollars and twenty-
five cents per day, how much money will he earn?

e o
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THIRDS AND NINTHS.
333. Oral Exeroises,

When a thing is divided into nine equal parts, each part is
called a ninth.

1 1 i

e, —

3 3
R ek ek e

One-third of a yard contains how many inches? How many
inches in one-ninth of a yard? One-third = how many ninths?
Two-thirds = how many ninths? One-third and one-ninth = how
many ninths?

One-third + one-ninth = how many ninths?
One-third 4 two-ninths = how many ninths?
One-third + four-ninths = how many ninths ?
One-third + five-ninths = how many ninths?
One-third 4 seven-ninths = how many ninths?
One-third + eight-ninths = how many ninths?

2 thirde 4 1 ninth = how many 9ths?

2 thirds + 2 ninths = how many 9ths?

2 thirds + 4 ninths = how many 9ths?

2 thirds 4 5 ninths = how many 9ths?

2 thirds + 7 ninths = how many 9ths?

2 thirds + 8 ninths = how many 9ths?

I3 R=1
P =2

Iy
?

I
-~ ¢~
-~ o~

§= 3
3= 3

oo
I
l
I

130.
¥



THIRDS AND NINTHS.

334. 8late Exerocises.

Add:
1. 18} 2.
%
6. 42} 7.
573
11. 953 12.
.
16. 37} 17.
5
21. 1} 22
2
3
26. 24  2T.
41
S
335. Subtract:
31. 6§  s2.
3§
6. 71§ 8.
663
41. 50 42.
I
_99 47.

46.

Z |3z |28 |83

Ezg e

EXrE

£

o =
8 |25 |&

l]i

274

13.

18.

23.

28.

33.

38.

43.

48.

. 16}

. 5}

19§

374

873

273

14.

19.

24.

29.

34.

39.

44.

49.

10.

15.

20.

25.

30.

35.

40.

45.

50.

17}

%
33}-

40
7}

90

17§

874
25}
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336. Give sums:
804+80 300+ 600
20490 5004 400
80470 200+ 700
90450 4004 300

337. Give differences:

150—-90 900 — 600
160—70 800 —300
140—-60 700 —400
120—50 600 — 200
338. Give products:
30x8 200 x 4
20%x 9 300 x 3
40x 4 400 x 2
70x 38 200 x 3
339. Give quotients:
2408 240 =+ 30
180+9  180+20
1604 160 + 40
210+ 3 21070
340. Give results:
+i -1
1+% -1
+3 -4
+4 -4

ARITHMETIC.

130+ 60
240+ 380
370+ 20
4104 80

190 —130
270 — 40
390 — 360
450 — 20

60x 7
80 x 2
90 x5
50 % 6

800 - 400
900 - 800
800 -+ 200
600 = 300

60 x 1}
60 x 13
60 x 1}
60x 1}

SPECIAL DRILLS.

275+ 10
183+ 9
672+

41T+ T

285 — 10
192 —183
670— 8
484 — 477

90 x 3
80 X §
60§
70 x §

800 +2
9003
800 =4
600 + 2

+

w0 DD e
Lo Sl ol

70 4 60
80+ 90 -
60 + 50
90+ 70

100—30
170 —80
130 —60
110—20

111 x5
222 x 4
333x3
444 x 2

666 + 111
999+ 3
888 + 222
AN

4 of 50
F of 80
$ of %0
% of 80
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MULTIPLIERS OF MORE THAN TWO FIGURES.

341 Multiply 249 by 397.
249

First multiply by 7, placing the first figure of the product under 397
the 7 of the multiplier. Then multiply by 9, placing the first -
figure of the product under the 9 of the multiplier. Next, multiply 1743
by 3, placing the first figure of the product under the 3 of the g%l
multiplier. Draw a line, and add.

98853
342. Multiply: :

1. 426 by 234 14. 536 by 148

2. 697 by 123 15. 824 by 111

3. 347 by 276 16. 379 by 254

4. 702 by 1385 17. 695 by 136

5. 615 by 153 18. 354 by 267

6. 383 by 234 19. 726 by 125

7. 723 by 134 20. 724 by 129

8. 806 by 119 21. 815 by 118

9. 809 by 123 22. 276 by 333

10. 519 by 176 23. 271 by 329

11. 852 by 246 24. 568 by 154

12. 495 by 196 25. 808 by 121

13. 634 by 148 26. 241 by 398

343. Divide:

27. 8,643 by 201 32. 7,891 by 607

28. 7,956 by 102 33. 9,884 by 706

29. 9,696 by 303 34. 9,684 by 807

30. 9,720 by 405 35. 9,988 by 908

31. 7,056 by 504 36. 8,199 by 911
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37.
38.
39.
40.
41.
42.
43.

6,496 by 812
9,269 by 713
9,210 by 614
6,708 by 516
9,960 by 415
7,291 by 317
9,810 by 218

ARITHMETIC.

44.
45.
46.
417.
48.
49.
50.

344. Multiply 456 by 209.

9,225 by 123
7,326 by 292
7,326 by 332
9,872 by 1,234
9,380 by 2,345
8,142 by 1,357
9,872 by 2,468

Place, as before, the first (units’) figure of the product by 9
under the 9 of the multiplier, and the first figure of the preduct by
2 under the 2 of the multiplier.

345. Multiply:

NortEe. — Either number may be taken as the multiplier.

51.
62.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.

635 by 108
903 by 107
959 by 101
691 by 140
772 by 120
827 by 103
271 by 306
314 by 206
724 by 105
808 by 121
128 by 709
671 by 105

63.
64.
65.
86.
67.
68.
69.
70.
71.
72.
73.
74.

203
123
245
204

483 by
704 by
401 by
351 by
907 by 110
499 by 198
68 by 1,203
47 by 2,023
2,005 by 49
49 by 2,005
131 by 706
368 by 204

456

4104
912
95304



346. Find products:
75.
76.
71.
78.
79.
80.
81.
82.

64 x< 13
42 x 2}
27 x 3%
56 x 13
24 x 21
18 x 8¢
32 x 5%
40 x 2§

83.
84.
85.
86.
87.
88.
89.
90.

REVIEW.

21 x
27 X
36 x
35 x
64 x
48 x
45 x
8 x 124

EIALELLS

91.
92.
93.
94.
95.
96.
97.
98.

9x11}
20 x 104
20 x 124
30 x 103
40 x 113
50 x 134
60 x 14§
40 x 15§

159



CHAPTER V.

MULTIPLIERS AND DIVISORS OF THREE OB MORE FIGURES.
— ADDITION AND SUBTRAOTION OF EASY FRACTIONS.
—MULTIPLICATION BY A MIXED NUMBER.— EASY
DENOMINATE NUMBERS.

MULTIPLICATION.

347. Multiply 48 by 26%.

48 To multiply by %, we can find one-fourth, and multiply the

result by 3.
ﬂ y }of48is 12 $0f48=12x3=36

4)144 . .
36 It will generally be found better to multiply first and then to
divide.
288 48x3=144 }of144=36
%6 The units’ figure of the product by 6 is placed under the 6.
1284 The first figure of the product by 2 is placed under the 2.
126 248 375
84% 130% 2064
3)252 8)1736 41125
84 o217 2811
504 744 2250
1008 248 750
10,668 32,457 77,581%
348. Multiply: .
1. 27 x 13} 5. 75x 23} 9. 328 x 45}
2. 36 x 81% 6. 64x433% 10. 468 x 83}
3. 48 x16% 7. 126 x 18} 11. 295 x 75§
4. 32x 37} 8. 252 x 63% 12. 154 x 284

160



13. 198 x 333 26. 360 x 703
14. 540 X 445 27. 630 x 80%
15. 770 X 564 28. 720 x 90§
16. 720 X 685 29. 840 x 10042,
17. 1,236 x 14} . 80. 960 x 1004
18. 2,484 x 24§ 31. 660 x 1202
19. 1,278 x 66% 32. 234 x 1304
20. 1,456 x 56% 33. 176 x 240%
21. 336 x 20} 34. 324 x 330}
22. 448 x 30} 35. 235 x 410%
23. 972 x 404 36. 576 x 160%
24. 1,024 x 50% 37. 25x 13}
25. 240 x 60% 38. 47Tx 14}
LONG DIVISION.
349. Slate Exercises.
52. 88,851+ 21 69. 87,963 + 109
53. 97,712+ 31 70. 98,172 -+ 202
54. 98,605 = 41 71. 98,475+ 303
55. 81,600~ 51 72. 99,788 + 404
56. 99,003 + 61 73. 95,445 + 505
57. 99,755 + T1 74. 93,930 <+ 606
58. 99,954 + 81 75. 97,566 + 707
59. 94,185+ 91 76. 99,384 + 808
60. 73,760+ 32  77. 99,081 =+ 909
61. 87,978 + 43 78. 86,478 + 213
62. 89,262+ 54  79. 99,792 -+ 324
63. 91,520+ 65 80. 88,305 + 435
64. 99,180+ 76 81. 92,820 + 546
65. 92,220 - 87  82. 95,922 - 657
66. 98,294+ 98  83. 94,464 + 768
67. 94,685+ 29 84. 90,195 = 859
68. 91,607 + 101 85. 99,944 -+ 961

LONG DIVISION.

86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.
101.
102.

161

254
3734

334

39.
40.
41. -
42.
43.
44.
45.
46.
417.
48.
49.
50.
51.

49 x
51 x
50 x
69 x 413
76 x 243
85 x ‘b3§

127 x 49}
258 x 843
987 x 403
876 x 504

1,870 x 30§

620 x 160§
250 X 260%

98,196 +
96,048 +
99,066 +
96,072 +
95,076 +
96,080 +
98,084 +
96,084 =
99,088 =+
98,196 +
95,961 +
92,550 +
77,385 =+ 2,345
79,488 = 38,456
91,827 + 10,203
81,216 + 20,304
98,760 + 12,345

1,002
2,001
3,002
4,008 -
5,004
6,005
7,006
8,007
9,008
1,002
1,108
1,234
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350. Give sums:
56 4 17 48 4+19
13478  18+42
25416 65+ 15
18425 14+18
351. Give differences:
66 —19 41—-25
56 — 39 90-—19
60 —12 67 — 48
66 — 47 80—15
352. Give products:
13 x4 5x 15
19x5 4x19
24 x 4 5x17
15x3 4 x 23
353. Give quotients:
42 +3 42 - 14
917 78 =13
56 + 4 75+ 15
90 +6 90 + 18

354. Give remainders:
]

4 -3}
254 — 5}
60 —13
4-1

ARITHMETIC.

SPECIAL DRILLS.

2 —19%
80 — 3}
40 — 13

64— 1}

67+ 17
14436
26 + 16
13+ 29

80— 65
50 —14
94— 76
60 —18

14 %6
31x7
90 x 8
14x 3

279 + 81
427 =61
205 <+ 41
568 + 71

8} — 5%
60 — }
40 —2%
-1

76 4+ 15
18 + 56
48+ 12
290+15

67—19

60 — 48
41 —16
84 — 67

8x 81
7x14
6 x16
5x18

92 -+ 23
78+ 26
56 + 28
81 =27

174 — 18}
40 — 3
40 — 3%
8 — 1}

59 4 17
18 4+ 45
34419
18 427

42 —29
3214
91 178
94 —18

18 x4
16 X 5
15x6
13x17

604
98 =7
705
48 =3

163 — 3
80 — 1}
40 — 10}
9% — 1}
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355. Oral Problems.
1. If 8 yd. cambric cost 63 cents, what will be the cost of
4yd.? '
2. How much will I have to pay for 12 pounds of 6-cent
sugar and a 15-cent bar of soap?
3. How many quarts of milk in 24 gallons?

4. A piece of cloth measures 45 feet. How many yards does
it contain?

5. At 5 cents per ounce, what will be the cost of a pound of
cinnamon ?

6. Bought 6 pounds of 6-cent sugar. How much change
from a half-dollar?

7. Gave five dollars in payment for 9 yd. silk, at 60 cents a
yard. How much do I still owe?
8. If 4 Ib. of candy costs 10 cents, how much must I pay for
41b.?
9. Gave } of a pie to John, and } to Daniel. How much of
the pie remained ?
10. I divided 3 apples into quarters. How many pieces did I
make ?
11. What will be the total cost of three 50-cent balls and five
10-cent bats?
12. A conductor charges 84 cents fare for a ride of 28 miles.
What is the rate per mile?
138. How many feet have 15 hens and 10 dogs ?
14. Paid 15 cents for a quart of syrup. What is the price per
gallon?
15. How much is received for a bushel of potatoes sold @ 15 ¢
per § peck? (1 bushel = 4 pecks.) '

16. I paid 21 cents for sugar, 15 cents for coffee, and 30 cents
for tea. How much did I pay for all?
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17. What will be the cost of 4 pounds of cheese, at 18 cents
per pound ?

18. When eggs are selling for 30 cents per dozen, how many
eggs can be bought for 90 cents? 4

19. If a bushel of wheat weighs 60 pounds, how many bushels
are there in 540 pounds of wheat ?

20. A dealer paid $96 for 16 sheep. What waa the price of
one sheep ?

21. A boy had 35 postage stamps, and bought 16 more. How
many had he then?

22. Find the cost of 36 two-cent stamps. -

23. When muslin is 5 cents a yard, how many yards can be
bought for 80 cents? .

24. A store-keeper sold from a 10-pound box of candy } 1b. to
one customer, and $ Ib. to another. How much candy remained?

26. A boy pays 15 cents for 3 quarters of a pie. What is the
cost of 1 quarter? How much does the whole pie cost ?

356. Slate Problems.

1. Paid $5.25 for 3 yards of silk. What will be the cost of
4 yards?

2. I bought 27 1b. of 6-ct. sugar, and 8 bars of soap at 15§
per bar. What is my bill?

8. How many pints of milk in 24 gallons?

4. A piece of cloth measures 720 inches. How many yards
does it contain ?

5. At 3 cents per ounce, what would be the cost of 5 pounds
of pepper ?

6. Bought 16 pounds of 60-cent tea. How much change
do I get from a $10 bill?
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. Gave $25 in payment for 16 yards of silk, at $1§ per yard.
How much do I still owe?

8. If 4 yard of cloth costs 75 cents, what is the cost of 1%
_yards?
9. A piece of linen measures 12} yards. How much will be
left after selling 54 yards and 4} yards?
10. How many quarters in $27°?

11. What will be the cost of 4 coats at $15 each, and 5 hats
at $2.50 each ?

12. Two towns are 150 miles apart. If the fare is $4.50,
what is the rate per mile?
13. How many feet have 17 hens and 13 dogs?

14. Paid 15 cents for a quart of molasses. What would be
the cost, at the same rate, of 13 gallons ?

15. How much is received for a barrel of potatoes, containing
3 bushels, sold at the rate of 10 cents per half-peck ?

16. Find the cost of 74 Ilb. of sugar at 6 cents per pound, 1}
1b. coffee at 28 ¢ per pound, and § 1b. of 60-cent tea.

17. How much must be paid for 24§ yd. of muslin at 4 cents
per yard ?

18. When eggs are worth 25 cents per dozen, how many eggs
can be bought for §1? For $3°?

19. A bushel of corn weighs 56 pounds. How many bushels
are there in a load weighing 2,240 pounds?

20. A farmer pays $1,600 for 25 cows. What is the price of
a cow ?

21. A boy had 276 butterflies after 137 had been destroyed.
How many had he at first ?

22. Find the total cost of 18 one-cent stamps, 13 two-cent
stamps, 10 three-cent stamps, and 5 five-cent stamps.
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ARITHMETIC.

23. When muslin is 5 cents a yard, how many yards can be
bought for $6}?

24. From a farm of 100 acres, 75} acres and 16} acres were
sold. How many acres remain ?

25. I paid $5.25 for 3 quarters of a yard of velvet. What
was the cost of 1 quarter of a yard ?

MULTIPLICATION.
357. 8late Exercises.

Use either number as a multiplier.

. 3,976 x 23

3,456 x 25"
2,879 x 34
2,508 x 36

5. 1,987 x 45
6. 1,893 x 47

1,593 x 56

. 1,427 x 58
. 1,488 x 67

1,060 x 69
1,059 X 78
1,190 x 84

. 1,097 x 89
. 1,036 x 93

96 x 13

80 X 248
108 x 3%

18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.

126 x
162 x
168 x
105 x
108 x
120 x
136 x
48 x 10}
2x 204
768 x 125
779 x 128
367 x 264
388 x 256
218 x 356

KREIIKEE

. 306 x 325
. 209 x 478
. 207 x 463

36.
37.
38.
39.
40.
41.
42.
43.

45.
46.
47.
48.
49.
50.
51.

105 x 589
166 x 597
158 x 612
149 x 624
137 x 723
127 x 735
116 x 834
105 x 846
103 x 967
101 x 985
64 x 31}
63 x 44}
128 x 187}
112 x 218§
297 x 3334
144 x 6663
108 x 750%



358. Review. Sight Exercises.

1. 2.

11.
16.
21.
26.

31.

36.

43
-4

5

4
1%
+3%
6}
+3%
5
-5
3
—2%
5
-1
3
s |

12.

17.

22.

27.

- 32.

37.

ADDITION :-AND SUBTRACTION.

MIXED NUMBERS.

3%
+51
%
=5
%
+2
43
4
8
—4
6
—3
7
—%
27
+3%

359. 8late Exercises.

11.

Add:
1.

564
724
13}
144
574

5
1

2.

12.

833

3.

13.

64}
15§

. 95}
3 -

291
65%

14.
19.
24.
29.
| 34.

39.

14.

. 873

10.

15.

20.

25.

30.

35.

40.

10.

15.

167

o+
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16.

360. Subtract:

21.

26.

31.

36.

75% 17.
%

1

22.

70%
6%

7%
8
27}
19}
15
3%

27.

32.

37.

72
5
E

37}
%
594
29}
16%
103
44

103

361. 8late Exercises.

P ek d fd ek e b
Lo Tk WD O

LA A ol o o

Divide:

60,000 = 21
97,168 = 381
50,239 =41
82,767 + 51
60,396 -+ 61
38,268 = 71
57,831 =81
25,691 + 91
54,004 <+ 33
49,165 + 25
. 42,177+ 52
. 33,868 43
. 85409+ 174
. 18,776 + 62
. 25,692 + 92
. 60,5612+ 85

17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.

ARITHMETIC.

26%
3¢
18¢

18.

28. 45%
8%
90}
S
37

18}
96

T}

28.

33.

38.

18,589 + 102
89,629 = 207
46,187 -+ 301
35,168 - 408
91,074 + 508
68,615 -+ 604
73,490 = 705
90,296 - 809
63,630 + 906
79,412 + 112
48,000 - 219
42,057 - 318
17,691 + 417
94,337+ 516
96,693 = 615
35,361 + 714

19.

24.

29.

34.

39.

33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
417.
48.

504
27}

59
23%
65
64%
79
35¢
56

20,998 —+-
36,533 +
30,308
76,536 +
15,630 -
51,238 +
98,592 -
86,833 —+-
17,584 +
56,778 +
35,445 +
21,506 —+

20.

25.

30.

35.

40.

3}
21}

63¢

634
9%

80}
5t

23
104

82
413

813

912
1,009
2,008
3,007
4,006
5,005
6,004
7,003
8,002
9,001
1,234

39,706 -+ 13,235
92,698 -+ 28,174
71,028 + 11,838
48,615 + 16,205
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362. Oral Problems,

1. A woman paid 46 cents for 2 yards of dress material.
How many yards could she buy for 69 cents?

2. A girl had § yard of ribbon. After using } yard for a
bow, how much had she left? .

8. How many inches in § yd.?

4. Find the cost of 2 Ib. coffee at 20 cents per pound and
4 Ib. of 80-cent tea.

5. If the cost of two-thirds of a yard of silk is 60 cents, what
is the cost of one-third of a yard ?

6. How much must be paid for 1 yard, 1 foot, and 1 inch of
wire at 1 cent an inch ?

7. When candy is worth 40 cents a pound, how much can be
bought for 60 cents?

8. A grocer puts up a pound and a half of tea into quarter-
pound packages. How many packages are there?

9. How many pints are there in § of a gallon?

10. Out of a flock of 75 sheep, 58 were sold. How many
remain ? '

11. A girl gave a half-dollar in payment for a 15-cent doll.
How much change did she receive ?

12. When syrup costs 48 cents a gallon, find the total cost of
a gallon, a quart, and a pint.

13. How many days will 104 pounds of butter last if 4 pound
is used each day?

14. How many gallons in 360 quarts?

15. How many pounds and ounces of tea will remain in a 10-
pound package after 3 pounds 5 ounces have been sold ?
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363. Dry Measure.
8 quarts (qt.) 1 peck (pk.)
4 pecks 1 bushel (bu.)

16. How many quarts in § bushel ?
17. How many bushels in 64 quarts?

18. How many pecks are there in a barrel containing 2}
bushels?

19. At 5 cents per quart, what would be the cosi of a bushel
of chestnuts?

20. How many cents in 4 of a dollar?

21. What will be the cost of a half dozen or;;nges at the rate
of 2 oranges for 8 cents?

22. When butter is worth 16 cents a half pound, how much
should be paid for 11 ounces?

23. If 3 pounds of sugar cost 18 cents, how many pounds can
be bought for 72 cents?

24. Five men can do a piece of work in 15 days. How long
would it take one man to do the same wdrk?

25. When muslin costs 8 cents a yard, what part of a yard
can be bought for 2 cents? For 4 cents? 6 cents? 7 cents?

364. Blate Problems.

1. A barrel of flour contains 196 pounds. How many barrels
can be filled from 6,076 pounds of flour?

2. From a piece of cloth containing 45} yards there are sold
14}, 134, and 12} yards. How many yards remain ?

8. How many inches are there in 10§ yards?
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4. A woman spends a dollar for 64 yards of calico at 8 cents
a yard, and some ribbon at 32 cents a yard. How much ribbon
did she buy?
One yard

5. A storekeeper —===n
charges 75 cents for 3 Y yd. ¥ yd. 3% yd.
quarters of a yard of | cost=? | cost=? | cost=?
silk. How much does
he charge for each quarter of a yard‘? What is the price per
yard ?

—— =l

6. A grocer sells a pound print of
butter and a half of a pound print for
48 cents. How much does the half-
pound print cost ?
7. Tind the amount pa1d for 1 yard, 1 foot, 1 inch of ribbon
at 72 cents per yard.

8. When candy is worth 20 cents a half pound, how much
can be bought for $1.40°?

9. How many pints are there in 4} gallons?

10. Seventy-five sheep remain in a flock after 29 are killed
and 41 are sold. How many sheep were in the flock ?

11. A girl gave a $5-bill in payment for four 75 cent dolls.
How much change did she receive?

12. When milk costs 24 cents a gallon, find the cost of 3 gal-
lons, 3 quarts, and 1 pint.

18. How many weeks will 21 pounds of butter last if § pound
is used each day ?

14. How many gallons in 280 pints?

15. From a 40-pound box of tea 29 1b. 11 oz. have been sold.
How many pounds and ounces remain?

16. How much does a grocer receive for a barrel of potatoes
containing 24 bushels, which he sells for 5¢ a quarter of a peck ?
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" 17. Find the weight of 1 bu. 1 pk. 1 qt. of oats that weigh
82 pounds to the bushel.

18. What will be the cost of 240 pounds of wheat at 90 cents
per bushel of 60 pounds?

19. Fifteen men finish a piece of work in 10 days. 1Jow long
would it take 1 man? How long would it take 50 men ?

20. Chestnuts are bought at $1.15 a bushel. How much is
gained on a bushel by selling them at 10 cents a quart ?

21. A farmer raised 574 bushels of wheat. He used 10}
bushels for flour and kept 8} bushels for seed. How much did
he receive for the remainder at $1 per bushel ?

22. Find the cost of 12 overcoats at $18.75 each.
23. I paid $54 for 2 dozen hats. What did the hats cost
apiece ?

24. A tub of butter weighs, with the tub, 423 1b. The tub
weighs 8} Ib. How much is the butter worth at 24 cents per 1b.?

25. Find the loss on 12 cows bought for $ 700 and sold at $55
each.

NOTATION AND NUMERATION.

365. Write in figures:

One hundred thousand. Two hundred thousand. Three hun-
dred thousand. Four hundred thousand. Five hundred thousand.
Six hundred thousand. Seven hundred thousand. Eight hun-
dred thousand. Nine hundred thousand.

366. Read the following:
1. 100,000 4. 405,600 7. 756,400
2. 200,350 5. 550,000 © 8. 864,370
3. 304,000 6. 675,000 9. 999,999
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367. Write in figures:
1. Eight thousand, three hundred twenty-five.
2. Eighty-eight thousand, three hundred twenty-five.

8. Eight hundred eighty-eight thousand, three hundred
twenty-five.

4. Six hundred seven thousand, four hundred eleven.
Eight hundred sixty thousand, eighty-six.

Seven hundred nine.

Four hundred twenty thousand, nineteen.
Thirty-five thousand, six hundred. one.

Two hundred thousand, five.

10. Five hundred eleven thousand, eighty.

® ® e

368. Write in Roman numerals:

1. One hundred eighty. 4. One hundred ninety-nine.
2. Two hundred fifty-nine. 6. Two hundred sixty-four.
3. Three hundred seventeen. 6. Ninety-nine.

369. Read the following:

260,371 162,039 131,130 514,151 281,001

40,252 67,226 52,321 40,008 63,070
300,200 310,016 270,303 259,000 468,800
468,800 120,645 242,598 101,200 434,759

108,991 8,271 60,570 56,005 252,010
514,868 50,250 105,709 39,100 9,009
100,001 202,020 83,006 8,675 20,036
156,017 721,809 500,746 171,118 4,226
448,315 174,004 314,159 400,756 12,831
610,030 75 18,908 804 6,060

CCCIX CLXXIV XCVIII LXXVII CXLIX
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370. 8late Exercises.
Add across. Add down.

1+ 2+ 8+ 4+  b5=?

20 + 30+ 40+ 50 + 60="1?
300 + 400 + 500 4 600 + 700 =?
40004 5,000+ 6,0004 17,0004 8,000=2?

50,000+ 60,000+ 70,000+ 80,0004 90,000="?
100,000 + 200,000 + 100,000 + 200,000 4- 100,000 = ?

7+ ? 4+

+ ? 4+ ? =?

371. Add down. Subtract across.

9— 6=2
80—  50="?
700—  400=?
6,000— 3,000 ="?

50,000 — 20,000="?
400,000 — 100,000 ="?
? - ? =?

8—  3=?
10— 20=?
600—  400=?

9,000— 5,000 ="

50,000 — 10,000="?
600,000 — 800,000 =?
? - ? =?

372. Multiply across. Add multiplicands and products.

Tx5="? 2x8="7? 2%x10="? 1x12=?
5x5=7? 10x8="? 10x10="? 10 x12="?
?X5="7? ?x8="7? ?x10="? ?x12=?
1x5="7? 3x6=2? 3x12="? 5x20="
10x5="? 20x6="? 10x12="? 20 x 20="?
100x5="? 100x6=" 100x 12="? 300 x 20="?
?xXb="? ?X6=? ?x12=? ?x20="



REVIEW,
373. Review. -
Add:

1. 260,871 2. 161,008 3. 131,130
40,252 39,062 52,821
30,009 67,226 270,308
46,880 310,016 99,999

123,456 20,645 42 598
80,991 8,271 60,570
14,868 50,250 5,709

5,617 21,809 83,006
831 174 14,159
5. $1234.69 6. $3,085.94 7. $2,345.00
576.83 783.26 684.37
85.98 1,508.77 25.94
6.47 654.85 8.75
23 88.99 18.46

.09 6.54 250.09
1.50 38.04 43.77
23.87 275.80 876.54
784.76 2,060.74 3,016.88

9. 183,756 - 98,765 4 8,438 4 789 + 2,468 4 1,892 4- 860 +

3,456.

10. 95,438 4 264,838 -+ 124,606 - 88,776 + 9,543 4 32,685 4

18,943 4 250,608 + 27,655.

374. Find answers:
11. $260,371 12. —$1,089.91
— $40,252 $3,002.00
14. —100,001 15. $610,030
514,868 —$448,315
17. $3,141.59 18. — 804
—$189.08 400,756

175

4. 400,756
71,318
8,888
A
12,831
6,954
4,226
52,010
6,666

8. $2,400.00
789.86
54854

1,436.25
894.98
69.75
732.80
2,469.68
543.16

13. $468,800
—$108,991

16. -5
174,004

19. $1,711.18
— $86.75
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375. Multiply :

20.
21.
22.
23.
24.
25.
26.
217.
28.
29.

10,345 x 84
15,983 x 56
19,876 x 48
13,286 x 75
24,680 x 24
10,048 x 86
33,465 x 29
16,495 X 57
27,654 X 35
10,259 x 93

376. Slate Exercises.

Divide :

50. 40,337+ 19.
51. 33,684+ 28
52. 48211+ 387
53. 55338+ 46
54. 58767+ 57
55. 156,130 65
56. 237,158+~ 79
57. 251,490+ 83
58. 960,848+ 92
59. 112,360 106
60. 217,365+215
61. 327,888+ 324
62. 442,681 +437
63. 574,248+ 568
64. 747,579+ 679
65. 841,928+ 764
66. 182,160+ 828

e17.
68.
69.
70.
71.
72.
73.
74.
5.
76.
7.
78.
79.
80.
81.
82.
83.

ARITHMETIC.
30. 47,695 x 19
31. 34,588 x 28
32. 13,642 x 65
33. 18,395 x 47
84. 12,896 x 73
35. 24,966 x 38
36. 11,865 x 82
87. 11,898 x 64
38. 10,056 x 95
39. 10,209 x 95
DIVISION.
286,638+ 946 84.
153,750+-1,025  85.
828,402+ 1,367  86.
477522+2151  87.
774,038 +2,572  88.
921,854-+-3,006 89.
876,438 -4,002  90.
513,824 +-5,041 91.
934,829 -+-6,036 -92.
800,800 -+-7,102  93.
909,090+8,103 94.
18,950+ 22  95.
20,000+~ 24 9.
23486+ 26 97.
27509+ 28 98.
42035+ 32 99
76,892+ 35 100

40.
41.
42.
43.
44.
45.
46.
47.
48.
49.

12,847 x 76
11,876 x 78
10,685 x 87
13,598 x 63

9,876 x 99
10,478 x 92
16,428 x 54
12,845 x 49
13,295 x 67
10,985 x 85

84,318+
100,295 -+
153,610+
172,819+
189,570 +
200,300+
210,517+ 69
230,329+ 75
250,000+ 124
316,051+ 256
408,935+ 361
573,217+ 423
516,600 +1,025
616,284 2,014
873,108 -+ 4,301
630,525 +6,005
. 987,654 +9,023

38
4
49
55
63
66
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MORE THAN ONE OPERATION.
0

Slate Exercises.

40} + 13} + 5}

23 + 5§ — 91

63 x 45 x 3%

(712x 8F) x 19

(48 x 24) + 12

48 x (24 +12)

100 — (63} + 244)

(100 — 63%) + 24}

100 4 243 — 63}

(4 of 100) x 3%

4 of (100 x 3%)

1944 - 54

18

(4BxNH—(11x"
28

(6 x18)+(9x 14)
8

377.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.
111.

112.

1183.

114.

6 x18

115.
3

+ (9 x 14)

378. Oral Problems.

116.
117.
118.
119.
120.
121.
122.
123.
124.
125.
126.

127.

128.

129.

130.

(16 x 15) — 18

16 x (1563 — 13)

1944 - (54 +18)

31+ (5 x 8)

(84 +5§) x 8

(284 x 42) + (18 x 11)

284 x (42+18) x 11

(43 +12§+3}) x 3%

(14418—-19) x 75

(64 +52) — (37 + 16)

(83 x 13) — (64 x 4%3)

36 x 25 x 34

17x72%x5

(36 X 5) 4 (96 x 24)
18

9 x 14

3
9 14
3

(6 x 18) +

6x 18

g T

1. A piece of ground is 100 feet long and 25 feet wide. How
many feet of fence will be needed to enclose it ?

2. A spool of thread contains 200 yards.
does it contain ?

How many inches

3. If three quarts of molasses cost 18 cents, how much must

be paid for a gallon?

4. A customer pays 18 cents for three-fourths of a gallon of
molasses. What is the price of a gallon ?
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5. A boy hires a sail-boat at 60 cents an hour and uses it
from half-past 8 o’clock until 10. How much has he to pay?

6. A woman divides a dollar and a half between two children.
What part of & dollar does she give to each ?

7. A farmer had 25 sheep. He bought 42 and sold 16. How
many sheep had he then?

8. At 3 cents a mile, what would be the fare from New York
to Philadelphia, 90 miles?

' 9. The distance between New York and Albany is 140 miles,

and the fare is $2.80. What is the rate per mile ?

10. If there are 60 matches in a box, how many are there in
8 boxes?

379. 8late Problems.

1. A field, in the shape of & rectangle, is 275 yards long and
105 yards wide. How many yards of fence will it take to enclose
it?

2. How many half-pints are there in a 15-gallon keg of
cider ?

‘8. If 8 yards of silk cost $1.80, what will be the cost of 5%
yards ? '

4. A person pays $186 for three-quarters

of a plot of ground. What would he hayehad

' to pay if he had bought the other quarter
ceee---i also? (Mark in each quarter its price.)

5. A man rents a house for $360 a year. How much rent
does he pay from January 1 to August 1?

6. A grocer puts 9} pounds of coffee into two equal pack-
ages. How much is there in each package?

7. A gardener raised 98} bushels of potatoes. He ate 4}
bushels and sold 53} bushels. How many bushels had he left?

8. At 2 cents per mile, what is the fare from Boston to New
York, 249 miles?
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9. If a train goes 40 miles an hour, how many minutes does
it take to go one mile ?

10. If there are 60 matches in a box, how many matches are
there in two dozen boxes ?

EASY FRACTIONS.
380. Oral Exercises.
How many inches in 1 foot? How many inches in 4 foot ?
How many inches in § foot? How many inches in § foot?

How many inches in } foot and } foot? What part of a foot
is } foot + } foot?

381. Divide a line into thirds. Place a line of the same
length underneath, and divide it into sixths. Which is longer,
4 or }? How many sixths are ‘there in one-third? } = how
many sixths? } =how many sixthe? 4+ }=how many
sixths?

382. 8late Exercises. .
1. 24 2. 5% 3 64 4 9} 5. 18 6. 24}
. +3} + 73 + 9% i}% + 9% +18%
7. 234 8.47F 9. 34} 10. 503 11. 81§ 12. 33}
+ 143 + 8% + 994 + 843 + 6% + 163

13. 48 14. 54 15.100 16. 29 17. 70 18. 213
-84 —214 —633  —19%  —238}  —65%

19. 94 20. 83 21. 34} 22. 62} 23. 120} 24. 57}
—56§ —9§  —213  —58F  —34F  —28%

25. 62§ 26. 73} 27. 81} 28. 45} 29. 83} 30. 24
—988 —144  —20}  —26 — 16}  —163

31. 24} 32.48 33. 57} 84. 643 85. 90 36. 89%
—16} -29§ -8  —394 —15}  —66%
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MULTIPLICATION.
383. Slate Exercises.
Mu]t..iply :
1. 456 x 102 26. 107 x 4,060
2. T12x 203 27.  456x 103}
8. 835x 304 28. 456 x 103%
4. 327x 405 29. 456 x 103}
5. 605x 506 30. 456 x 3013
6. 584 x 607 31. 456 x 1303
7. 123 x 708 32. 456 x 130}
8. 246x 809 33. 456 x 301%
9. T77x1,010 34. 375 x 208%
10. 924 x 1,011 35. 1,024 x 204}
11. 1010 x 777 38. 208 x 4,060%
12. 1,011 x 924 37. 9,236x 106
13. 248 x 123 38. 10,848 x 92
14. 234 x 234 39. 634 x 27}
15. 108x 345 40. 576x 102}
16. 304 x 456 41. 1876 x 405}
17. 909X 678 42. 1928 x 3,001
18. 132x 789 43. 683X 25§
19. 206 x 3,910 44. 3T5x 80}
20. 344 x 273 45. 279 x 8,050
21. 1,234 x 123 46. 842 x 113%
22. 2,345 x 234 47. 43656 x 215
23. 806 x 1,050 48. 2888x 324
24. 480 x 2,020 49. 5,681 x 137}
25. 203 x 3,040 50. 604 x 1,580
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SHORT METHODS.
384. Blackboard Exeroises.
‘Write answers :

643

287 Beginning at the bottom say 12, 15, and 5 (writing it in its place)
? are20. 4,12, 16, and 4 (writing it) are 20. 4, 10,
25 The missing number is 45.

1,000

1. 28 2. 80 3 315 4 2 5. 699
64 ? 487 208 87
nz 54 ? 63 208
i 387 95 5 ?
1,340 1496 1,000 1,402 997

We see that the quotient figure is 4, which is

385, 134 — 4.t written. Four 8sare 32, and 2 (writing it) are 34.

28 Four 255 are 8, 3 (the tens from 34) are 11, and 2
(writing it), are 13. Ans. 434

. 82)146 19, 61)360 ' 18, 19)180
447 5e1 9%
7. ,21)160 13. 71)490 19. 51)300
8. 280+41 14. 720-+81 20. 180+ 41
9. 450+ 51 15. 54091 21. 210+ 381
_2i9 =171 .@ = ! EQ: L
10. =Ty 16. =27 22. o
270 _ 560 820
11. o 17. 31 23. 41
386. Do not place multiplier under multiplicand.
24. 183 x 4 29. 512x 8 34. 919x 20
26. 246 x 7 30. 892x 12 35. 459 x 50
26. 734x11 31. 3876 x 40 36. 999x 38
27. 284 x 30 32. 483x 6 37. 888X 2

28, 3716 x D 83. 609 x 9 38. 734 X 60
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387. Write results:

39. } of 289 44. }of 574 49. J; of 5,678
40. } of 429 45. Jof 796  50. & of 7,890
41. } of 678 46. }of 983 51. % of 2,345 .
42. } of 888 47. P of 1,234 52. @ of 4,567
43. } of 357 48. 4 of 3,456 53. g of 6,789

388. Write the missing numbers directly in their places.

54. 1,346 55. ? 56.  ? 57. 240
—? . — 873 x 12 X ?
879 2,099 8,736 4,800
? ? 96 490
. i=12§ b59. L=33} 60. 2= AU
58. =12 s=33F 0. T=32 6L T

389. Oral Prohdems.

1. By selling a horse for $300, a man gained $40. What did
he pay for the horse?

2. If a train goes 32 miles in an hour, how far will it go in
15 minutes?

3. What will be the cost.of a quarter of a pound of nutmegs
at 6 cents an ounce?

4. How many 2-ounce packages can be made from 8 pounds
of pepper? :

5. A man travels 24 miles in 6 hours. How far does he go
in 4} hours? _

6. Paid $32 for 16 yards of cloth. What did it cost per
yard ?

7. A man and his two sons earned $90. The father earned
$40." What did each boy earn?
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8. John reached school at 13 minutes past 8; James came
17 minutes later. What time was it when James arrived ?

9. Corn sold last year for 57 cents per bushel. This year it
is 18 cents higher. What is the present price?

10. What do I receive for an article that cost me 71 cents,
and which I sell at a loss of 14 cents?

11. How many years old to-day is a boy that was born in
1884°?

390. U. 8. Oivil Service. Printer's Assistant Examination,—
Treasury Department, ’
1. Add the following, placing the total at the bottom :
742,155.74 :

429.39

6,873.68

397.49

1,956,374.20

2. Express in figures one thousand eight hundred eighty-

8. From 332,721 take 143,832.

4. Write in words the following number : 501,045.
6. Multiply 871,645 by 34.

8. Divide 109,782 by 342.

7. If a printer’s assistant earns $1.25 a day, how much will
she earn in a year of 300 working days?

8. If askilled helper earns $325 in a year, how much will
he have left after paying his board at the rate of $16 a month ?

9. Add 125,324 and 3,607 ; from the sum subtract 342.

10. If a printer’s assistant spends 10 cents a day for street-car
fare, how much will she spend in two months of 30 days each?
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HALVES AND FIFTHS.
391. Oral Exercisges.

How many cents in one-fifth of a dime? How many cents in
one-tenth of a dime? How many cents in one-half of a dime ?

i 1
C NN
LR LIS N R SR N A R
1 3 3 3 3

| Tz 02020202020 gz 0 0 |

How many tenths in one-half? How many tenths in one-fifth?
How many tenths in one-half plus one-fifth ?

=To =1 t=1v $t=1v =1v
=7 A=? =0 =1 =17
392 8late Exercises.
1. 19} 2. 28§ 3. 35} 4. 64} 5. 473
T ST SRS ST

6. 25} 7. 50} 8. 843 9. 924  10. 68
—16} —29% — 13 —3 - —103

FOURTHS AND FIFTHS.

393. Oral Exercises.

When we add halves and fifths, we change both to tenths. To
what must we change fourths and fifths when we wish to add
them ? Why will it not do to use tenths ?



FOURTHS AND FIFTHS.

394. B8late Exercises.

1. 3 12, 2%
+1 +3

16. 26} 17. 38}
+ 73 +15%

—52¢ —9%
395. Add:
26. 15}  21. 23}
9% 6}
LI
396. Subtract:
31. 25 32. 36
B 4
36. 70 37. 81
8% 9%

41. 64}  42. 99}
290}

6. 13}  47. 81}

P
K=

13.

18.

23.

28.

33.

38.

43.

48.

3f 14. 3%
+13 +13
493 19. 974
+ 263 + 7%
833  24. 55%
— 20} —48%
173 29. 491
% 29%
% 5
47 34. 58
Bt &
92} 39. 88}
& 4
874 44. 15}
LB
931 49. 473
38} iR

185

16. 15%
5%
20. 181
+ 294
25. 32%
—173
30. 52}
20%
10}

35. 69
i}

40. 75}
103

45. 204
113
50. 863
473
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LONG DIVISION DRILLS.

397. Give quotients at sight. Omit remainders when there

are any.

840 + 210
860 —+ 430
930 = 310
260 + 130

398.
840 + 211
860 + 432
930 =+ 313
260 =134

399.
840 + 209
860 = 429
930 -+ 309
260 + 129

400.
2,510 = 499
3,640 + 510
3,240 -+ 620
3,510 + 679

401.

750 + 150
1,260 + 140

780 + 130
1,120 + 140

420 + 210
990 -+ 330
880 - 440
280 = 140

420 + 216
990 - 337
880 - 448
280 + 149

421 + 203
992 + 327
883 + 436
284 + 135

2,420 + 391
1,743 + 526
4,821 + 589
2,033 + 791

1,200 -+ 150
700 + 140
1,350 + 150
840+ 140

960 + 320
440 -+ 220
630 + 210
680 + 340

960 + 327
440 - 226
630 = 215
680 = 344

960 -+ 319

440219

630 + 209
680 - 339

3,699 + 411
2,043 - 482
4,220 + 693
4,934 + 816

910+ 130
980 + 140
1,170 = 130
850+ 170

840 + 420
390+ 130
660 + 330
640 - 320

840 - 422
390 - 131
61 - 330
641 -+ 321

849 + 420
398 = 129
667 — 328
645 = 317

1,610 = 381
3,682 = 613
5,834 + 798
7,215 + 781

1,040 =130
900 -+ 150
650 - 130
640+ 160
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'402. Slate Exercises.

Divide:

D W W W N W XD ke e pmt e pt e ek bk d ed
S WO O TSR WO

A e B o

452,610 + 141
656,792 + 152
101,745 -+ 133
531,304 + 154
837,465 + 155
612,820 -+ 136
891,261 + 147
966,828 - 138
894,447 -+ 149
948,790 + 158

. 959,137+ 137
. 759,638 + 146
. 906,585 + 135
. 820,944 + 144
. 156,152 + 153
. 309,168 + 152
. 521,640 + 161
. 688,516+ 172
. 922,504 - 183
. 926,208 + 194
. 884,638 = 215
. 354,645+ 235
. 295817 + 256
. 728,954 + 277
. 687,836 = 293
. 948,172 + 318

DIVISION.

27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.
51.
52.

347
375
396
424
452
483
531
562
594
644
689
724

497,961 +
187,365 +
612,172 +
305,340 +
956,908
824,827 =
853,568 =
907,830
708,000 +
678,579 +
694,734 +
636,902 +
839,243 + 847
588,640 —~ 981
627,652 + 1,032
998,171 + 2,165
999,477 + 3,254
800,034 + 4,316
832,336 + 5,409
165,273 + 6,521
535,068 ~+ 7,611
268,395 + 8,794
317,324 + 9,801
412,644 + 1,453
470,493 + 2,043
777,349 + 8,087

187
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403. Oral Problems,
1. A farmer had 42 bags of rye, each containing 2 bushels.
How much rye did he have after selling 50 bushels ?

2. I buy 1} lb. of 40-cent tea and hand the grocer a dollar.
How much change does he give me?

3. If a man receives $120 for three cows, how many would
he have to sell to receive $200°?

4. Find the cost of 5 dozen oranges at a cent and a half
apiece.

5. A boy sold some newspapers for 75 cents, on which he
gained 18 cents. What did he pay for the papers ?

6. Three girls divide equally among them 84 hickory nuts.
‘What is the share of each ?

7. A barrel of sugar contains 300 pounds. What is it worth
at 5 cents a pound ?

8. A man had 40 pigs and sold three-quarters of them at
3 dollars each. How much money did he receive ?

9. A girl multiplied a number by 7 and her answer was 98.
‘What number did she multiply ?
10. A farmer exchanged 7 sheep worth $12 each for cows
worth $42 each. How many cows did he get ?

11. If a man walks 4 miles an hour for 5 hours a day, how
many days would he take to walk 100 miles?

12. A man buys 2 pieces of ribbon for 90 cents, paying 10
cents per yard. There are 4} yards in one piece. How many
yards are there in the other ?

18. If 4 baseballs cost a dollar, how many dollars will 84
baseballs cost ?

14. How many freight cars will there be in 4 trains of 41
cars each ?
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404. Blate Problems.

1. A farmer had 800 bushels of wheat. How much had he
after selling 8 loads of 70 bushels each ?

2. Ibuy 1% Ib. of beefsteak at 24 cents a pound, and give
the butcher a dollar. How much change should I receive ?

3. If a person receives $105 for 3 cows, how many cows
would he have to sell to obtain $175?

4. Find the cost of 5 dozen oranges at the rate of 2 oranges
for 3 cents. ’

5. By selling a house for $5,750, a man made a profit of
$250. How much did he pay for the house?

6. Three brothers divide equally among them 679 acres of
land. What is the share of each?

7. Five barrels of flour contain 980 pounds. What is the
value of one barrel, when flour is worth 3 cents a pound ?

8. A man sells § of his pigs at $5 each. If he had 24 pigs
at first, what did he receive for those he sold ?

9. A girl multiplied a number by 7 and the answer was
2,814. What number did she multiply ?

10. A farmer exchanges 12 sheep worth $15 each for cows
worth $45 each. How many cows should he receive ?

11. If a boy walks 2 miles an hour for 7 hours a day, how
many days would he be in walking from Washington to New
York, 224 miles ?

12. A man buys 4 pieces of ribbon for 90 cents, paying 10
cents a yard. The first piece contains 1§ yd., the second 2} yd.,
and the third 1§ yd. How many yards are there in the fourth
piece ?

13. How many quarts are there in a barrel that contains 2}
bushels ?
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MULTIPLICATION.
405. Blackboard Exercises.

The pupils should write answers at sight to the following
questions placed on the blackboard.

Find the cost of :

21 1b. of raisins, at 13¢ per lb.

22 hats, at $1.30 each.

14 sofas, at $21 each.

31 yards of ribbon, at 15¢ per yd.
42 overcoats, at $21 each.

13 1b. of butter, at 32¢ per 1b.

31 yards of silk, at $2.20 per yd.
24 bu. of wheat, at $1.02 per bu.
32 horses, at $203 each.

15 cows, at $42 each.

120 bbl. of flour, at $5.25 per bbl.
. 41 pigs, at $13 each.

4} tons of hay, at $14 per ton.

. 33,000 stamped envelopes, at $21 per thousand.
. 400 Ib. of sugar, at 5} # per 1b.

12 hats, at $2.25 each.

. 16 hats, at $2} each.

. 12% yd. of silk, at $3 per yd.

. 21 sheep, at $ 14 each.

. 104} yd. of muslin, at 8¢ per yd.

©® ® X o xR ow D
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REVIEW.

DIVISION.

406. Blackboard Exercises.

Find cost of 1 pound, 1 gallon, etc. Write answers at sight:

21.
22.
23.
24.
25.
26.
217.
28.
29.
30.
31.
32.
33.
34.
385.
36.
37.
38.
39.
40.
41.
42.
43,

$2.94 for 14 1b. of coffee.
$33 for 15 hats.

$325 for 13 sofas.

$882 for 42 overcoats.
$5.25 for 105 bottles of ink.
$37.20 for 81 yards of cloth.
$9.92 for 32 Ib. of butter.
$25.50 for 25 bu. of wheat.
$4,284 for 21 horses.

$615 for 15 cows.

$480 for 96 bbl. of flour.
$574 for 41 pigs.

$286 for 22 tons of hay.

$93.20 for 4 thousand envelopes.

$ 35 for 700 1b. of sugar.
$33 for 12 hats.

$35.20 for 16 hats.

$144 for 48 yd. of silk.
$225 for 15 sheep.

$16.96 for 212 yd. of muslin.
$18.00 for 15 dolls.

$ 600 for 4 wagons.

$33.60 for 30 vd. of carpet.

191
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TABLE.

407. Find the total attendance of each day, the aggregate
weekly attendance of each class, and the grand total.

Monday. | Tuesday. | Wednesday. | Thursday. | Friday. | Total.
Ist class. . . 36 37 35 31 33 172
24 « . .. 38 40 36 32 37
3d “ ... 40 41 40 37 39
4th « . . . 42 42 43 41 42
6th “ . . . 4 41 45 43 44
6th *« . . . 46 45 45 4 42
Tth « . . . 48 45 43 47 46
8th “ . . . 50 49 49 49 48
9th « . . . 52 53 50 49 50
10th «“ . . . 54 55 56 55 54
Totals.

THIRDS AND FOURTHS.
408. Oral Exercises.
(3 , 1 (3

i 3 i
IR B D S - B S - B IR <

o T
AU T T

i L

Ll

calte

] ' 3
AB is divided into twelfths. How many twelfths in a fourth

of AB? }=How many twelfths? }=1%? §=,5? How
many twelfths in } of AB? }={5?
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How many inches in } foot? In % foot? In § foot? In}
foot? 1In § foot?

How many inches in § foot 4 } foot? How many twelfths in
one-fourth and one-third ?

409. Slate Exeroises.
1. 124 2 155 s 18} 4. 253 5. 633

L i o
6. 80} 7. 874 8. 16} 9. 75§ 10. 563
— 5% —-20 - 3 — 26} —18%
410. Add:
11. 14} 12. 204  18. 334 - 14. 5}  15. 25}
3% 15¢ 204 9% 25%
1 & s 14% 24
16. 81} 17. 273  18. 56} 19. 663  20. 80%
30} 191 8} 19% 5%
St B _1 B 10¢
21. 22} 22. 8374  23. 9}  24. 75  25. 84}
5% 16} 3% 20% 10}
13 5t 3 84 2
411. Subtract:
26. 95} 27. 878  28. 0} 29. 62}  30. 513
704 2 iy 48
- 31. 75} 32. 873  383. 52} 34. 403  35. 31§
614 2/ 14 %1
36. 87 87. 62 38. 17 89. 56 40. 59
55 o4 W2
41. 75 42. 16- 43. 71 44. 93 45. 40
61} 123 433 613 26§

46. 84} 471. 224  48. 38§ 49. 463  50. 403
52% 9% 244 5% 20%
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DENOMINATE NUMBERS.

412, Slate Exercises. - s

Change 7 1b. 5 oz. to ounces.
Change .69 oz. to pounds and ounces.
82 qt. to gallons and quarts.

oo o

14 gal. 8 qt. to quarts.
5. 47 pt. to quarts and pints.
28 qt. 1 pt. to pints.

7. 18 bu. 3 pk. to pecks.

8. 17 pk. 7 qt. to quarts.

9. 97 qt. to pecks and quarts. °
10. 87 pk. to bushels and pecks.
11. 49 bu. to quarts.

12. 5 yards to inches.

13._ 14 yd. 2 ft. to feet.

14. 13 ft. 3 in. to inches.

156. 119 in. to feet and inches.
16. 70 ft. to yards and feet.

17. Add 24 1b. 12 oz. and 19 1b. 4 oz.
18. 63 gal. 8 qt. 424 gal. 1 qt.
19. 27 qt. 1 pt. 87 qt. 1 pt.
20. 83 bu. 2 pk. + 67 bu. 2 pk.
21. 13 pk. 5 qt. + 29 pk. 3 qt.
22. From 98 ft. take 12 ft. 9 in.
23. 75 bu. — 14 bu. 1 pk.

24. 33 ft. — 19 ft. 11 in.

256. 135 gal. — 67 gal. 2 qt.

*

——
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413. Oral Problems.

1. A girl receives 70 in arithmetic and 90 in reading. What
ia her average in the two studies?

2. A man paid $30 each for two cows and $60 for a third.
What was the average price of the three cows?

3. Bought 2 1b. 8 oz. of meat at 16 cents per lb.,, and 1 qt.
1 pt. of molasses at 10¢ per qt. What was the total cost?

4. What will a bushel of chestnuts cost at 10 cents per
quart?

.5. If 12 tons of coal cost $60, how many tons can be bought
for $75?

8. How long will it take 1 man to do a piece of work, if 12
men can do it in 12 days?

7. Six dozen collars cost $6.60. What is the price of one
dozen? '

8. A farmer had eighty sheep. How many had he left after
gelling § of them ? '

9. Sold 2 cows at $30 each and 3 at $40 each. How much
was received for the five cows?

10. A grocer sold 25 1b. of tea on Monday, and 5 1b. more on
Tuesday than on Monday. How much did he sell on both days?

11. 1,200 cabbage plants are to be placed in 4 rows. How
many plants will there be in each row ?

12. A train started with 100 passengers. If 65 got on and
40 got off, how many passengers would there be on the train?

13. A man sold a cow for $60. How much did he pay for
the cow if he lost $20 on the sale?

14. Bought a cow for $48. How much would be gained by
gelling her for $ 60 ?

16. How old in 1891 was a boy that was born in 1880?
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16. If a man saves $40 per month, in how many months will
he save enough to buy a lot worth $480?

17. A man and his son receive $50 for 10 days’ work. The
father’'s wages are $3 per day. What wages does the son receive
per day?

18. A dealer buys 15 pairs of shoes at $2 per pair. How
much does he gain if he sells them for $3 per pair?

19. A farmer bought a cow for $60, a sheep for } as much,
and a calf for } as much. What did he pay for the three?

20. There were 24 boys present in a certain class on Monday,
22 on Tuesday, 20 on Wednesday. What was the average num-
ber present each day?

21. A woman gives two $20 bills for two dresses. One costs
$10, the other $10 more than the first. How much change does
she receive ?

22. What will be the cost of 4 loads of flour, 10 barrels to the
load, at $5 per barrel ?

23. Henry buys 4 base balls for $3. He gives $1.25 for one,
50 cents each for two. How much does he pay for the fourth ?

24. A man buys a piano for $360. He pays $300 cash. How
long will it take him to pay the balance at $12 per month ?

25. A boy has 5% dozen eggs. How many will he have after
selling 30 eggs ?

414. 8late Problems.

1. A boy received 70 per cent in arithmetic, 80 in reading,
90 in spelling, 80 in penmanship. What is his average ?

2. A man paid $300 each for two horses, and $200 each for
three horses. How much did the five horses cost? What was
the average price ?

3. I bought 4 1b. 6 oz. meat at 16¢ per lb.,, 1 gal. 1 qt.
molasses at 24 £ per gal. . What was the total cost?
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4. If chestnuts are sold at 5 ¢ per qt., how much will be
received for 24 bushels?

5. If 28 tons of coal cost $115, how many tons can be bought
for $145?

6. How long will it take 1 man to do a certain piece of work,
if 26 men can do it in 74 days?

7. Six dozen collars cost $9.36. What is the price of one
collar?

8. A merchant had 936 yards of muslin. After selling §
of it, how many yards were left ?

9. A farmer sold 2 cows for $47 each, 8 for $ 36 each, and 7
for $29 each. How much did he receive for them all?

10. A grocer sold 86 pounds of sugar on Monday, 74 on
Tuesday, 82 on Wednesday, 69 on Thursday, 58 on Friday, and
a8 much on Saturday as on Monday and Wednesday together.
How many pounds did he sell during the week ?

11. 1,400 cabbage plants are to be planted in 40 rows. How
many plants will there be in each row ?

12. A train from New York to Philadelphia started with 265
passengers. 63 left the train at Newark, and 72 got on. 84 got
on at New Brunswick, and 79 got off. 107 got on at Trenton,
and 45 got off. How many were then on the train?

13. A man sold a house for $2,650. What did the house cost
him if he lost $350 on the sale?

14. By selling a horse for $175, I lost $35. How much
would I have gained or lost by selling the horse for $190?

18. George Washington was born in 1732 and died at the age
of 67. In what year did he die?

16. If a man saves $25 per month, how many years will it
take him to save enough to buy a lot for $600, and to build upon
it a house costing $1,800?
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17. A man and his son receive $108 for 24 days’ work. If
the son earns $14 per day, what does the father receive per day?

18. A shoedealer buys 20 dozen pairs of shoes at $1.75 per
pair. What is the amount of his bill ?

19. A farmer bought a horse for $150, a cow for # as much,
and a pig for 4 as much. What did he pay for the three ?

20. There were 48 boys present in a certain class on Monday,
52 on Tuesday, 45 on Wednesday, 47 on Thursday, 38 on Friday.
What was the average number present each day ?

21. A woman gives three $20 bills for two dresses, one cost-
ing $24, and the other $10 more. How much change does she
receive ?

22. What will be the cost of 4 loads of flour, 12 barrels to the
load, at $44 per barrel ?

23. Henry buys nine bats. He pays 25 cents for one, 15¢
each for two, and 5¢ each for three. If he pays a dollar for all,
how much apiece does he pay for the others?

24. A man buys a piano for $750, paying $525 cash.” How
long will it take to pay the balamce at $25 per month ?

25. A grocer has a box of eggs containing 30 dozen. How
many will he have after selling two dollars’ worth, at 80 eggs for
a dollar?

415, 8late Exercises.

Multiply :
1. 6,793 x 123 7. 1,375 656 13, 478 x 2,064
2. 5,627 x 135 8. 1286 x 749 14. 384 x 2,506
3. 3,798 x 234 9. 1,068 x 809 15. 269 X 38,506
4. 2,409 x 361 10. 1,054 x 908 16. 275 x 3,025
5. 1,789 x 450 11. 687 x 1,025 17. 177 x 4,708
6. 1,364 x 547 12. 572x 1,037  18. 126 x 4,009
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19. 143 x 1} 30. 192 x 4,063
20. 240 X 274 31. 198 x 5,009
21. 132X 3% 32. 158 x 5,970
22. 450 X 44 33. 164 x 6,002
23. 189 x 5% 34. 143 x 6,240
24. 168 x 63 35. 136 x 7,003
25. 217 X 7% 36. 127 x 7,350
26. 175 x 9% 37. 109 x 8,034
27. 262 x 10; 38. 119 x 8,006
28. 333 x 113 39. 107 x 9,067
29. 328 X 12} 40. 106 x 9,005
416. Divide:

52. 64,347+ 29  69. 42837+ 987
653. 30,670+ 39  70. 495,869~+1,907
54. 79,323+ 49  71. 459,754+1,971
55. 61,758+ 59  72. 819,676+ 2,908
56. 71,290+ 69  73. 702,160-+3,907
57. 66,471+ 79  74. 814,972+-4,906
58. 54,283+ 89  75. 301,458+-5,905
59. 21,341+ 99  76. 740,183+-6,904
60. 42,897+192  77. 161,142-+7,903
61. 76,462--293  78. 451,099+ 8,902
62. 35441+394  79. 897,432+9,901
63. 41,203+-495 80. 16,225+ 28
64. 24,120+596  81. 88,650+ 38
65. 54,414+-697 82. 36826+ 48
66. 64,671+798  83. 36,457+ 58
67. 28975+891  84. 95120+ 68
68. 99,685+999  85. 79,713+ T8

41. 136 x 25}
42. 192 x 18§
43. 140 X 434
44. 124 x 36
45. 156 x 61}
46. 198 X 54} -
47. 161 X 1094

'48. 189 X 208}

86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

100.

"101.

102.

49. 250 X 307y
50. 240 X 4067,
51. 330 X 2094

92,518+~ 88
95519+ 98
20,367+ 187
79,528+ 286
32,525+ 386
89,990+ 489
529,429+ 585
381,119~ 687
748,137+~ 786
252,720 - 885

142,705+ 988
800,025+ 974
170,460 +1,863
692,554 +2,864
919,155 +- 3,869
807,515+ 4,867
987,65+ 5,432
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417. Philadelphia Publio Schools. — Oral Work.

1. 154+10+9—-6+12= 3. (3 of 80) —25 =
2. 204+11-8—7— 9=  4.864+20— 7=
5. 9times 8= 9. How many 11's in 132?
6. 12 times 9= 10. In 98 are how many 12's?
7. 4times 15= 11. How many 8's are in 79?
8. 8x ?=96 12. (712+12)x15=
13. § of an hour =? minutes? 16. 64 pints = ? gallons?
14. 9 weeks =? days? 17. 60 inches = ? feet?

16. 2bushels and 1 peck =? quarts? 18. 48 ounces= ? pounds?

19. Show the pupils a box or a bucket and ask them to tell,
approximately, how many half-pecks of sand it can hold.

20. At 3 cents each, how many eggs cost as much as 6 pounds
of sugar at 8 cents a pound ?

418. Written Work.

1. Write in figures: four thousand six, ten thousand twenty-
five, six thousand forty, fifty thousand two hundred three.

2. Take $10.25 from $300.

8. Add 8,765; 708; 86; 76,458; 867; 56.
4. Multiply 867 by 97.

5. Divide 80,654 by 83.

6. A man earns five dollars a day, and he spends two dollars
a day. How much will he save this year of 866 days, countmg
out 52 Sundays and 5 holidays?
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7. If a vessel sails 8,125 miles in 65 days, in how many days
would it sail 25,000 miles, the distance around the world ?

8. How many feet of boards one foot wide are needed to make
a gate 6 feet high and 4 feet wide? At 6 cents a foot, what
would be the cost? Draw a diagram to explain your work.

THIRDS AND FIFTHS.

419. Oral Exercises.

When kalves and fifths are to be added or subtracted, they
must be changed to tentks. When we added or subtracted fourths
and fifths, we changed both to twentieths. To what must we change
thirds and fifths before we can find the sum of § and , or the dif-
ference between them? '

420. Bight Exercises.

\

1.} 2. 5} 3. 5} 4. 5} 5. %
k ki 1 —t —% tt
6. 2 7. % 8. 2% °. 3 10. 6§
1 —t —i i +1
w3 1204 1. 3 14 T} 1. 3
—t —lt +i *t -t
6. 99 17. 9%  18. 134  19.20  20. 16
8 -8 . —10% -8
21. 7} 22. 8 23. 6} 24. 5}  25. 64
T

26. 2} 27. 3% 28. 6} 29. 5% 30: 10
—2 +3% + 2% — 3% —8
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421. Slate Exercises.
1. 1} 2. 3}

Tt 1

6. 18} 7. 293

—5 — 18
422 Add:

1. 84 12, 11}
3% 9%
4

16. 6}  17. 25}
173 18
20 31%
3 A

21. 16} 22. 33
594 473
9% 123
3 ¥

26. 13  21. 144
2% 25¢
3 36

423, Subtract:

81. 90 32. 67

184 638

36. 59 37. 72}
16} 28}

ARITHMETIC.

3.

18,

18.

23.

28.

33.

38.

54
+%

. 373

— 6t

59}

84
59%

633
44}

103
+ 6}

643

— 56§

14,

19.

24.

29.

34.

39.

64}
20}
144

213

25%

+12%

10.

914

15.

20.

25.

30.

35.

40.

304
30}
30§

32

164
4

25%
35
15%

693
15¢

484
27

41§
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SIGHT DRILLS.

203

424, Give sums:
1304+ 80 360 + 200 131 4+ 62 3,000 + 6,000
20 + 290 200 + 790 245 + 30 5,000 + 4,000
380+ 170 150 + 600 372+ 28 2,000 + 7,000
50 4 490 400 + 540 4114 84 4,000 - 3,000
425, Give differences:
210—130 1,500 — 600 193 — 62 9,000 — 6,000
320— 90 1,100 — 700 193 — 131 8,000 — 3,000
450 —380 1,400 — 800 275 — 245 7,000 — 5,000
640— 60 1,700 —900 275 — 30 6,000 — 2,000
426. Give products :
31x8 200x8 61 x 6 84x§  121x4
21%9  300x7 84 x 2 39x§  224x2
42x4 400x86 91 x & 96 x3 321x8
78x8 500x5 TLx T 78x}  482x2
427. Give quotients:
248 +8 248431 4200700 4200+6 1882
189+9 168+21 4800+600 4800+8  279+3
1684  126-+42 2700+300 2700+9 2844
219+3 219+73 8600+-900 8600+4  155+5
428. Add:
1+13 1+% i+4 P+i+4 1+4%
i+% 1+1 +4 ++i+4 i+4
++1% +% +++ b+it+d 1+4
A+ b+ S S S S
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429. Oral Problems.

1. What two numbers are contained in 26 without a remain-
der?

A number that divides another exactly, is called a factor of it.
2. Find two factors of 34.
3. What part of an hour is 15 minutes?

4. When tea is 60 cents a pound, how much can be bought
for 30 cents?

5. Find two factors of 39.

6. If dress goods are worth 20 cents a yard, what part of &
yard can be bought for 15 cents?

7. 16 hours is what part of a day?

8. I have a gallon of milk. How many quarts and pmts
will I have after selling 2 quarts and 1 pint?

9. Find two factors of 93.

10. When cheese is 16 cents a pound, how many ounces can
be bought for 10 cents?

11. There are 60 seconds in a minute. How many seconds
in £ of a minute ?

12. When ribbon is 60 cents a yard, what part of a yard can
be bought for 40 cents?

13. A boy paid 15 cents for three-quarters of a pie. What
was the price of a whole pie?

14. Find two factors of 62.
15. 7 i_s one factor of 91. What is the other factor?
18. Three pecks is what part of a bushel ?

17. If T pay 9 cents for a pound and a half of sugar, what is
the price of a pound ?

18. Find two factors of 65.
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19. When coffee is 30 cents a pound, how much can be bought
for 75 cents?

20. A dozen bottles of ink are worth 60 cents. How many
bottles can I buy for 45 cents?

21. A dealer bought 177 bushels of grain and sold 156 bushels.
How many bushels had he left ?

22. I paid $6.30 for silk and 62 cents for lining. What was
the amount of my bill?

~ 23. Find the cost of 7 pounds of cheese at 21 cents a pound.

24. A flour merchant paid $484 for 121 barrels of flour.
‘What was the price of a barrel ?

25. How much must I pay for ¥ of a yard of silk at $1.60
per yard?

26. Mr. Smith was 50 years old in 1893. In what year was
he born ?

430. Massachusetts Civil Service, Inspector: Water Department.

1. Write in figures the following number: One hundred
eleven thousand three hundred six.
Write in words the number expressed by the following figures:
49,852.
2. Add the following column of figures:
27,896
85,427
12,397
75,556
29,872
12,387

3. An army of 10,000 men lost 4,809 men in battle; how
many men were left?

4. How much will 72 barrels of flour weigh, if each barrel
weighs 196 pounds?
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5. How many horses worth $125 z;,piece must be given for
2 farm worth $11,000°?

6. What will be the cost of 32 pounds of coffee, at 28% cents
a pound ?

431. Sub-Foreman of Laborers.

1. Write in figures the following number: One hundred
sixty-three dollars and twelve cents.

2. If you receive 23 loads of gravel one day, 34 loads the
next, and 17 loads the next, how many loads will you then have
in all?

3. If you have $45 and pay out $27 for rent and other ex-
perises, how much will you have left ?

4. If a cubic yard of stone costs 88 cents, how many yards
can be bought for $39.60?

5. What wages, at $1.75 per day, would be due a laborer
that had worked an entire week of six days, except one half day?

432. Police Force of Boston.

1. Write in figures the following number: One hundred five
thousand seven hundred three.
Write in words the number expressed by the following figures:
27,013,
2. Add the following column of figures:
24,387
19,986
12,241
72,978
23,300
19,781
3. An army of 14,225 men lost 1,987 men in battle; how
many men were left ?
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4. How much will 87 barrels of sugar weigh, if each barrel
weighs 235 pounds?

5. How many horses worth $185 apiece must be given for a
farm worth $14,060?

6. What will be the cost of 80 pounds of coffee at 28% cents
a pound ?

433. Foreman of Laborers,

1. Write in figures the following number: One thousand five
hundred sixty-three.

Write in words the number expressed by the followmg figures:
12,207.

2. Add the following column of figures:
1,743
876
1,427
3,764
998
2,507

3. Suppose you have under you 36 men at $1.75 per day; a
rain-storm prevents them from working the last half day. What
will be the amount of their pay for that day ?

4. If you have a pile of 10,000 bricks, and take away 7,550
of them, how many will be left ?

5. When stone is worth 88 cents a yard, how many yards
can be bought for $37.84?

434. Tire Department of Boston.

1. Write in figures the following number : Fifteen thousand
one hundred ten.

Write in words the number expressed by the following figures:
12,101
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2. Add the following column of figures:

18,465
32,101
25,976
14,385
25989
17,877

3. If a man should buy a lot of land for $21,987, and sell it
for $23,125, how much would he gain by the transaction?

4. If $4,130 be divided equally among 28 men, how r.uch
will each man receive ?

5. How much will 43 horses cost, if the price of each horse
18 $175.50?

6. What will 28 pounds of beef cost, at 183 cents a pound ?

435, Police of (Qities other than Boston.

1. Write in figures the following number: Thirty thousand
three hundred forty-six.

Write in words the number expressed by the following figures:
31,756.

2. Add the following column of figures:

14,328
3,709
14,257
18,601
2,782
11,907

3. If a railway train runs at the rate of 46 miles an hour,
how far will it run in 27 hours?

4. If a man buys a piece of land for $17,810, and sells it for
$16,987, how much does he lose by the transaction ?
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5. A man paid $4,025 for 23 horses; how many dollars did
he pay for each horse?

6. How much will 18 pounds of beef cost, at 18} cents a
pound?

436. Detective Force of District Police,

1. Write in figures the following number: Fifteen thousand
seven hundred one.

Write in-words the number expressed by the foliowing figures:
10,010.

2. Add the following column of figures:

26,954
17,683
10,857
18,642
25,395
32,693

3. If a man should buy a lot of land for $20,000 and sell it
for $18,775, how much would he lose by the transaction ?

4. If 35 hogs cost $394.45, what is the cost of each hog?

5. When eggs cost 85 cents a dozen, what is the cost of 648
eggs ?
6. What will 45 pounds of sugar cost, at 8} cents a pound ?

437. Blate Exerocises.

Multiply:
1. 9,304 x 28 7. 6,042 x 88
2. 2,898 x 38 8. 1,823 x 98
3. 8,063 x 48 - 9. 7,204 x 27
4. 4093x58 10. 4,785 x 87
5. 7,435 x 68 11. 7,003 x 47
6. 7,624 x 78 12. 9,438 x 57
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13. 7,508 x 67 32.
14. 4,605 x 77 33.
16. 4,001 x 87 34.
16. 8,057 x 97 35.
17. 8,924 x 8} 36.
18. 7,634 x 8} 37.
19. 7,837x T} 38.
20. 8,766 x 9} 39.
21. 4,259 x 18} 40.
22. 5,987 x 19} 41.
23. 7,698 x 28% 42.
24. 7,899 X 393 43.
25. 8,907 x 48% 44,
26. 7,482 X 59§ 45.
27. 7,098 x 68§ 46.
28. 6,905 X 79} 47.
29. 5407 x 89§ 48.
30. 8,908 X 98.% 49.
31. 792 x 128 " 50.

438. Divide:
51. 98,461 + 27 60.
52. 87,925+ 37 61.
53. 47,129 = 47 62.
54. 89,990 +— 57 63.
55. 21,882+ 67 64.
56. 54,754 7 65.
57. 81417 87 66.
58. 42,784 + 97 67.
59. 85743 +~ 26 6s.

686 x 237
417 x 348
285 x 457
149 x 568
893 x 647
247 x 786
918 x 879
865 x 965
706 x 987
749 x 123}
879 x 234}
872 x 345}
643 x 4564
654 x 607}
797 x 708}
468 x 8093
543 x 901}
809 x 706§
698 x 504}

85,186 <+ 36
99,828 + 46
17,441 — 56
76,370 - 66
81,552+ 76
90,139+ 86
30,190+ 96
17,363 + 273
64,071 = 372
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69.
70.
71.
72.
73.
4.
5.
76.
7.
78.
79.
80.
81.
82.
83.
84.

439.

I
II
III
IV ¢
v
VI
VII
VIII
IX (101
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85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
98.
98.
99.
100.

925182 + 4,756
669,100 — 5,747
368,325+ 6,774
529,492 < 17,765
958,865 < 8,792
748137+ 9,783
364,570+ 2,692
840,910+ 3,683
137,971 — 4,674
678457 + 5,665
317,857~ 6,656
745,000 + 17,647
439,955+ 8,638
607,050 = 9,629
197,952 - 27,387
200,000 - 87,298

ROMAN NOTATION.

28,181 + 475
10,469 —~ 574
55,230 — 677
96,117+~ 776
19,174 - 879
32,430 ~ 978
867,142+ 269
136,204 +— .368
191,602 =~ 467
514,270 =+ 566
618,642+ 665
352,170 + 764
360,126 — 863
253,415+ 962
699,512 =+ 2,738
736,012 -+ 3,729
10 X
20 XX
30 XXX
40 XL @0-10)
50 L
60 LX
70 LXX
80 LXXX

y 90 XC -1 900 CM o100 9,000

100 C 1,000 M
200 CC 2,000 MM
300 CCC 3,000 MMM
400 CDew-100) 4000 IV
500 D 5,000 Vv
600 DC 6,000 V1
700 DCC 7,000 VII
800 DCCC 8,000 VIII

440. Write in Roman numerals:

101
256

125 147 169
279 304 328

184
345

]

199 214 238
872 386 399
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441. Read:
XCIX CXXI CCIV CCXXIX
CCOIX LXXVIII CCCXLIX LXXXIV

CCCXXIX CCLXXII CCCLXXXV CCXCVIII

442. Write in Roman numerals:
459 563 674 708 891 999 1,001
1123 1,234 1,345 1,567 1,609 1,745 1,893

443. Read: .
CCLXXXIV MDCCXXV DCXLIII
MDCLXV CCCLXXXV DCCCXCVI
MDCCOXLVIII CDXCVI MDCCCLXXXIX

444. A dash above a letter or combination of letters in
Roman notation increases its value a thousand fold. IV =4,000,

X =10,000.

445. Nore.—Owing to its very limited application, time should not
be spent unnecessarily on Roman notation.

446. (Can you mention some uses? How is 4 expressed on the
face of & clock? In which other way than the one given can
9 be written with Roman numerals? 40? 90? 400°?



NUMBER.

Atwood’s Complete Graded Arithmetic. Present a carefully graded course in
arithmetic} to in with the fourth year and continue throu, lfh the eighth year. PartI.
200 pages. Cloth. 4octs. Part 1I. 382 pages. Half leather. 75 cts.

Walsh’s Mathematics for Common Schools. Special features of this work are

its division into half-yearly s d of the ar t by topics; the omission,
asfar as ible, of rules and ‘definitions ; the great number and variety of the problems;
the use of the equation in solution of anthmetlml bl ; and the i d of the

elements of algebra and geometry. THrER Book Series — Elementary, 218 pages.

cts. Intermediate, 252 pages. 4o cts. Higher, 387 pages. Half leather. 75 cts.
i 3 Boox Series — Primary, 198 pages, 35 cts. Grammar School, 433 pages. Half
eather. 75 cts.

Sutton and Kimbrough’s Pupils’ Series of Arithmetics.

PrimAry Look. Emb the four fund 1 operations in all their simple relations.
8o pages. Cloth. 25cts.

INTERMEDIATE Book. Embraces practical work through p and simple i
145 pages. Cloth, 3octs.

Lower Book. Primary and Intermediate Books bound her. Cloth. 45 cts.

Higuer Book. A compact volume for efficient work which makes clear ail necessary
theory. 275 pages. Half leather. 75 cts.

Safford’s Mathematlcal Teaching. Presents the best methods of teaching, from
primary arithmetic to the calcul Paper. 25 cts.

Badlam’s Aids t0 Number. For Teackers. First Sevies. Consists of 25 cards for
sight-work with objects from one to ten. 4o cts.

Badlam’s Aids to Number. Xor Pupis. First Series. Supplements the above
with material for slate work. Leatherette. 30 cts.

Badlam’s Aids to Number. For Teachers. Second Series. Teachers’ sightwork
with objects ubove ten. 4o cts.

Badlam’s Aids to Number. For Pupils. Second Series. Supplements above with
material for slate work from 10 to 20. Leatherette. 30 cts.

Badlam’s Number Chart. 1z x 14 inches. Designed to aid in teaching the four
fundamental rules in lowest primary grades. s cts. each; per hundred $4.00.

Sloane’s Practical Lessons in ll'_‘factxons. For elementary grades. Boards.

3octs. Set of six fraction cards for to cut. 12cts.

White’s Two Years with Numbers. Number Lessons for second and third yeas
pupils. 4octs,

White’s Junior Arithmetic. For fourth and fifth year pupils. Cloth. 5o cts.
White’s Senior Arithmetic. 7n gress.
For advanced work see our list of books in Mathematics,

D. C. HEATH & CO., PUBLISHERS,
BOSTON. NEW YORK. CHICAGO.
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Bowser’s Academic Algebra. A lete treatise through the ions, includ

P PIOS

ing Permutations, Combinations, and the Bi ial Th Half leath $r.25.

Bowser’s College Algebra. A complete treatise for colleges and scientific achools
Hal' leather. $1.65.

Bowser’s Plane and Solid Geometry. Combines the excellences of Euclid with
those of the best modern writers. Half leather. $1.35.

Bowser’s Plane Geometry. Half leather. 8s cts.

Bowser’s Elements of Plane and Spherical Trigonometry. A brief course
prepared especially for High Schools and Academi Half leath $1.00,

Bowser’s Treatise on Plane and Spherical Trigonometry. An advances
, werk which covers the entire coursein higher institutions. Half leather. $1.6s.

Hanus’s Geometry in the Grammar Schools. An essay,together with illustrative
class exercises and an outline of the work for the last three years of the grammar schook.
52 pages. 25 cts.

Hopkin’s Plane Geometry. On the heuristic plan, Half leather. 85 cts.

Hunt’s Concrete Geometry for Grammar Schools. The definitions and ele-
mentary concepts are to be taught concretely, by much measuring, by the making of
models and diagrams by the pupil, as suggested by the text or by his own invention.
100 pages. Boards, 30 cts.

Waldo’s Descriptive Geometry. A large number of problems systematically ar-
ranged and with suggestions. go cts.

The New Arithmetic. By jooteachers. Little theory and much practice. Also an
excellent review book. 230 pages. 75 cts.

For Arithmetics and other elementary work see our list of books in Number.

D. C. HEATH & CO., PUBLISHERS.
BOSTON. NEW YORK. CHICAGO.



JHE NATURAL SYSTEN OF

Vertical Writing

By A. F. NEWLANDS and R. K. ROW. Six 5.0ks. Per doz., 75 cts,

Some of the special merits of cur system arc: —

Practicability. It is the outgrowth of nearly five years’ experi-
ence in vertical writing v.ith thousands of pupils of all school ages.
The authors of other series have not had this experience.

Strength. The books are in marked contrast to most of the
systems recentiy published, which are efforts to adapt the sloping
hand to the upright position.

Harmony. This system has been carefully worked out with a
central idea as to form and movement.

Ease. Our round vertical script can be easily written. En-
gravers often produce graceful forms and combinations, but such as
one cannot reproduce easily with the pen. Every form and combina-
tion in our system has been thoroughly tested to avoid such difficulties.

Rapidity. Many of the letter-forms at first considered because
they were artistic and graceful, after having been put to the test were
discarded because they did not permit rapid execution.

Educative. The copies in the primary numbers are large and
are illustrated with tasty outline drawings, stimulating interest in the
writing and correlating reading, number, nature study, and spelling
with the special writing lesson. . So far as practicable the correlation
of studies has been carried throughout the series. The size of the
letter forms is gradually reduced in the first four numbers.

Economy. Such facilities have been secured for their manufac-
ture, that books of the very best quality will be furnished at the very

lowest prices.
Descriptive clrcular and le copics sent on req

— —

D. C. HEATH & CO., Publishers
BOSTON NEW YORK CHICAGO LONDON




ENGLISH LANGUAGE.

Hyvle’ammlnghsh Book 1. For the lower grades. Contai Joes fo
lener'nung,tmofpamofspwch,ﬂc. q0cCts.
Bytl’ammsml:ngmh Book IL Formmmrschook. Has enough techni-

nﬂﬁw in E:rghsthook II thh Supplement. Has, in addition to
e'b‘olu pages techni grammar. 7o cts.

35 cts.
Hyde’s Practical English Grammar. For ad dd in hools and
for high schools. 6o cts.
Hyde’s Lessons in English, Book IT with Practical Grammar. The Practical
Grammar and Book 11 together. 8o cts.

Hyde’s Derivation of Words. 1scts.

Penniman’s Common Words Difficult to Spell. Graded lists of common words
often misspelled. Boards. 2s cts.

Penniman’s Prose Dictation Exercises. Short extracts from the best authors.
Boards. 30 cts.

Spalding’s Problem of Elementary Composition. Suggestions for its solution.

45 cts.
Hathewa"s O_utlr.:_xe of l;:nghsh Gmmmar, with Selectlons for Practme
pr Lg
BuckMe’sanaryWordBook. Emb h dnusm--' Lati andunhe
primary difficulties of spelling and sound. 30 cts.
8ever’s Progressive Speller. For use in ad d primary, § diate, and gram.

mar grades. Gives spelling, pronunciation, definition, and use of words. 30 cts.
Badlam’s Suggestive Lessons in Language. Being Part I and Appendix of
Suggestive Lessons in Language and Reading. 5o cts.
Smith’s Studies in Nature, and Language Lessons. A combination of object
lessons with language work. socts. Part I bound “eparately, 25 cts.
llerkle)ohn’a English Language. Treats salient f witha °s skill and
the utmost clearness and sim . $1.30.
lterkle hn’s English Grammar. Also composition, versification, paraphrasing, etc.
igh schools and colleges. 9o cts.
lterkle ohn’s History of the English Language. 78pages. Part Il of Eng
nguage above, 35 cts.
erlnms’s Composltron and Rhetoric by Practice. For high school and ool

lege. t of theory with an abundance of practice. Revised
edmon. $1.00.
Strang’s Exercises in English. Examples in Syntax, Accidence, and Style for
criticism and correction. 50 cts.
Hulfcutt’s English in the Preparatory School. P: d d method:
hing English g positon in the dary schools. 25 cts.

Woodward’o Study of Enghsh. From primary school to college. 25 cts.
Genung’s Study of Rhetoric. Shows the most practical discipline. a5 cts.

See also our list of books for the study of English Literature,

D. C. HEATH & CO., PUBLISHERS,
BOSTON. MRW YORK. CHICAGO,



ELEMENTARY SCIENCE.

gailey’s Grammar School Physics. A series of inductive lessons in the sicments
of the science. Ilustrated. 6o cts.

Ballard’s The World of Matter. A guide to the study of caemistry and mineralogy;
adapted to the general reader, for use as a text-book or as a giflle to the teacher in giving
object-lessons. 264 pages. Iilustrated. $1.00.

Clark’s Practical Methods in Microscopy. Gives in detail descriptions of methods
that will Jead the careful worker to successful results. 233 pages. Illustrated. $1.60.

Clarke’s Astronomical Lantern. Intended to familiarize students with the constell
tions by comparing them with fac-similes on the lantern face. With seventeen slides,
giving twenty-two constellations. $4 30.

Clarke’s How to find the Stars. Accompanies the above and helps toan acquaintance
with the constellations. 47 pages. Paper. iscts.

Quides for Science Teaching. Teachers’ aidsin the instruction of Natural History
classes in the lower grades.
. L Hyait’s About Pebl'es. 26 . Paper. 1octs.
JI. Goodale’s A Few Common Plants. 61 paTes. Paper. 20cts.
III. Hyatt’s Commercial and other Sponges. I lusn—atetr.e 43 pages. Paper. 20 cts,
1V. Agassiz’s First Lessons in Natural History. lllnstntetrg 64 pages. Paper.

a5 cts.
V. Hyatt’s Corals and Echinoderms. Ilustrated. 32 pages. Paper. cts.
H;:u's Mollusca. Illustrated. €s pages. Papgr‘ 3octs. per ¥
VII. Hyatt’s Worms and Crustacea. Illustrated. 68 pages. Paper. 3octs
VIII. Hvatt's Insecta. lllustrated. 32‘{:&?. Cloth. $1.25.
XII. Crospy's ommon Minerals and Illustrated. 200 pages. Paper, 40
cts. Cloth, 6o cts.
XIII. Richard’s First Leseons in Minerals. so pages. Paper. 10 cta
X1V. Bowditch’s Physiology. 58 pages. Paper. 20 cts.
XV. Clapp's 36 Observation Leasons in Minerals. 80 pages. Paper. socts
XVI. Phenix’s Lessons in Chemistry. 20 cts.
Pugils’ Note-Book to accompany No. 1s. 10 cts.

Rice’'s Science Teaching in the School. With a course of instruction in sclence
for the lower grades. 46 pag. s. Paper. ascts.

Ricks’s Natural History Object Lessons. Supplies information on plants and
their products, on animals and their uses, and gives specimen lcssons. Fully illustrated.
332 pages. $r.50.

Ricks’s Object Lessons and How to Give them.

Volume I. Gives lessons for primary grades. 200 pages. cts,
Volume II. Givesl for gr and intermed. M‘P 213 pages. gocts.

Shaler’s First Book in Geology. Forhigh school, or highest class in grammar school
272 pages. Illustrated. $:.00.

Shaler’s Teacher’s Methods in Geology. An aid to the teacher of Geologg
74 pages. Paper. ags cts.

8mith’s Studies in Nature. A combination of 1 history 1 and languagy
work. 48 pages. Paper. iscts.

Sent by mail postpaid om veceiph of price.  See also our kst of books im Scienes

9. C. HEATH & CO., PUBLISHERS,
BUSTON. XEW YORE. CHICAGO.



READING.,

Badlam’s Suggestive Lessons in Language and Reading. A manual for pet
a&%ﬁms}’;ﬁn and practical; bcing a transcript of work lly done in the

Bailamkm::osv:epging-St::x;: to Reading.— A Primer. Supplements the 283-page

Badlam’s First Reader. New and valuable word-buildi foll
™ o ctn e ng exercises, designed to follow

Bass’s Nature Stories for Young Readers: Plant Life. Intended to supple-
ment the first and second reading-books. Boards. 30 cts.

Bass’s Nature Stories for Young Readers: Animal Life. lessons
animals and their habits. Tolollowlgoond reader. Boards. wd: Gives o

Firth’s Stories of Old Greece. Contains 17 Greek myths adapted for reading in
intermediate grades. Illustrated. Boards. 35 cts.

Fuller’s Illustrated Primer. P; the word-method in a vegy attractive form to
the youngest readers. Boards. 3o cts.
Hall’s How to Teach Reading. Treats the imp question: what children should

and should not read. Paper. g cts.

Miller’s My Saturday Bird Class. Designed for use as a supplementary reader in
lower gradesor asa text-book of elementary omithology. Boards. 30 cts.

Norton’s Heart of Oak Books. This seriesis of rial from the standard imagi
ative literature of the English hniz“ e. It draws freely upon the treasury of favorite
stories, poems, and songs with w| i:ﬁ every child should become familiar, and which
have done most to stimulate the fancy and "direct the sentiment of the best men and
women of the English-speaking race.” Book I, 100 pages, 25 cts.; Book II, 143 pages,
35 cts.; Book I1I, 265 pages, 45 cts.; Book 1V, 303 pages, s5cts.; Book V, 359 pages,
65 cts,; Book VI, 367 pages, 75 cts.

Penniman’s School Poetry Book. Gives 73 of the best short poems in the English
language. Boards. 35 cts.

Cmith’s Reading and Speaking. Familiar Talks to those who would speak well in
public. 8o cts.

Spear’s Leaves and Flowers, Desigued for supplementary reading in lower grades
or as a text-book of elementary botany. Boards. 3o cts.

Ventura’s Mantegazza’s Testa. A book to help boys d a complete self-devel
ment, $1.00.

Wrizht’s Nature Reader, No. I. Describes crabs, wasps, spiders, bees, and some

ety llusks. Boards. 3o cts.

Wright’s Nature Reader, No. II. Describes ants, files, earth-worms, beetles, bar-
naclesand star-fish. Boards. 4octs. .
Wright’s Nature Reader, No. III. Has lessons in plant-life, grasshoppers, butter

flies, and birds. Boards. 6o cts.
Wright’s Nature Reader, No. IV. Has lessons in geology, astronomy, world-life.
etc. Boards. jocts.

L

Fov advanced supplesmentary reading see ouy list of books in English Literature

D. C. HEATH & CO., PUBLISHERS,
BOSTOX NEW YORK, CHICAQGO,












